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Concept:International organisations
Sub-concept: IMF

Q1. “Gold Tranche” (Reserve Tranche) refers to

(a) aloan system of the World Bank

(b) one of the operations of a Central Bank

(c) acredit system granted by WTO to its members
(d) a credit system granted by IMF to its members

Answer: (d)

Option (d) is correct: Reserve Tranche is the component of a member country’s quota with
the International Monetary Fund (IMF), that is, in the form of gold or foreign currency. It is a
credit system granted by the IMF to its members.

For any member country, out of the total quota, 25% should be paid in the form of foreign
currency or gold. Hence, this is called a Reserve Tranche or Gold Tranche. The remaining 75%
can be paid in domestic currencies, and it is called Credit Tranche. This quota can be
accessed by a country without agreeing to IMF conditionalities.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Foreign Trade

Concept:Global Financial Crisis

Sub-concept: Short term foreign borrowing

Q2. If another global financial crisis happens in the near future, which of the following
actions/policies are most likely to give some immunity to India?

1. Not depending on the short-term foreign borrowings
2. Opening up to more foreign banks
3. Maintaining full capital account convertibility

Select the correct answer using the code given below:

(a) 1 only

(b) 1and 2 only
(c) 3 only

(d) 1,2and 3

Answer: (a)

Global financial crisis refers to extreme stress in global financial markets and banking
systems. A fast-changing global environment demands organizations to have both financial
stability and liquidity.

Statement 1 is correct: Financial crises can induce significant hardships on both
international creditors and the debtor nations, which are forced into default. Both economic
and political considerations leave it difficult to resist coming to the aid of a distressed nation
or region. So, not depending on short-term foreign borrowings will provide immunity to
India.

Statement 2 is not correct: At the time of the global financial crisis, there is a high risk of
banks becoming inefficient in NPA recovery and declaring themselves insolvent in the near
future. Hence, opening up to more foreign banks in India would be a huge risk.



Statement 3 is not correct: Capital account convertibility is a feature of a nation's financial
regime that centres on the ability to conduct transactions of local financial assets into
foreign financial assets freely or at market-determined exchange rates. With the global
financial crisis, this step will prove to be a huge failure.
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Concept:Indian Banking System
Sub-concept: Demand Deposit Account

Q3. If you withdraw Rs. 1,00,000 in cash from your Demand Deposit Account at your bank,
the immediate effect on aggregate money supply in the economy will be

(a) to reduce it by Rs. 1,00,000

(b) to increase it by Rs. 1,00,000

(c) toincrease it by more than Rs. 1,00,000
(d) to leave it unchanged

Answer: (d)

The aggregate money supply is the total stock of all types of money, such as currency and
demand deposits held with the public and banks. The stock of money kept with the
government and RBI, etc., is not considered in money supply as these are not in actual
circulation in the economy.

Option (d) is correct: The most common measure of liquidity to estimate aggregate money
supply includes currency and demand deposits both, hence changing the form of money
from demand deposit to currency will change the form, in which the money is held but not
the aggregate money supply and hence leave it unchanged.

Additional Information:
There are three main sources of money supply in the economy which are:

e The Reserve Bank of India: It has the sole authority to issue paper currency of all
denominations.
Commercial Banks: Commercial banks create credit as per the demand deposits.

e Government: It produces or mints coins of all denominations. However, these are
issued for circulation only through the Reserve Bank in terms of the RBI Act.
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Topic: Foreign Trade

Concept:Foreign Trade policy of India
Sub-concept: FDI

Q4. With reference to Foreign Direct Investment in India, which one of the following is
considered its major characteristic?

(a) Itis the investment through capital instruments essentially in a listed company.

(b) Itis largely non-debt creating capital flow.

(c) Itisthe investment which involves debt-servicing.

(d) Itis the instrument made by foreign institutional investors in the Government
securities.

Answer: (b)

Foreign Direct Investment (FDI) is a type of investment where an investor based in one
country invests in another country. Generally, FDI takes place when an investor establishes
foreign business operations or acquires foreign business assets, including establishing
ownership or controlling interest in a foreign company.

Option (b) is correct: The Foreign Direct Investment (FDI) is a critical driver of economic
growth and is often favoured over other means of external finance because FDI equity
inflows do not create any debt and are non-volatile. Hence, these are largely non-debt



creating capital flow and their returns depend on the performance of the projects financed
by the foreign investors.

Additional Information:
Routes through which India gets FDI:

e Automatic route: The non-resident or Indian company does not require prior nod of
the RBI or government of India for FDI.

e Government route or Approval route: In this route, government's approval is
mandatory. The company will have to file an application through Foreign Investment
Facilitation Portal, which facilitates single-window clearance. The application is then
forwarded to the respective ministry, which will approve/reject the application in
consultation with the Department for Promotion of Industry and Internal Trade
(DPIT), Ministry of Commerce.
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Question Type: Conceptual
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Expected Time: 50-55 Sec
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Topic: Foreign Trade

Concept:Foreign Trade Policy

Sub-concept: merchandise trade deficit

Q5. With reference to the international trade of India at present, which of the following
statements is/are correct?

India’s merchandise exports are less than its merchandise imports.
India’s imports of iron and steel, chemicals, fertilizers and machinery have decreased
in recent years.

3. India’s exports of services are more than its imports of services.

4, India suffers from an overall trade/current account deficit.

Select the correct answer using the code given below:

(a) 1and 2 only
(b) 2 and 4 only
(c) 3only

(d) 1,3 and 4 only

Answer: (d)

International trade (foreign trade) is the exchange of capital, goods, and services across
international borders or territories. In most countries, it represents a significant share of
gross domestic product (GDP).

Statement 1 is correct: The merchandise trade deficit of India stood at $161 billion in
2019-20 as merchandise exports are less than merchandise imports.

Statement 2 is not correct: India’s imports of iron and steel, chemicals, fertilizers, and
machinery have increased in recent years.

Statement 3 is correct: India’s exports of services are more than the imports. This surplus in
the trade of invisibles (services) has helped India ease its overall Current Account Deficit.

Statement 4 is correct: Although India is running a surplus in case of trade of invisibles,
however, this surplus is less in quantum to that of the deficit in trade of goods resulting in
an overall current account deficit.
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Concept:West Texas Intermediate

Sub-concept: Crude oil trade

Q6. The term ‘West Texas Intermediate’, sometimes found in news, refers to a grade of

(a) Crude oil



(b) Bullion
(c) Rare earth elements
(d) Uranium

Answer: (a)

Option (a) is correct: West Texas Intermediate is a particular grade of crude oil. This oil is
primarily sourced from Texas and serves as a global benchmark for setting global oil prices.

Crude oil mainly comes under two different grades or benchmarks (reference price for
buyers and sellers), namely, Brent Crude and West Texas Intermediate (WTI).

Brent Crude: It is the most popular traded grade, produced in the Brent oil fields and other
sites in the North Sea. It is the benchmark for African, European and Middle Eastern crude
oils. This grade dictates nearly two-thirds of the world’s crude oil production.

WTI: It is the benchmark for crude oil for the United States. It, however, continues to be the
main benchmark oil consumed in the United States.
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Concept:Money Market
Sub-concept: Non-Financial debt

Q7. In the context of the Indian economy, non-financial debt includes which of the
following?

1. Housing loans owned by household
2. Amounts outstanding on credit cards
3. Treasury Bills

Select the correct answer using the code given below:

(a) 1 only

(b) 1and 2 only
(c) 3only

(d) 1,2and 3

Answer: (d)

Debts are contractual obligations to repay monetary loans, often with related interest
expenses.

Option (d) is correct: Non-financial debt is the debt held by the households, governments,
and firms, not in the financial sector. It includes housing loans owned by households,
amounts outstanding on credit cards, treasury bills.

Additional Information:

Treasury bills: It is a short-term money market instrument, issued by the RBI on behalf of
the government to curb temporary liquidity shortfalls.
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Topic:Foreign Trade

Concept:International Initiatives

Sub-concept: TRIMS

Q8. With reference to Trade-Related Investment Measures (TRIMS), which of the following
statements is/are correct?

1. Quantitative restrictions on imports by foreign investors are prohibited.
2. They apply to investment measures related to trade in both goods and services.
3. They are not concerned with the regulation of foreign investment.

Select the correct answer using the code given below:

(a) 1and 2 only
(b) 2 only

(c) 1and 3 only
(d) 1,2and 3

Answer: (c)

Under the Agreement on Trade-Related Investment Measures of the World Trade
Organization (WTO), commonly known as the TRIMS Agreement, WTO members have
agreed not to apply certain investment measures related to trade in goods that restrict or
distort trade. The TRIMS Agreement prohibits certain measures that violate the national
treatment and quantitative restrictions requirements of the General Agreement on Tariffs
and Trade (GATT).

e It prohibits the imposition of Quantitative restrictions on imports by foreign
investors. (Statement 1 is correct)



e TRIMS is concerned with trade in goods. It does not apply to trade in services.
(Statement 2 is not correct)

e TRIMS is largely concerned with the treatment aspect of foreign entities in a
domestic territory. It does not concern the regulation of foreign investment.
(Statement 3 is correct)
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Concept:monetary policy

Sub-concept: Expansionist monetary policy




Q9. If the RBI decides to adopt an expansionist monetary policy, which of the following it
would not do?

1. Cut and optimize the Statutory Liquidity Ratio
2. Increase the Marginal Standing Facility Rate
3. Cut the Bank Rate and Repo Rate

Select the correct answer using the code given below:

(a) 1and 2 only
(b) 2 only

(c) 1and 3 only
(d) 1,2and 3

Answer: (b)

Under an expansionary monetary policy, the RBI seeks to increase the money supply in the
economy.

Statement 1 and statement 3 are not correct: Cutting and optimizing the Statutory Liquidity
Ratio will enable more lendable funds in the hands of banks, and thus, increase the lending
and the money supply. Similarly, cutting the Bank Rate and Repo Rate will make borrowing
by the banks cheaper, the benefit of which would then be passed on to the borrowers
taking loans from banks thus providing cheaper credit which will result in more borrowing
and thus increased money supply.

Statement 2 is correct: Increasing the Marginal Standing Facility Rate will make borrowings
by the banks more expensive and thus, the higher interest rates would be passed on to the
borrowers of the banks making credit more expensive in the economy and discouraging loan
activities and reducing the money supply. Hence, the RBI will not take this step under an
expansionist monetary policy.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec
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Topic:Indian Economy

Concept:Economic Growth

Sub-concept: Liberalization

Q10. With reference to the Indian Economy after the 1991 economic liberalization,
consider the following statements:

1. Worker productivity (rupees per worker at 2004-05 prices) increased in urban areas
while it decreased in rural areas.

2. The percentage share of rural areas in the workforce steadily increased.

3. Inrural areas, the growth in the non-farm economy increased.

4. The growth rate in rural employment decreased.

Which of the statements given above is/are correct?

(a) 1and 2 only
(b) 3 and 4 only
(c) 3 only
(d)1,2and 4

Answer: (b)



Rules and laws which were aimed at regulating economic activities became major
hindrances in growth and development, hence, liberalization was introduced to put an end
to these restrictions and open various sectors of the economy for its revival in 1991. Post
liberalization there have been many impacts on the Indian economy.

e Worker productivity has comparatively increased both in the urban as well as the
rural areas. As per the 2017 report of NITI Aayog, in rural areas worker productivity
was Rs. 37,273 per worker in 2004-05 and it increased to Rs. 1,01,755 per worker in
2011-12. While, in urban areas it increased from Rs. 1,20,419 per worker in 2004-05
to Rs. 2,82,515 per worker in 2011-12. (Statement 1 is not correct)

e The rural share in the total workforce declined steadily from 76.1 per cent in
1999-00 to 70.9 per cent in 2011-12. Due to a faster reduction in the rural share in
total employment than in national NDP (Net Domestic Product), the difference
between the rural share in output and employment narrowed down to 24 per cent
by the year 2011-12. (Statement 2 is not correct)

e The share of the manufacturing and service sector has increased in the Rural NDP,
taking the place of the decline in the share of contribution of the agricultural sector
in the Rural NDP. (Statement 3 is correct)

e The growth rate in rural employment has decreased, even going negative in the
2005-12 time period. (Statement 4 is correct)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Economy

Concept:Financial Inclusion

Sub-concept: DCCBs

Q11. Consider the following statements:

1. In terms of short-term credit delivery to the agriculture sector, District Central
Cooperative Banks (DCCBs) deliver more credit in comparison to Scheduled
Commercial Banks and Regional Rural Banks.

2. One of the most important functions of DCCBs is to provide funds to the Primary
Agricultural Credit Societies.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2

Answer: (b)

District Central Cooperative Banks are cooperative banks operating at the district level,
generally in the rural areas of India. Scheduled Commercial Banks (SCBs) alone account for
over 79% of institutional credit being provided to the agricultural sector. Regional Rural



Banks (RRBs) account for another 5%, making a total of 84% of agricultural institutional
credit from these two agencies.

Statement 1 is not correct: Also, in short term credit delivery to the agriculture sector, the
contribution is around 60% for SCBs alone and 30% for the Cooperative Banks. Hence,
DCCBs do not deliver more short-term credit to the agricultural sector in comparison to
SCBs and RRBs.

Statement 2 is correct: The role of the DCCBs is to give financial assistance to the primary
co-operative societies affiliated to it in the district. One of these societies is Primary
Agricultural Credit Societies. Hence, one of the most important functions of DCCBs is to
provide funds to the Primary Agricultural Credit Societies.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Indian Economy




Concept:Security Issues
Sub-concept: Cyber Security

Q12. In India, under cyber insurances for individuals, which of the following benefits are
generally covered, in addition to payment for the loss of funds and other benefits?

1. Cost of restoration of the computer system in case of malware disrupting access to
one’s computer.
Cost of a new computer if some miscreant wilfully damages it, if proved so.

3. Cost of hiring a specialized consultant to minimize the loss in case of cyber extortion.
Cost of defence in the court of law if any third-party files a suit.

Select the correct answer using the code given below:

(@) 1,2 and 4 only
(b) 1,3 and 4 only
(c) 2and 3 only
(d) 1,2,3and 4

Answer: (b)

Cybercrimes are rapidly increasing. Data/security breaches continue to affect millions and
the reports of breaches are also dramatically rising. Unauthorised access is a common
example of a security breach. This is where the role of cybercrime insurance comes into play.

Option (b) is correct: The cyber insurance offers compensation of expenses, fees and legal
costs arising due to cyber breaches. It also includes the loss or theft of the client/employee
information due to the hacking of the organization’s data. It broadly covers, cost of
restoration of the computer system in case of malware disrupting access to one’s
computer, cost of hiring a specialized consultant to minimize the loss in case of cyber
extortion and cost of defence in the court of law if any third-party files a suit.

For availing the benefit of cost of new computer under wilful damage by some miscreant a
hardware specific insurance would be required. This benefit is not covered under cyber
insurances for individuals.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Indian Economy

Concept:Agriculture

Sub-concept:public investment in agriculture

Q13. In India, which of the following can be considered as public investment in
agriculture?

Fixing Minimum Support Price for agricultural produce of all crops.
Computerization of Primary Agricultural Credit Societies.
Social Capital development.

P w NP

Free Electricity supply to farmers.



5. Waiver of agricultural loans by the banking system.
6. Setting up of cold storage facilities by the government.

Select the correct answer using the code given below:

(a) 1,2 and 5 only
(b) 1,3,4 and 5 only
(c) 2,3 and 6 only
(d)1,2,3,4,5and6

Answer: (c)

Public investment is the investment made by the government in sectors and assets that are
expected to provide facilities to the general public.

Option (c) is correct: Public investment in agriculture includes Computerization of Primary
Agricultural Credit Societies, Social Capital Development and Setting up of cold storage
facilities by the government. They are considered as public investment in the agricultural
sector as they provide an overall benefit of development to the agriculture sector.

However, Fixing Minimum Support Price for agricultural produce of all crops, Free Electricity
supply to farmers and Waiver of agricultural loans by the banking system will not be
considered as public investment, as they will only benefit certain sections of farmers and
that too only in the short term. They may prove to be detrimental to public interest in the
long run.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Economy

Concept:Indian Banking System

Sub-concept: Interest Coverage Ratio

Q14. What is the importance of the term “Interest Coverage Ratio” of a firm in India?

1. It helps in understanding the present risk of a firm that a bank is going to give loan
to.
It helps in evaluating the emerging risk of a firm that a bank is going to give loan to.
3. The higher a borrowing firm’s level of Interest Coverage Ratio, the worse is its ability
to service its debt.

Select the correct answer using the code given below:

(a) 1and 2 only
(b) 2 only

(c) 1and 3 only
(d) 1,2and 3

Answer: (a)

Interest Coverage Ratio is an indicator of a company’s ability to pay interest out of its
current earnings. It is expressed as the number of times that the interest can be covered
from its current earnings.

Importance of the term Interest Coverage Ratio:

e It can help in understanding the present risk, as a firm with a low-interest coverage
ratio just may not have enough earnings in order to meet the annual interest
obligations. (Statement 1 is correct)



e Emerging risk can also be assessed by taking a holistic look at the ratio for several
years to predict trends in the movement of earnings vis a vis the interest obligations
in the future. (Statement 2 is correct)

e A higher Interest Coverage Ratio reflects the higher potential of the company’s
earnings to service its outstanding debt and interest. (Statement 3 is not correct)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Economy

Concept:Agriculture

Sub-concept: pricing of agricultural products



Q15. Which of the following factors/policies were affecting the price of rice in India in the
recent past?

Minimum Support Price
Government’s trading
Government’s stockpiling

P w N

Consumer subsidies
Select the correct answer using the code given below:

(a) 1, 2and 4 only
(b) 1,3 and 4 only
(c) 2and 3 only
(d) 1,2,3and 4

Answer: (d)

Several factors impact the demand and supply of rice in the market and thus have a
direct/indirect impact on the prices of rice. Some of them are:

® Minimum Support Price (MSP) is the price at which the government purchases crops
from the farmers. MSP increases the overall price of rice in the market as the
traders have to buy near MSP value otherwise farmers have the option to sell to
government appointed agencies at MSP. MSP helps to incentivize the farmers and
thus ensures adequate food grains production in the country. (Statement 1 is
correct)

e Government’s trading also affects the price of rice as the government carries out an
auction of the excess stockpile or intervenes when market prices soar to stabilize
them. (Statement 2 is correct)

® Government’s stockpiling is done to offload the stock when market prices soar,
providing cheap rice to consumers and stocking when prices fall ensuring
remunerative prices to farmers. (Statement 3 is correct)

e Government also gives subsidised food to poor consumers at Fair price Shops, which
reduces the overall demand in the open market and prices fluctuate. Statement 4 is
correct)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Foreign Trade

Concept:Trade with neighbouring country
Sub-concept: India bangladesh trade

Q16. Consider the following statements:

1. The value of Indo-Sri Lanka trade has consistently increased in the last decade.



2. “Textile and Textile articles” constitute an important item of trade between India and
Bangladesh.

3. Inthe last five years, Nepal has been the largest trading partner of India in South
Asia.

Which of the statements given above is/are correct?

(@) 1and 2 only
(b) 2 only

(c) 3 only

(d) 1,2and 3

Answer: (b)

Statement 1 is not correct: The value of Indo-Sri Lanka trade has not consistently increased
in the last decade. It registered a downfall post 2014-15. While the import value almost
remains stagnant or at a very slow growth rate, the sharp decline in exports value has
brought down the total value of the trade in the past decade.

Statement 2 is correct: “Textile and Textile articles” such as, import of readymade garments
from Bangladesh and export of fabric from India constitute an important link item in
Indo-Bangladesh trade.

Statement 3 is not correct: Bangladesh has been India’s largest trading partner in South Asia
followed by Nepal in the last five years.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: indian economy

Concept:Rural banking

Sub-concept: KCC

Q17. Under the Kisan Credit Card Scheme, short-term credit support is given to farmers for
which of the following purposes?

Working capital for maintenance of farm assets

Purchase of combine harvesters, tractors and mini trucks
Consumption requirements of farm households
Post-harvest expenses

ik

Construction of family house and setting up of village cold storage facility
Select the correct answer using the code given below:

(a) 1,2and 5 only
(b) 1,3 and 4 only
(c) 2,3,4and5only
(d) 1,2,3and 4

Answer: (b)

The Kisan Credit Card scheme is a Government of India scheme which provides farmers with
timely access to credit. The scheme was launched with the aim of providing short-term
formal credit to farmers and was created by NABARD (National Bank for Agriculture and
Rural Development).

The KCC scheme was introduced to ensure that the credit requirements for farmers in the
agriculture, fisheries and animal husbandry sector were being met.

The aim of Kisan Credit card:

e Working capital for maintenance of farm assets, activities allied to agriculture, like
dairy animals, inland fishery and also working capital required for floriculture,
horticulture, etc. (Statement 1 is correct)

e Consumption requirements of farmer households. (Statement 3 is correct)



To meet the short-term credit requirements for cultivation of crops.
Post-harvest expenses. (Statement 4 is correct)
Produce Marketing loan.

Investment credit requirement for agriculture and allied activities like pump sets,
sprayers, dairy animals, floriculture, horticulture, etc.

e Short term credit requirements of rearing of animals, birds, fish, shrimp, other
aquatic organisms, capture of fish.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Economy

Concept:monetary policy

Sub-concept: Inflation

Q18. Consider the following statements:

1. The weightage of food in Consumer Price Index (CPI) is higher than that in Wholesale
Price Index (WPI).
The WPI does not capture changes in the prices of services, which CPI does.

3. Reserve Bank of India has now adopted WPI as its key measure of inflation and to
decide on changing the key policy rates.

Which of the statements given above is/are correct?

(a) 1and 2 only
(b) 2 only

(c) 3only

(d) 1,2and 3

Answer: (a)

Consumer Price Index (CPI) is a measure of change in the retail prices of goods and services
consumed by a defined population group in a given area. This index is an important
economic indicator and is widely considered as a barometer of inflation, a tool for
monitoring price stability and as a deflator in national accounts.

Wholesale Price Index (WPI) represents the price of goods at a wholesale stage i.e., goods
that are sold in bulk and traded between organizations instead of consumers. The index
basket of the WPI covers commodities falling under the three major groups, namely Primary
Articles, Fuel and Power and Manufactured products.

Statement 1 is correct: The weightage of food in Consumer Price Index (CPI) is nearly 50%
which is more than in Wholesale Price Index (WPI).

Statement 2 is correct: CPI captures the changes in price levels of both goods and services
however WPI only captures changes in goods and not in services.



Statement 3 is not correct: The RBI seeks to control inflation at the consumer level and
hence, takes CPI for making changes in key policy rates.

218, AT @d U« ) faar Hifaw:

1. TTeg TE3T T SYHNFAT Hod FAFIH' (CPI) H R (weightage) 3oTsh ‘Uleh Hod
i (WPl)vfr%U?rtfﬂﬂﬁrma:%l

2. WP, QaT3it & Hod! H glet aTel GRacTaAT & o761 Tehsdll, ST foh CPI T & |

3. AR Rad o F 319 AEERITA & HET AT 3 TUT JH7@ e a3i & frefiwor 3k
qﬁa‘ci?r%?rwmafrmﬁmﬁl

U YA H F HlA-H1/A TENB/6?
(a) Shdel 130X 2

(b) hdel 2

(c) haeT 3

(d) 1,233

37X (a)

SUHIFAT Hod Fehieh (CPI), Teh (A TREd &7 7, Teh TR STTHEAT HHg GanrT 3ser
$r = maﬁqmsﬁsﬂwﬁaﬁﬁﬁrmaﬁmﬁqﬁaéﬁwwm%‘lwww
WWW%%Wmﬂmﬁﬁ%W%mﬁmm%
m@wﬁﬁmﬁ&ﬁvwwsﬂimmﬁwm@%ﬁaﬁ$wﬁ
AT ST &

ek Hed Heh (WPI) ek TAT T AT T HIAd &1 FfdfATed HIdr &, el Gt St
Ak F ST SATAT & 3R TSTPT FRITR SYMFAT3N F T HaTSaAT & o AT SATAT B |
WPI & S SThe H ciieT THE THg! o 3cTaTel 31TeT aTell a1 T Miael fhar s g,
37T ST fRe T, 77 3R oTelr 3% e 3eure)

YT 1 HET &2 STHTFT Hed Fehieh (CPI) 7 TICH T HRTeh oII7aT 50% ¢ Sl Uleh Hed
HAehieh (WPI) & 318 & |

=T 2 HET &: CPI, TEIIT 3N Q13T el oh Hed TR A GRacTeT &l el 8, §leliieh WP
mawaﬂﬁqﬁaé?ra#aw% Qa3 yRade 78|

YT 3 TG TE1 o2 RBI SYNFAT T T HERI ot Tz et sdem =g & 3i safarg,
mﬁﬁmaﬁﬁw%ﬁvcmaﬁﬂ%}l

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Economy

Concept:Money Market

Sub-concept: Money Market Instrument




Q19. With reference to the Indian Economy, consider the following statements:

1. ‘Commercial Paper’ is a short term unsecured promissory note.

2. ‘Certificate of Deposit’ is a long-term instrument issued by the Reserve Bank of India
to a corporation.

3. ‘Call Money’ is a short-term finance used for interbank transactions.
‘Zero-Coupon Bonds’ are the interest-bearing short-term bonds issued by the
Scheduled Commercial Banks to corporations.

Which of the statements given above is/are correct?

(a) 1and 2 only
(b) 4 only

(c) 1and 3 only
(d) 2,3 and 4 only

Answer: (c)

Statement 1 is correct: Commercial papers are debt instruments issued by corporations to
generally meet their short-term obligations. They are also unsecured, that is they are not
backed or secured by a particular asset.

Statement 2 is not correct: Certificate of Deposits are fixed income financial instruments
generally issued by commercial banks to individuals/ other lenders.

Statement 3 is correct: Call Money is a short-term debt generally used by banks to lend and
borrow within themselves generally to meet short term obligations or shortfalls in reserve
requirements mandated by law.

Statement 4 is not correct: Zero-Coupon Bond (Also known as Pure Discount Bond or
Accrual Bond) refers to those bonds which are issued at a discount to its par value and
makes no periodic interest payment (non-interest bearing), unlike a normal
coupon-bearing bond. Zero Coupon Bonds are not interest bearing instead they are issued
at deep discounts and redeemable at par on a future date.
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Polity and Governance

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Policy

Concept:Indian Constitution

Sub-concept: Preamble

Q1. The Preamble to the Constitution of India is

(a) a part of the Constitution but has no legal effect

(b) not a part of the Constitution and has no legal effect either

(c) a part of the Constitution and has the same legal effect as any other part

(d) a part of the Constitution but has no legal effect independently of other parts



Answer: (d)

Option (d) is correct: The Constitution of India begins with a Preamble. The Preamble
contains the ideals, objectives, and basic principles of the Constitution. Preamble is a part of
Indian Constitution, and it certainly does not have a legal effect independently since it
cannot be enforced in a court of law. It acts as an aid during the interpretation of other
Articles when the language is found ambiguous. Therefore, it begets some kind of legal
effect when read along with the Constitution, not independent from it.

In the Berubari Union case 1960, the Supreme Court held that, “Preamble is not a part of
the Constitution”. Later, in the Kesavananda Bharati Vs. State of Kerala 1973 case, the
Supreme Court ruled that “Preamble is a part of the Constitution and can be amended” as
any other provisions of the Constitution, provided the basic structure of the Constitution is
not destroyed.

In the Union Government Vs. LIC of India case 1995, the Supreme Court has once again held
that Preamble is an integral part of the Constitution but is not directly enforceable in a court
of justice in India.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Parliament

Sub-concept: Parliamentary system

Q2. A Parliamentary System of Government is one in which

(a) all political parties in the Parliament are represented in the Government

(b) the Government is responsible to the Parliament and can be removed by it

(c) the Government is elected by the people and can be removed by them.

(d) the Government is chosen by the Parliament but cannot be removed by it before
completion of a fixed term

Answer: (b)

Option (b) is correct: In a Parliamentary System of Government, the Government is
responsible to the Parliament and can be removed by it. The Government is responsible
collectively to the Lok Sabha and it stays in power as long as it enjoys the confidence of the
House. The Government can be removed by the House if a No-Confidence Motion is
passed.

There are two forms of Government, Parliamentary and Presidential. In the Parliamentary
System, the political party winning the majority seats in the Parliament makes the
Government and elects a person from among themselves as the Prime Minister who is the
Head of the Government. In this system, the legislative and executive body of Government
are closely related, while the judiciary is independent of the other two bodies of
Government. The executive is accountable to the legislature.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: polity

Concept:indian constitution

Sub-concept: DPSP

Q3. Which part of the Constitution of India declares the ideal of a Welfare State?

(a) Directive Principles of State Policy
(b) Fundamental Rights

(c) Preamble

(d) Seventh Schedule

Answer: (a)

Option (a) is correct: Part IV (Article 36-51) of the Constitution of India, deals with the
Directive Principles of State Policy (DPSP) which declares the ideal of a Welfare State. DPSP
aims to create a socio-economic condition where the citizens of the State can lead a good
life and establish socio-economic democracy through a welfare state. Article 38 of the
Constitution of India mentions that:

e The State shall strive to promote the welfare of the people by securing and
protecting as effectively as it may a social order in which justice, social, economic,
and political, shall inform all the institutions of the national life.

e The State shall, in particular, strive to minimise the inequalities in income, and
endeavour to eliminate inequalities in status, facilities and opportunities, not only



amongst individuals but also amongst groups of people residing in different areas or
engaged in different vocations.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Governance

Concept:bureaucracy

Sub-concept: characteristics

Q4. In the context of India, which one of the following is the characteristic appropriate for
bureaucracy?

(a) An agency for widening the scope of parliamentary democracy
(b) An agency for strengthening the structure of federalism

(c) Political An agency for facilitating stability and economic growth
(d) An agency for the implementation of public policy



Answer: (d)

Option (d) is correct: Bureaucracy refers to a permanent executive body of non-elected
government officials and an administrative policy-making group. The public administration in
many countries is an example of a bureaucracy. Providing policy inputs to the Government
and to implement the policies once they become law or directives are the two basic
functions of Bureaucracy. So, bureaucracy can be considered as an agency for the
implementation of public policy.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 40-45 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: polity

Concept:parliament

Sub-concept: rajya sabha

Q5. Rajya Sabha has equal powers with Lok Sabha in

(a) the matter of creating new All India Services
(b) amending the Constitution

(c) the removal of the government

(d) making cut motions



Answer: (b)

Option (b) is correct: Both Rajya Sabha and Lok Sabha have the powers to amend the
Constitution. To amend the Constitution a bill may originate either in the Rajya Sabha or in
the Lok Sabha. The amendment cannot be effective unless it is passed by both the Houses
with the required majority. The procedure of amendment in the Constitution is laid down in
Part XX (Article 368) of the Constitution of India.

Additional Information:

e With regards to the creation of All India Services, Rajya Sabha has special powers
(Article 312) such that if Rajya Sabha is passing a resolution by a majority of 2/3rd of
the members present and voting, Parliament may, by law, create one or more All
India Services in national interest.

® As per Article 75, the Government (Council of Ministers) is collectively responsible
to the Lok Sabha. Therefore, Lok Sabha has greater power as compared to Rajya
Sabha.

e Cut Motions, which are meant to reduce the amount allocated to the ministries in
the demand for grants, can be made only in Lok Sabha. Rajya Sabha can only make
recommendations in this regard.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Indian Constitution

Sub-concept: Fundamental Rights

Q6. Which one of the following categories of Fundamental Rights incorporates protection
against untouchability as a form of discrimination?

(a) Right against Exploitation

(b) Right to Freedom

(c) Right to Constitutional Remedies
(d) Right to Equality

Answer: (d)

Option (d) is correct: Article 17 of the Constitution of India abolishes the age-old practice of
Untouchability and forbids its practice in any form. Untouchability refers to a social practice
that looks down upon certain oppressed classes solely on account of their birth and makes
any discrimination against them on this ground. This comes under the Right to Equality
(Article 14- 18).

The Parliament of India passed the Untouchability (offences) Act in 1955 which came into
force 1* June 1955 to make untouchability law further strong. In 1976, this Act was further
amended and renamed as Protection of Civil Rights Act, 1955.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Indian Constitution

Sub-concept: DPSP

Q7. In India, separation of judiciary from the executive is enjoined by

(a) the Preamble of the Constitution
(b) a Directive Principle of State Policy
(c) the Seventh Schedule

(d) the conventional practice

Answer: (b)

Option (b) is correct: Article 50 of the Indian Constitution, as enshrined in form of Directly
Principles of State Policy in Part IV, provides that "the State shall take steps to separate the
Judiciary from the Executive in the public services of the State”.

The Criminal Procedure Code 1973 also mandates the separation of judiciary from the
executive, which enables the state to work independently and impartially without the
interference of any other organs of the State.

The Directive Principles of State Policies (Article 36 - 51) act as a guideline for the state and
are needed to be taken into consideration while coming up with any new law but a citizen
cannot compel the state to follow DPSPs as they are non-justiciable. DPSPs are positive
obligations on the state.



DPSPs were not made justiciable because at the time of the drafting of the Constitution,
India was a newly born independent state and was lacking in financial resources and also
struggling with various issues and making DPSPs justiciable would have put India in great
difficulty.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30

Topic: Governance

Concept:Important Aspects

Sub-concept: Fiscal Responsibility and Budget Management Act, 2003

Q8. Along with the Budget, the Finance Minister also places other documents before the
Parliament which include ‘The Macro Economic Framework Statement’. The aforesaid
document is presented because this is mandated by



(a) Long standing parliamentary convention

(b) Article 112 and Article 110 (1) of the Constitution of India

(c) Article 113 of the Constitution of India

(d) Provisions of the Fiscal Responsibility and Budget Management Act, 2003

Answer: (d)

Option (d) is correct: The Macro Economic Framework Statement is presented to the
Parliament as mandated by the Fiscal Responsibility and Budget Management Act, 2003.
The FRBM Rules came into force from July 5, 2004.

Every year, a macro-economic framework statement is presented before Parliament at the
time of the Union Budget presentation. This is under Section 3(5) of the Fiscal
Responsibility and Budget Management (FRBM) Act, 2003.

The FRBM Act instructs the government to assess growth prospects for the economy with
regards to specific underlying assumptions. The statement contains an overview of the
economy. This includes an assessment regarding the GDP growth rate, fiscal balance of the
central government and the external sector balance of the economy.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 40-45 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Constitutional bodies

Sub-concept: Constitutional Government

Q9. A Constitutional government by definition is a

(a) government by legislature
(b) popular government

(c) multi-party government
(d) limited government

Answer: (d)

Option (d) is correct: By the existence of a Constitution, a Constitutional government is
defined with a legal instrument or merely a set of fixed norms or principles generally
accepted as the fundamental law of the polity that effectively controls or limits the exercise
of political power. Hence, it is often termed as ‘limited government’ as well.

The essence of Constitutionalism is the control or limit of power by its distribution among
several state organs. Constitutional government also refers to a written Constitution guiding
the country with mechanisms called checks and balances.

2T 9. YRATYT &, G TPR HT T &
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: polity

Concept:Judiciary

Sub-concept: Free Legal Services

Q10. In India, Legal Services Authorities provide free legal services to which of the
following types of citizens?

Person with an annual income of less than Rs. 1,00,000
2. Transgender with an annual income of less than Rs. 2,00,000
3. Member of Other Backward Classes (OBC) with an annual income of less than Rs.
3,00,000
4. All Senior Citizens
Select the correct answer using the code given below:

(a) 1and 2 only
(b) 3 and 4 only
(c) 2and 3 only
(d) 1and 4 only

Answer: (a)

Under the Legal Services Authorities Act, 1987, the National Legal Services Authority, is
constituted to provide free legal services to the weaker section of the society and to
provide Lok Adalats to settle disputes amicably.

Statement 1 and statement 2 are correct: The sections of the society as enlisted under
Section 12 of the Legal Services Authorities Act are entitled for free legal services, they are:

e A member of a Scheduled Caste or Scheduled Tribe.

e A victim of trafficking in human beings or beggar as referred to in Article 23 of the
Constitution.
A woman or a child.

e A mentally ill or otherwise disabled person.



e A person under circumstances of undeserved want such as being a victim of a mass
disaster, ethnic violence, caste atrocity, flood, drought, earthquake, or industrial
disaster; or
An industrial worker.

Income level: Low income (Annual income less than Rs 1,00,000), Senior citizen
(Annual income less than Rs 2,00,000), Transgender (Annual income less than Rs
2,00,000).
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Indian Constitution

Sub-concept: constitutional framework

Q11. Other than the Fundamental Rights, which of the following parts of the Constitution
of India reflect/reflects the principles and provisions of the Universal Declaration of
Human Rights (1948)?

1. Preamble
2. Directive Principles of State Policy
3. Fundamental Duties
Select the correct answer using the code given below:

(a) 1and 2 only
(b) 2 only

(c) 1and 3 only
(d) 1,2and 3

Answer: (d)

Statement 1 is correct: As per Article 3 of the Universal Declaration of Human Rights
(UDHR), everyone has the right to life, liberty, and security of person. The Preamble
mentions the term ‘democratic’ which denotes that the Government gets its authority from
the will of the people. It mentioned all are equa
language, sex and culture” in this modern era democracy is considered as a human right.

I "

irrespective of the race, religion,

Statement 2 is correct: As per Article 22 of UDHR, everyone, as a member of society, has
the right to social security and is entitled to realization, through national effort and
international cooperation and in accordance with the organization and resources of each
State, of the economic, social, and cultural rights indispensable for his dignity and the free
development of his personality. The Directive Principles of State Policy of the Indian
Constitution bear a close resemblance to the Universal Declaration of Human Rights.



Statement 3 is correct: The duties of the individual to the society are both a part of
Fundamental Duties mentioned in the Constitution of India and the principles and
provisions of the Universal Declaration of Human Rights.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Governance

Concept:Government Initiatives

Sub-concept: MPLADS




Q12. With reference to the funds under Members of Parliament Local Area Development
Scheme (MPLADS), which of the following statements are correct?

1. MPLADS funds must be used to create durable assets like physical infrastructure for
health, education, etc.

2. A specified portion of each MP's fund must benefit SC/ST populations.

3. MPLADS funds are sanctioned on a yearly basis and the unused funds cannot be
carried forward to the next year.

4. The district authority must inspect at least 10% of all works under implementation
every year.

Select the correct answer using the code given below:

(@) 1and 2 only
(b) 3 and 4 only
(c) 1,2and 3 only
(d) 1,2 and 4 only

Answer: (d)

Statement 1 is correct: The funds under Members of Parliament Local Area Development
Scheme have objectives to create durable community assets and for the provision of basic
facilities including physical infrastructure for health, education, etc., based on locally felt
needs.

Statement 2 is correct: There is a special focus on areas inhabited by Scheduled Caste and
Scheduled Tribe populations by earmarking 15% and 7.5 % of the MPLADS funds,
respectively. Out of an amount of Rs.5 Crores, the M.P. shall recommend for areas inhabited
by the SC population, Rs.75 lakhs, and Rs.37.5 lakhs for areas inhabited by ST population.

Statement 3 is not correct: The annual entitlement of Rs 5 crore shall be released, in two
equal instalments of Rs 2.5 crore each, by Government of India directly to the District
Authority based on unspent amount and utilization certificate. The funds are non-lapsable
and can be carried forward.

Statement 4 is correct: The District Authority would be responsible for overall coordination
and supervision of the works under the scheme at the district level and inspect at least
10% of the works under implementation every year. The District Authority should involve
the MPs in the inspections of projects to the extent feasible.

g2 12. TG T TAHT & [qhrd AT & iderd St & dedy &, AFaaiad
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30




Topic: Polity
Concept:Constitution
Sub-concept: salient features of the constitution

Q13. With reference to the provisions contained in Part IV of the Constitution of India,
which of the following statements is/are correct?

1. They shall be enforceable by courts.

2. They shall not be enforceable by any court.

3. The principles laid down in this part are to influence the making of laws by the state.
Select the correct answer using the code given below:

(a) 1 only
(b) 2 only
(c) 1and 3 only
(d) 2and 3 only

Answer: (d)

Statement 1 is not correct and statement 2 is correct: Article 37 deals with the application
of the principles contained in Part-IV (Directive Principles of States Policy) of the Indian
Constitution. The provisions contained in this Part shall not be enforced by any court.

Statement 3 is correct: The provisions contained in this Part shall not be enforced by any
court, but the principles therein laid down are nevertheless fundamental in the
governance of the country and it shall be the duty of the State to apply these principles in
making laws.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Polity

Concept:Indian Constitution

Sub-concept: Salient Features of Constitution

Q14. Consider the following statements:

1. The Constitution of India defines its ‘basic structure’ in terms of federalism,
secularism, fundamental rights and democracy.
2. The Constitution of India provides for ‘judicial review’ to safeguard the ‘citizens’
liberties and to preserve the ideals on which the Constitution is based.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2

Answer: (b)

Statement 1 is not correct: The Indian Constitution does not define the term ‘basic
structure’. It is a judicial tool that was coined by the Supreme Court of India in the
Kesavananda Bharati vs State of Kerala (1973) landmark judgment.

Statement 2 is correct: Under Article 13 of the Indian Constitution deals with Judicial
Review. However, it does not explicitly mention the term ‘judicial review’. The Article 13
not only asserts the supremacy of the Indian Constitution but also makes way for judicial
review. This legislation creates scope for reviewing pre Constitutional and existing laws.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Governance

Concept:government initiatives

Sub-concept: AADHAAR

Q15. Consider the following statements:

1. Aadhaar metadata cannot be stored for more than three months.
2. State cannot enter into any contract with private corporations for sharing of Aadhar
data.
3. Aadhaar is mandatory for obtaining insurance products.
4. Aadhar is mandatory for getting benefits funded out of the Consolidated fund of
India.
Which of the statements given above is/are correct?



(a) 1and 4 only
(b) 2 and 4 only
(c) 3only

(d) 1, 2 and 3 only

Answer: (b)

Statement 1 is not correct: A Constitution Bench of the Supreme Court ruled that the
Aadhaar metadata cannot be stored beyond six months.

Statement 2 is correct: Part of Section 57 of the Aadhaar Act, enabling body corporate and
individuals to seek authentication, has been held unconstitutional by the Supreme Court.

Statement 3 is not correct: In the 2018 judgment, the Supreme Court held that Aadhar is
not mandatory to purchase the insurance products, however, it can be voluntarily used for
KYC of the insurance products. Even IRDA has made similar rules.

Statement 4 is correct: The Supreme Court ruled that any welfare scheme, driving funds out
of the Consolidated Fund of India, would require Aadhar to deliver the benefits to the
intended beneficiaries.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Indian Constitution

Sub-concept: salient features of constitution

Q16. Consider the following statements:

1. The President of India can summon a session of Parliament at such place as he/she
thinks fit.
2. The Constitution of India provides for three sessions of the Parliament in a year, but
it is not mandatory to conduct all three sessions.
3. There is no minimum number of days that the Parliament is required to meet in a
year.
Which of the statements given above is/are correct?

(a) 1 only
(b) 2 only
(c) 1and 3 only
(d) 2and 3 only

Answer: (c)

Statement 1 is correct: Under Article 85(1) of the Constitution the President can summon
each House of Parliament to meet at such time and place as he thinks fit, but six months
duration shall not exceed between its last sitting in one Session and the date appointed for
its first sitting in the next Session.

Statement 2 is incorrect: The Indian Constitution does not provide for three sessions of the
Parliament. It is by convention that Parliament meets for three sessions in a year.

Statement 3 is correct: To meet in a year there is no minimum number of days that the
Parliament is required in fact, the number of days that Parliament meets has reduced over
the years. During the first two decades of Parliament, Lok Sabha met for an average of a



little more than 120 days a year. In the last decade this has come down to approximately 70
days.
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Question Type: Conceptual
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Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Polity

Concept:Indian constitution

Sub-concept: Right to vote

Q17. Consider the following statements:



1. According to the Constitution of India, a person who is eligible to vote can be made a
minister in a state for six months even if he/she is not a member of the Legislature of
that state.

2. According to the Representation of People Act, 1951, a person convicted of a criminal
offence and sentenced to imprisonment for five years is permanently disqualified
from contesting an election even after his release from prison.

Which of the statements given above is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1and2
(d) Neither 1 nor 2

Answer: (a)

Statement 1 is correct: One who is eligible to vote is not necessarily eligible to be a
minister (for e.g., on grounds of age). Question used the term “a voter can” and not “every
voter”, here many voters who meet the eligibility to be a member of the Legislature of a
state can be made a Minister even when they are not the members of the state Legislature
(Article 164). Voter eligibility is not mentioned in the Constitution. This question is related to
checking the concept rather than fact.

Statement 2 is not correct: Section 8 of RPA, 1951 states the grounds for disqualification on
conviction of certain offences pursuant to Section 8 of RPA, 1951, in case the candidate is
convicted of certain offences specified and sentenced for imprisonment for not less than
two years then the person will be disqualified to contest the election from the date of the
conviction and will continue to be disqualified for further six years even after the release.
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Environment and Geography

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Environment

Concept:Environment Degradation

Sub-concept: Benzene Pollution

Q1. Which of the following are the reasons/factors for exposure to benzene pollution?

Automobile exhaust
Tobacco smoke
Wood burning

Using varnished wooden furniture

i W e

Using products made of polyurethane
Select the correct answer using the code given below:

a. 1,2and 3 only
a. 2and4only
b. 1,3 and 4 only



c. 1,2,3,4and5
Answer: (d)

Statement 1 is correct: Human exposure to benzene has been associated with a range of
acute and long-term adverse health effects and diseases, including cancer and aplastic
anaemia. Exposure can occur occupationally and domestically as a result of the ubiquitous
use of benzene-containing petroleum products, including motor fuels and solvents.
Automobile exhaust accounts for the largest source of benzene pollution in the general

environment.

Statement 2 is correct: Active and passive exposure to tobacco smoke is also a significant
source of exposure to benzene pollution. Benzene is highly volatile, and exposure occurs

mostly through inhalation.

Statement 3 and statement 4 are correct: There are various toxic paints and varnishes that
are used to cover wood and wooden furniture. Wood burning and using varnished wooden

furniture are also sources of benzene pollution.

Statement 5 is correct: During fires, polyurethane foams burn rapidly and produce dense
smoke, toxic gases, and intense heat. Carbon monoxide is the most common, but smoke
also contains benzene, toluene, nitrogen oxides and hydrogen cyanide. Using products

made of polyurethane may cause benzene pollution.

Ethylbenzene and Styrene production, Cyclohexane production, Cumene production, Phenol
production, Nitrobenzene production, etc., are the major sources of emissions of benzene

pollution.
Q1. il JeWoT & @A & fT ferfaf@d 7 & sl @ HRoT / R 82
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a. Wl,Z&ﬁT?:
b.  had23ik4

c. $hdel 1,3 3R 4
d. 1,2,3,43R5

Answer: (d)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Physical geography

Concept:natural regions

Sub-concept: rivers and seas



Q2. Consider the following pairs:

Rivers Flows into
1. Mekong : Andaman Sea
2. Thames : Irish Sea
3. Volga : Caspian Sea
4. Zambezi : Indian Ocean

Which of the pairs given above is/are correctly matched?

a. land2only
a. 3only
b. 3and4only

c. 1,2and4only
Answer: (c)

Pair 1 is not correctly matched: The Mekong River is one of the world’s great rivers.
Covering a distance of nearly 5,000 km from its source on the Tibetan Plateau in China to the
Mekong Delta, the river flows through six countries: China, Myanmar, Thailand, Lao PDR,
Cambodia, and Vietnam. The Mekong Basin can be divided into two parts: the "upper
Mekong basin" in Tibet, and the "lower Mekong basin" from Yunnan downstream from

China to the South China Sea.

Pair 2 is not correctly matched: River Thames travels over 210 miles through the heart of
some of England’s most picturesque towns, including London, right into the centre of

London and eventually, out into the North Sea.

Pair 3 is correctly matched: The Volga River is the longest river in Europe. Its basin lies
entirely within the Russian federation. It is often called Mother Volga by the Russians. It is
thought of as the life blood of Russia. Volga rises or starts northwest of Moscow in the Valdai
Hills. From there it flows north above Moscow, and then south and southeast to the Caspian
Sea. At the Caspian Sea the Volga is an important source of water for the sea and its famous

sturgeon fishery.



Pair 4 is correctly matched: The Zambezi is the fourth-longest river in Africa, the longest
east-flowing river in Africa and the largest flowing into the Indian Ocean from Africa. It

serves as the border between Zambia and Zimbabwe thundering over the Victoria Falls.

Q2. fArAfai@d ZoAt R faar fifse:
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Environment and Ecology

Concept:wildlife conservation

Sub-concept: Indian Elephants

Q3. With reference to Indian elephants, consider the following statements:

1. The leader of an elephant group is a female.
2. The maximum gestation period can be 22 months.
3. An elephant can normally go on calving till the age of 40 years only.

4. Among the States in India, the highest elephant population is in Kerala.
Which of the statements given above is/are correct?

a. land2only

a. 2and4only

b. 3only

c. 1,3and4only

Answer: (a)

The Indian elephant (Elephas maximus indicus) is a subspecies of the Asian elephant found
on the Asian mainland. Other subspecies of Asian elephants are found on the islands of Sri

Lanka and Sumatra. Indian elephants are considered an endangered species.

Statement 1 is correct: Indian elephants are both diurnal and nocturnal. They are highly
social animals, gathering into matriarchal units: these are stable groups, which may consist

of more than 20 related females. The leader of a group is the oldest female.

Statement 2 is correct: The Indian elephants have a polygynous mating system. These

animals breed year-round. Before mating, males usually engage in aggressive fights, which



occasionally result in serious injuries or even death. The winner joins an all-female group,
driving away other males. A breeding pair remains together for about 3 weeks. Gestation

period lasts for 22 months, yielding a single baby.

Statement 3 is not correct: Females between 14 - 45 years may give birth to calves
approximately every four years with the mean interbirth intervals increasing to five years by
age 52 and six years by age 60. Hence, an elephant can go on calving even after the age of
40 years. Interbirth intervals of up to 13 years may occur depending upon habitat conditions

and population densities.

Statement 4 is not correct: The population of India’s national heritage animal— the
elephant—has dipped in the country in the last five years (2012-2017). Among the states,
the highest population was recorded in Karnataka (6,049), followed by Assam (5,719) and
Kerala (3,054). As far as regions are concerned, the highest population was in the southern
region (11,960) followed by the northeast region (10,139), east-central region (3,128) and

northern region (2,085).
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Answer: (a)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Geography

Concept:Natural vegetation and fauna
Sub-concept: wildlife conservation

Q4. Which of the following Protected Areas are located in Cauvery basin?

Nagarhole National Park
Papikonda National Park

Sathyamangalam Tiger Reserve

P w N oe

Wayanad Wildlife Sanctuary



Select the correct answer using the code given below:

a. land2only
a. 3and4only
b. 1,3and4only
c. 1,2,3and4

Answer: (c)

Cauvery is an easterly flowing river of the Peninsular India that runs across three of the
southern Indian states i.e., Karnataka, Tamil Nadu, Kerala, and a Union Territory of
Puducherry. The point of origin of Cauvery, Talakaveri is in the Brahmagiri ranges of the

Western Ghats at an elevation of 1341m.

Statement 1 is correct: Nagarhole Tiger Reserve, previously known as Rajiv Gandhi
(Nagarhole) National Park, was named after the river 'Nagarhole' which literally means
'Serpent River’ in Kannada language. Nagarhole tiger reserve forms a critical connecting
habitat for tigers and elephants to other areas of Western Ghats through Brahmagiri wildlife
sanctuary and to the Eastern Ghats through Bandipur Tiger reserve. It is located in the

Cauvery basin.

Statement 2 is not correct: Papikonda National Park is located in East Godavari and West
Godavari districts of Andhra Pradesh and Khammam district of Telangana. The Park lies in

the River Godavari basin.

Statement 3 is correct: The Sathyamangalam Tiger Reserve located in Kerala. It is located in
the Eastern and Western Ghats. Sandalwood trees are a common find here. It lies in the

Cauvery basin.

Statement 4 is correct: Wayanad Wildlife Sanctuary is located in Kerala and was set up in
1973. These are located in the southern trenches of the famous Western Ghats, ranked 8th
in the list of the World’s Biodiversity Hotspots. The protected areas here share their
boundaries with the protected area network of Nagarhole and Bandipur Tiger Reserves of
Karnataka in the northeast and Mudumalai Tiger Reserve of Tamil Nadu in the southeast. It

lies in the Cauvery basin.
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Question Type: Conceptual



Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Environment and Ecology
Concept:Ecology

Sub-concept: birds

Q5. With reference to India's biodiversity, Ceylon frogmouth, Coppersmith barbet,

Gray-chinned minivet and White-throated redstart are

a. Birds

a. Primates

b. Reptiles
c. Amphibians
Answer: (a)

Option (a) is correct: Ceylon frogmouth, Coppersmith barbet, Gray-chinned minivet and

White-throated redstart are birds.

Coppersmith Barbet is a short, stocky bird, with a leaf-green body that allows it to remain
well-camouflaged in the canopy. The Coppersmith Barbet feeds mainly on the fruits of

common fig trees, such as banyan, peepul and cluster fig, as well as the occasional insect.

White-throated redstart is found in the Indian Subcontinent and Southeast Asia, as well as
some adjoining areas. The species ranges across Afghanistan, Bhutan, Cambodia, India, Laos,
Myanmar, Nepal, Pakistan, Tajikistan, Thailand, Tibet, and Vietnam. Its natural habitat is

temperate forests.

Gray-chinned minivet is a small minivet species distributed in Indian subcontinent and
southeast Asia. These minivet species are common resident birds of the thorn jungles and

shrubs in their range. These minivets are polytypic species.

Q5. AR &1 ST AfFerar & deaT H, Wl BIeITATSY, FIRATAY IR, A-ReTs Aedae
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C. Tga
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d. IHTUAT

Answer: (a)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Environment and Ecology
Concept:wildlife conservation

Sub-concept: Endangered species

Q6. Which one of the following protected areas is well-known for the conservation of a
sub-species of the Indian swamp deer (Barasingha) that thrives well on hard ground and is

exclusively graminivorous?

a. Kanha National Park
a. Manas National Park

b. Mudumalai Wildlife Sanctuary



c. Tal Chhapar Wildlife Sanctuary
Answer: (a)

Option (a) is correct: Hard ground swamp deer (Barasingha or Rucervus duvaucelii), the
state animal of Madhya Pradesh, is seeing a revival in the Kanha National Park and Tiger
Reserve (KNPTR) after having been perilously close to extinction for a long time. KNPTR is on
the Maikal range of the Satpura hills and is spread over an area of 940 square kilometres
between Mandla and Balaghat districts of Madhya Pradesh. The swamp deer is endemic to

KNPTR.

Q6. HRATT 3e]d FHT (SRR T 3H ST, ST TeFeh H{H TR Belcl-Belal & 3N sherel
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Answer: (a)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Geography

Concept:Mines and Minerals

Sub-concept: Steel Slag

Q7. Steel slag can be the material for which of the following?

1. Construction of base road



2. Improvement of agricultural soil

3. Production of cement
Select the correct answer using the code given below:

a. land2only
a. 2and3only

b. 1and3only
c. 1,2and3
Answer: (d)

Steel slag, a by-product of steel making, is produced during the separation of the molten
steel from impurities in steel-making furnaces. The slag occurs as a molten liquid melt and is

a complex solution of silicates and oxides that solidifies upon cooling.

Statement 1 is correct: Steel slags can be used in construction of base roads in order to

replace natural aggregates, which reduces the environmental impact.

Statement 2 is correct: Steel slag can also be used in the agricultural sector due to its ability
to correct soil acidity, as it contains some nutrients for the plants and also as silicate
fertilizer that is capable of providing silicon to the plants. Hence, it is a factor in the

improvement of agricultural soil.

Statement 3 is correct: Steel slag used in cement and concrete production as aggregate or
as additional cementing materials have a significant positive impact on the environment due

to its long-term strength and durability.
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a. Fad 132

b. hadl 2 3R 3
c. $aer 1 33
d. 1,233
Answer: (d)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Environment and Ecology
Concept:Wildlife

Sub-concept: Musk Deer

Q8. Which of the following are the most likely places to find the musk deer in its natural

habitat?

Askot Wildlife Sanctuary
Gangotri National Park

Kishanpur Wildlife Sanctuary

el e

Manas National Park

Select the correct answer using the code given below:



a. land2only
a. 2and3only
b. 3and4only
c. land4only

Answer: (a)

State animal of Uttarakhand, the white-bellied musk deer (Moschus leucogaster) roams the
high alpine region of the Himalayas at an elevation range of 2,500-5,000 metres, is
extremely vulnerable during the harsh season. The Musk pod is highly valuable. So, the

communities would continue to poach despite proper livelihood opportunities.

Option (a) is correct: The musk deer is most likely found in Askot Wildlife Sanctuary (also
known as Askot Musk Deer Sanctuary), located in Pithoragarh district of Kumaun,
Uttarakhand and in the Gangotri Wildlife National Park in Uttarkashi District of Uttarakhand

in India.

Fall fromm srace

Over 1,000 musk deer used to roam
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Gangotri MNanda Devi Askot Wildlife
Mational Park Mational Park Sanctuary

Q8. AT 7 & Si-§ T Halfter HHTGAT TATH § ST61 HEL AT ITel TTehiclh
3Tary # A Gehdr g?



1. 37EPIC dodoild IR
2. AN AT 3T
3. TR aegsila 38R0
4. HTH T 36ATeT
AT fed 91T e T AT Y HET 3o GAd-
a. hael 132
b. haol 2 3R 3
c. $had 3314
d. haol 131K 4
Answer: (a)

3WIGS HT Ao T, Fhe, YT Tl HEQY HIT (HITRT oJhIeR) GAToT & 3=
37eUTSeT &1 & 2,500-5,000 FHeX HI A8 U I8 &, HOR AIGH & G Sg6 hHR ardl
&1 EY Bl AT FHedaTel | SHTAT, HTSNTdehT & 3T e & das|e FHad
319 RSN AT STRY TWT |

faheT (a) TEY &: FE T 3TRWS & FATS & [GURTETE fSTer 7 FId 3hle gwgeia
3EARUY (S IERIT el I IANTY & &G F 81 ST STl 8) 3R R 7 ITR1Es
& Iexanrelt fotel 7 19 dedeiia ISERT 36T H 1T SATel ol Jed 31T ARG 1 .
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Environment and ecology
Concept:pollution

Sub-concept: carbon footprint

Q9. In rural road construction, the use of which of the following is preferred for ensuring

environmental sustainability or to reduce carbon footprint?

Copper slag

Cold mix asphalt technology

1.

2

3. Geotextiles
4. Hot mix asphalt technology
5

Portland cement
Select the correct answer using the code given below:

a. 1,2and 3 only



a. 2,3and4only
b. 4and5only

c. land5only
Answer: (a)

In order to encourage locally available materials and use of green technologies for
construction of road under Pradhan Mantri Gram Sadak Yojana (PMGSY), guidelines were
issued by the Ministry, wherein the State Governments are required to propose minimum
15% of total length of annual proposals under new technologies such as Cement
stabilization, Lime stabilization, Cold mix, Waste plastics, Cell filled concrete, Paneled

cement concrete pavement, Fly ash, etc.

Statement 1 is correct: The use of copper slag in cement and concrete provides potential
environmental as well as economic benefits for all related industries, particularly in areas

where a considerable amount of copper slag is produced.

Statement 2 is correct: Cold asphalt mix is produced by mixing unheated mineral aggregate
with either emulsified bitumen or foamed bitumen. cold asphalt mix does not require any
heating of aggregate which makes it economical and relatively pollution-free (no

objectionable fumes or odours).

Statement 3 is correct: Geotextiles are commonly used to improve soils over which roads,
embankments, pipelines, and earth retaining structures are built. There are several types of
geotextile material, including open-mesh, warp-knitted, and closed fabric, or non-woven
textiles. It is preferred for ensuring environmental sustainability or to reduce carbon

footprint.

Statement 4 is not correct: Hot mix asphalt (HMA), requires heating of aggregate which is

prone to pollution.

Statement 5 is not correct: Portland Cement is an important construction ingredient around
the world, and as a result, cement production is a significant source of global carbon

dioxide (CO,) emissions.

Q9. FHIVT Heh THHATOT &, TATRUTT ErefANTITaT i AR et 31T e Y& e
I T & o Reafaf@a & & frass gater &t 310 wrafAsar & sy &2




o NN\

4, SAIcFHCISH

5. 3507 TR CEwree diedifahr

6. Uces WFe
oA {2 7T e T JANT T FeY IR FfAD-
a. $del 1,2 3R 3
b. $aer 2,334
c. $ael 4 35
d. $ael 135
Answer: (a)

JTAHAT ITH TS AroTelT (PMGSY) & ded Tssh AT & [T TAHT FT T 3T
et 3R gRa demifaiferat & 3t wF Micarfed we & fov Fares ganrT Genfager
ST foh 91T &, foraa Hieie [eadientoT, e fedientoT, o fAs(or, mferse cemfees,
Aol T hshie, YeTorgerc AT shshie HEUTY, Fells UL, 31Tie SIE =15 Fe A fehat & dge
ST TR T TSR TEATET T ool TS T wGATH 15% T il AT g | |

HUT 1 TET §: AT 3R FshIe 7 IO ToldT I 39T FHT T e & forw gemfad
qaTaRofr 3R Irer & 3T oreT Uerd T §, AT F9 F 37 &137 H SIgT by AT &
ST ToldT T 3cUTeT BIaT & |

YT 2 HET §: Ples TEBlec [Had 9T 31 fohT fAeRel Talldle &l sHeHIwISS faeas a1
BIAS fagae & A1y AR IR fhar SiTaT 81 @les WehTee e 1 fhdl ot oaig &
QT BT TR TET BTl & S S RFwrIely 3R eI STeuoT Herd ST ¥ |

HYUT 3 Te! ¢: ToTAICHFACIS ol I STINT IHAR W [ACET I dgaX Feilel o folv fohar Srar
g, o9 W I3h, deay, asudsT 3R fACE Fl ST 1@t arell TXTATT ST gl ¢ |
G-I, TS oM g3, 3R &g U3, mﬁgﬁg@ﬁﬂ%ﬁ&% JhR I fSacFgersd




Gl €1 qaTeRoNT fEuRar giAfRed et A1 S qeRies # wd e & v gd
STATHASHAT &1 AT &

HYA 4 T 8T o: BIC TAFH ST (HMA) & foIT TIIEIT &l 378 aXal T 3MaTHhdl 8l &
ST 9G¥oT & forT Sqa eI ¢

HU 5 WEI 76T &: WCels HHC giaidn R & Teh Ageaqor f#Tor @l &, 3R 5@
IRUTHAESEY, AT 3cUTesT dfRaeh Hiee SAHTFAISS (CO2) ScHaie 1 Ueh Hgcd ol Ad
gl

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Geography

Concept: Mines and Minerals

Sub-concept: coal

Q10. Consider the following statements:

1. Coal ash contains arsenic, lead and mercury.
2. Coal-fired power plants release sulphur dioxide and oxides of nitrogen into the
environment.

3. High ash content is observed in Indian coal.
Which of the statements given above is/are correct?

a. lonly

a. 2and3only

b. 3only
c. 1,2and3
Answer: (d)

Coal ash, also referred to as coal combustion residuals or CCRs, is produced primarily from
the burning of coal in coal-fired power plants. Coal ash includes a number of by-products
produced from burning coal, including: Fly Ash, a very fine, powdery material composed

mostly of silica made from the burning of finely ground coal in a boiler; Bottom Ash, a



coarse, angular ash particle that is too large to be carried up into the smoke stacks, so it
forms in the bottom of the coal furnace; Boiler Slag, molten bottom ash from slag taps and
cyclone type furnaces that turn into pellets that have a smooth glassy appearance after it is
cooled with water; Flue Gas Desulfurization Material, a material leftover from the process of
reducing sulphur dioxide emissions from a coal-fired boiler that can be a wet sludge
consisting of calcium sulphite or calcium sulphate or a dry powered material that is a

mixture of sulphites and sulphates.

Statement 1 is correct: Coal ash commonly contains some of the earth’s deadliest toxics:

arsenic, lead, mercury, cadmium, chromium, and selenium.

Statement 2 is correct: Thermal power plants produce large amounts of nitrogen oxides
and sulphur dioxide—the pollutants that cause acid rain—when they burn fossil fuels,

especially coal, to produce energy.

Statement 3 is correct: India’s domestic coal reserves have a high ash content—up to 40 to
45 percent. As a result, more coal is required to generate one kilowatt hour of electricity.
This in turn means higher emissions. Reducing the ash content will mean lower amounts of
coal will be burnt for every unit of electricity generated, and that would mean lower
emissions of pollutants. Coal washing is one possible way to tackle the problem of high ash

content in coal.

Q10. ArEa 2« )W AR Hife-

1. Figer H T@ H 3, T ar 3R uRe siafase gl &
2. T Hufeld fdegd @99 qAaRor # el SE3fiaarss 3R aArsels &
3TFATSE 3catold AT & |

3. RO P H U@ 1 310 AT IS AT B

3UYer YA 7 A HlA-H1/A T 8/8 7

a. hadol 1
b. $aer 2 3T 3



c. hddol 3
d. 1,233

Answer: (d)

Il Y I, TSI FIFET SgeT TTAYT IT IR (CCRs) 31 T ST &, HET T A el
T Telol aTel Tootell GIAT H HITA & Soled T 3c9eel 8ldT 61 DIl I TG H Fclel aTed
FITS F 3N H$ 3U-3cUe; A &, [SHefal midver §: werrs X2, Toh 5§ & #her,
13T SHAT 9ery ST STaer 7 9 Ad §U HIe & SToid & 51 Fafesr & §elt g1 &;
I T, Teh AT, SHIVIT I H0T ST YT & HTY 78T 35T 8, SHAT g el T 7ér &
ool 3 STAT 81 ST §; STTeik TolT, Wﬁcﬁﬁﬁwgmaﬁu& 3R TshaTclaAT HvgehT
St & & dee ST & [ ST arelY STere 33T foham ST & a9 I8 Ueh faehal i oid
@ §; wel 1 BHEHUSALT IeTd, el § Toiel aTel Sigel ¥ Hohl SEHTFATSS
3colel I HH Flal ﬁmﬁwgmwﬁﬁ%%emmm%%%mw#
e Il g 8 Hehcll § AT Teh FW UIS3ST SHAT T&1Y g1 Hehell & i Hobhrsed 3R
Hothed &1 FASOT BT B |

HU 1 HET g Aol i TG H HTHAR T G H T ST dTel HIH ©Tcteh fauTerd gere
3o, @, IRy, Hsfaas, Hifagsa ik g aa gl

$UT 2 T §: YT ITaT TelTe I31 AT H A1Seroted 3aarss 3K Towl SIS3iaarss &l
3cUTGe & § - T T UGW ¢ Sil 3Felrd au & HROT § - S I Fal YT et & o
SHaTea ST, Ay §T & FITel HI STelld & |

T 3 HET 8 R & B IS HSR H TG T AT 3HTEh glcll §— 40 H 45 G |
TdleTdd, Ueh fhaliare &¢ fostelr daT et & forw 31Tk et 1 3aegeshdr gl & | I8
Sl H 3T 3cholel HIdT g | T T ATAT T S HleT T AT G191 foh ScdoeT ToroToll ST
T FehTs & oI o ATAT H el I ST SATTT, R FHHT ATord G191 o TguehT &1
3cqolel A B DIl 7 3T AW FHIA S FAET @ fAvea & foIw Shrgel S egelrs vh
Tsnfad adier g

Question Type: Conceptual
Difficulty Level: Moderate



Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Environment and Ecology
Concept:Advanced practices of farming
Sub-concept: Biochar

Q11. What is the use of biochar in farming?

1. Biochar can be used as a part of the growing medium in vertical farming.

2. When biochar is a part of the growing medium, it promotes the growth of
nitrogen-fixing microorganisms.

3. When biochar is a part of the growing medium, it enables the growing medium to

retain water for longer time.
Which of the statements given above is/are correct?

a. land2only

a. 2only

b. 1and3only

c. 1,2and3
Answer: (d)

Biochar is a charcoal-like product that is the residue of a renewable energy production
process called slow-pyrolysis. Products like paper mill waste, green waste, animal manures
or other biomass can be recycled by heating to 550 degrees Celsius in the absence of

oxygen. The process generates energy and biochar.
Usages of biochar:

e It can be used as a part of the growing medium in vertical farming. (Statement 1 is
correct)

e When biochar is a part of the growing medium, it promotes the growth of
nitrogen-fixing microorganisms. (Statement 2 is correct)

e Biochar holds potential for long-term carbon sequestration, improving soil health
and water-holding capacity, and further reducing emissions of greenhouse gases

associated with fertiliser application. (Statement 3 is correct)



Adding biochar to soil increases its carbon content and can mitigate greenhouse gas
emissions. This mitigation can occur by several means, long term transfer of carbon into
biochar, which would otherwise decompose naturally and emit carbon dioxide and methane,
production of syngas and bio—oil, which can be used as energy alternatives to fossil fuels,

and reduced emissions of nitrous oxide from fertiliser application.

Q11. Wdl & SRR & FI7 39T §?

1. STUMER 3EaTeR WdT (Vertical Farming) & a:djﬁw ATETH & A b §T & qqFd
foraT ST ERaT 8

2. SF IR gefte] AICIH & A & T H Ggad fhar Sfar g, ar a8
ATSerateT- A TR gawrohal i gefar st dgrar &ar g

3. SId SIOTUR Jeftehy ATETH o 370 oh &9 H GYFcl [ohaT ST &, I 98 39 gt
ATEGH T FTTURUT &THAT o 37T oI THT deh IeATT IW H TgTIIh alar & |

U YA H A HlA-A1/A TENB/6?
a. $ae 132

b. Had 2

c. $aer 1 31X 3

d. 1,233

Answer: (d)

TR Teh ARSI SIGT 3cUTE § S Ueh 3787 Foll 3cuieed Ufehar &1 37999 ¢ o
Eel-IRRITATEH gl STl &1 G- ffer 3TiRISe, &1 e, 98] Wle, AT 3=y ST Sid
UGl T 3TerdiTolel i Harefe # 550 TSI ATeqTH TTeh 1 Fleh YeoTalaiienioT fohaT
ST ST g | TE Uehd Foil 31T IR 3c9e iaT & |

TR & 39I19T:

o ST U FLATER Wl H Tad ATCIH & dEH & &9 H [FA1 ST AT 8| (FUA
1881 8)

o S SRR 6d HIETH 1 FEAT 8T &, AT TG ATScIoled- e oT FEHSIE!
Tepra A1 ST AT | (FUT 2 HETR)




o TR & Ertiehifoleh HIdel JUFNIOT, HeT TAELT 3N STel YRUT &THA H N,
3R 3 I A 5[ MeTer3d T & Scholel ol IR o HTeT T & gicll
gl (U 3 AT B)

AT 7 TR e @ ST Fed ATHA §¢ AT § AR AAeT3H I Scaoted ol HA
T3 ST FeheTl §1 TE weA1a0T &8 ddlehl U &1 Hehell &, IelsT T SRR H Sreentiolen
TUTATRUT, S 30T FareTfas ¥ & faafed g smwen 3R Fee ss3ieass ik Aida
P 3cHoleT AT, AN 3R Sia-ae FT 3cureet g1, fSThr 3uATeT Siares SeeT & Sl
et & &G & AT ST FehdT &, 3N 3 TN 8 ASCH HFATSS o ScHolel &l A
forar ST AFaT g

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Environment and Ecology
Concept:Wildlife conservation

Sub-concept: Wildlife Protection Act,1972

Q12. If a particular plant species is placed under Schedule VI of The Wildlife Protection

Act, 1972, what is the implication?

a. Alicense is required to cultivate that plant.
a. Such a plant cannot be cultivated under any circumstances.
b. Itis a Genetically Modified crop plant.

c. Such a plant is invasive and harmful to the ecosystem.
Answer: (a)

The Wildlife Protection Act, 1972 provides for the protection of the country’s wild animals,
birds, and plant species, in order to ensure environmental and ecological security. Among

other things, the Act lays down restrictions on hunting many animal species.

Option (a) is correct: The Schedule VI has been added to include the specified plant

species to be protected by the Wildlife (Protection) Amendment Act of 1991. Placement in



Schedule VI provides for regulation in cultivation of a specified plant and restricts its
possession, sale, and transportation. Both cultivation and trade of specified plants can only
be carried out with prior permission of competent authority. Thus, a license is required to

cultivate that plant.

Q12. I fordY qiey hr fafRrse Sfa At aegsiia gram sz, 1972 v 37g vi & wr
T g, AT ST AT AT 872

(a) 39 G T T T & TR IS8T I 3T ThAT S |

(b) U GEY T @AY ot i IR AT H 71ET g1 Facdl|

(c) TG T T RIehcl: TR BEell T g |

(d) U 9T 3SR BT & 3R 9RaT & o gifdsRE giar g |

Answer: (a)

aegsila TXETOT ITATAF#, 1972 GATER0T 3R TR IEUTcren FRaT FiATed el & foav g
& STITell STTetat, gfardt 3R gt hr gorfaar o TIETUT I ITaUTeT Xl g | 3T STl &
37eIrar, 31T 3 ARt T gorfadt & IR 9 ufaeyr aemarg |

faehed (a) WET &: 3T VI T degoiia (TXETOT) HRMET HATFIH 1991 GART W&
el & v Afése dut i genfaat @ anfde w3 & faw Sier g1 seggh vi &
T Tah fAfese gier T @t 7 [afaas et uereT edr g 3R 38 sreat, fashr 31k aRaga
T FicIs eI el & fAfése det & Wit 3R AR et € @are Tty T qd 3egata
& fohaT ST ThaT § 1 39 YR, 39 T I W & forw arsdd $r ragsdrgiar g |l

Question Type: Conceptual
Difficulty Level: Moderate
Expected Time: 45-50 Sec



Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Geography

Concept:Agriculture

Sub-concept: zero tillage in agriculture

Q13. What is/are the advantage/advantages of zero tillage in agriculture?

1. Sowing of wheat is possible without burning the residue of previous crop.
2. Without the need for nursery of rice saplings, direct planting of paddy seeds in the
wet soil is possible.

3. Carbon sequestration in the soil is possible.
Select the correct answer using the code given below:

a. land2only
a. 2and3only

b. 3only
c. 1,2and3
Answer: (d)

In Zero tillage (No tillage), a new crop is planted in the residues of the previous crop without
any prior soil tillage or seed bed preparation, and it is possible when all the weeds are

controlled by the use of herbicides.
Advantages of zero tillage in agriculture:

e In this method, sowing of wheat is done by a special machine (zero tillage machine)
without preparing the field. Sowing of wheat is possible without burning the
residue of the previous crop. (Statement 1 is correct)

e In this method, there is no need for a nursery of rice saplings, direct planting of
paddy seeds in the wet soil is possible. (Statement 2 is correct)

e Zero tillage helps in carbon sequestration in the soil. (Statement 3 is correct)

e Zero tilled soils are homogenous in structure with a greater number of earthworms,
organic matter content increases due to less mineralization, and surface runoff is

reduced due to presence of mulch.



Q13. Y F Y=I-S[TTS (Zero-Tillage) 1/ FIAT AT /82
1. TSl el & GRS T ST {91 g BT 93775 HTa &l
2. Tarel T &S YT hY IR SATT T, &7t & sl ohl o Her & HY AY0T HHa &

3. FETH HIele] YU HHAT 5 |

AT f& 7T e T AT T Y TR Y-
a. shaol 1312

b. hael 2 3R 3

c. $dd 3

d. 1,2 3R 3

Answer: (d)

EI-S[CTS Y &, BEeT sToT I TSAT 373 T IR o Td qadcil Bael & IS I §eIw
ST Srerer & AT & S17 ST § 3R Ig O9 @A § ST T WITATRT Sl 2ATehaArel &
3ater & g frar srar g

i T Y TS & e

. %ﬁ@ﬁﬂéﬁgﬁé@%@ﬁﬂ%ﬁﬁ(?ﬂ@ﬁfé’ﬂ?ﬁﬁ)C\\dl{lfaﬂT{s\ld?\?JTTﬁ?ff
TSI 8 | TSl el o 3T h STATT faAT 31 Y aTs Hera & | (T 1 TET &)

o =T Al & a1 & giet r AT H¥ 3TaTHAT AT gIar &, el A 7 ey & ey
$1 ¥eh gars F@Ha &1 (a2 e

o YI-SIATS A A St fATaeFcisTast # Heg P g | (FUT 3 TEI Q)

o Y TS aTell fACE fRw Hear & H3T & AT AT H AT gIeh ¢, FH
Gfas & SR Fefae gerd i A= g6 Srdr g, 31 Ifeh g & sufeafa &
HIRUT Acle! IIATg e &I ST g |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Environment and ecology



Concept: environment conservation
Sub-concept: Biofuels

Q14. According to India's National Policy on Biofuels, which of the following can be used

as raw materials for the production of biofuels?
Cassava
Damaged wheat grains
Groundnut seeds

1

2

3

4. Horse grams
5. Rotten potatoes
6

Sugar beet
Select the correct answer using the code given below:

a. 1,2,5and 6only
a. 1,3,4and6only
b. 2,3,4and5 only
c. 1,2,3,4,5and6

Answer: (a)

‘Biofuels’ are fuels produced from renewable resources and used in place of or in blend
with, diesel, petrol or other fossil fuels for transport, stationary, portable and other

applications.

Option (a) is correct: Biofuels can be produced from biomass such as sugar containing
materials, like sugar cane, sugar beet, sweet sorghum etc.; starch containing materials such
as corn, cassava, rotten potatoes, algae etc.; and cellulosic materials such as bagasse, wood
waste, agricultural and forestry residues, or other renewable resources like industrial waste;

rice & wheat straw/corn cobs (Damaged wheat grains).

Q14. $IRC T SIS T TSE ATl o IR, ST-SUA oh ScUTesT & Tordl et &
H fohaTenT 3UHNET e ATl o &I H &1 HohdT 62

1. <hdrdar
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a. $de 1,2,5 36
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c. $hder 1,3,4 316
d. 1,2,3,4,53K6

Answer: (a)

'Sig S 3HeTT TETE! F Seuried e 8 3R aRags, TR, diéaer 3R 3= 3reguant
& foIT SroTdl, Uier AT 31 SHaTR# S & TUTH W AT TR0 F & H 39T fhU AT &

Taehe (a) HET &: STHTATE & Sid ST ol ScdTce! TohdT ST Hehdl & SIE AT ekl HTHA,
S 31T, Yehel, HIST AR 31T1E &, Fer<l Jere TN Si Hebs, WIGTH?@“UMW
e @, 3R elardr v S @IS, Free IURISe, FN R arfrdhr 3@, @ sy
AU HHTE S 3HIeZfoTeh 3afRIse; araer 3R 31 & s[@/Hebs & et (&7fcared g
& &) 4|

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: environment and ecology
Concept:environment degradation

Sub-concept: social cost of carbon

Q15. Which one of the following statements best describes the term 'Social Cost of

Carbon'?

It is a measure, in monetary value, of the



a. long-term damage done by a tonne of CO, emissions in a given year.

a. requirement of fossil fuels for a country to provide goods and services to its citizens,
based on the burning of those fuels.

b. efforts putin by a climate refugee to adapt to live in a new place.

c. contribution of an individual person to the carbon footprint on the planet Earth.
Answer: (a)

Option (a) is correct: The social cost of carbon is a measure of the economic harm from
those impacts, expressed as the dollar value of the total damages from emitting one ton of

carbon dioxide into the atmosphere in a given year.

Carbon dioxide emissions are costing the Indian economy up to $210 billion every year. It is
likely to suffer the highest economic damage from climate change after the US. The
country-level SCC for India alone is estimated to be about $86 per tonne of CO2. For the US,
the cost is about $50 billion per tonne. This means that the nearly five billion metric tonnes

of CO, the US emits each year is costing the US economy about $250 billion.

Q15. AFEATATET # @ SIF-AT FUT leleT & AT Hed’ UG I HadH & § JoTe
HAT &2 3 Hed & & H g AT f@d & & frasr Ara §2

a. Yed a¥ H Ueh &oT CO2 & 3coiel  glet dTell SIeianTeNe &7fa

b. fapalt er & Sirares Serat & 3aegend, foTeg STelTeht 2T 3Tl AT T TEIT
3R aTC UeTeT HAT g

c. forar ofeldryg eROTAT (Climate Refugee) {HIT[WH’UFW%Q%W@?
g fondr 1T v

d. Y%l g W fehdll cafeher QI q@aRT 311G Siee e e

Answer: (a)

faehe (a) TET &: It T ATATTSH ST 3T THTGT A e dTel 3T JehaTed T Teh AT
g, [98 vsh a¥ & U & FIdeT SISHIFATSS T ATAGRT A ScHISI oA § gl aTel el
T dTeT o SToR Hed & &Y H chehd [T ST g |




TS STEHTFASS ScHolel A HRATT HISTTEUT Y g ATl 210 3 STe Teh T JehdTel
81 TgT &1 3TARAT o dTe; STerary IR & S8 Tl SITeT Tk Tt glet ol HeATGaAT
g1 3l HRA & AT SA-FAMT SCC 9T 86 STol Ul ST CO2 Blot T 3HeTHTT B
AR & AT J19Td FT 50 3RT SToR Ui & & | SR HAdold Ig & Tob AR gy arel
SATHAT UTT 3RT FHIfcoh TA hlee] SBIHFASS HT 3cdold Pl g Torad AR
I CTGEUT T FITHT 250 IR STeN T TJh AT 61 BB |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Geography

Concept: Agriculture

Sub-concept: Pulse production

Q16. With reference to pulse production in India, consider the following statements:

1. Black gram can be cultivated as both kharif and rabi crop.
2. Green-gram alone accounts for nearly half of pulse production.
3. In the last three decades, while the production of kharif pulses has increased the

production of rabi pulses has decreased.
Which of the statements given above is/are correct?

a. lonly
a. 2and3only

b. 2only
c. 1,2and3
Answer: (a)

Statement 1 is correct: Rice is dominantly cultivated in kharif and rabi seasons. Coconut is
the leading plantation crop grown. Pulses (black gram and lentil) and oilseed crops
(sunflower and groundnut) are grown after rice on residual moisture in the soil. Hence,

black gram can be cultivated as both kharif and rabi crops.



Statement 2 is not correct: Green gram grown in nearly 8 percent of the total pulse area of
the country. India’s pulses production is driven by chickpea and pigeon pea. The
contribution of chickpea in total production is around 48 per cent, followed by pigeon pea at

17 per cent. Other pulses include moong (nine per cent), urad (11 per cent) and others.

Statement 3 is not correct: The country’s pulses production stood at 234 lakhs tonnes in the
2018-19 crop year, down from the record level of 254 lakh tonne in 2017-18. Due to MSP
increases, some improvement in public procurement and buffer stocks norms announced,
India’s pulses production saw a big increase in 2016-17 to 231 lakhs tonnes from 163 lakh
tonne in 2015-16, the year that saw a spike in prices. The government policy over the last
few years was guided by an intent to reduce import dependence (which was as high as
around 40% of the domestic consumption). In the last three decades, the production of
kharif pulses has decreased due to monsoon delay and production of rabi pulses has

increased.
Q16. {Rd H ETelT & 3cUTesT & e H, AFIfai@d U« W} TR HIfe-

1. 33¢ FI Wl WD R & Gl Bl H ol oIl Tohail g |
2. ol GTel 3cUIGa ohT ofaT8TaT JATIT $TT4T Shelof FIT T BIcAT 8 |
3. Nod T s &, ST8T WLH ETell T 3cUTeT daT &, Ial 8T &Tell ol 3cUTee T gl

3UdFd HUAT H A HleT-A1/H T 8/8?
a. $hddl 1

b. hael 2 3R 3

c. Hddl 2

d. 1,2 3R 3

Answer: (a)

YT 1 HET §: T 3R TS HGH & =Teel il Wl THET & 1 STl | AR 39S Siled
aTell 9AE JaTRIAUT HHeT g1 &l (el Tell I AGY) 3N foresl Bael (I 3R
HITH) TTael & a1 AT H HARISE T I 395 AT § | SHTAT, el Tt &1 Wll
T 3R & 1T BT o & 3 HT ST Fhal g |




HUeT 2 TEY TGN 82 B UeAT & o ol SolgeT &1 oh SIS 8 TTcTereT #1197 & SIAT STAT g |
Rl T TGl SculeeT all 3R 3R A FTTolcl BIclT &1 Fel ScUIE H Tall T AaTele
SITHIT 48 UIARNT &, THF TG 3T FI 17 AU T ATElT §1 37 glell 7 HIT (A
gfarerd), 35¢ (11 wfaerd) 3R 3= nfAa &

AT 3 ol A6l §: PO IV 2018-19 H 2T FT SoAgeT ScUTGeT 234 oI T T@T, S 2017-18 H
254 A T & Rapis TR T FAF g1 MSP 61 & FRUT, Hdel el TG 3R TH Feish
ATACS! H e GUR T BIYUTT I 378, Rl & Gleil & Scdlcel 3 2015-16 H 163 @ A
2016-17 # 231 oI Tof Y 981 e S& 915, 5 a¥ Hreadt 7 gefer ¢at arg Y| o
6 Nt H WHR Hi AT 3T IR i F7 w5 F 30e ¥ AERIT & (3 o e
YU T T 40% T)| TUser et gerehl H ATHA 7 ¢ & HRUT TG GolgeT &l
mmgﬂ%ﬁ??‘@rqud FT 3cUTCT daT g |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Indian Geography

Concept: Agriculture

Sub-concept: Cotton

Q17. "The crop is subtropical in nature. A hard frost is injurious to it. It requires at least
210 frost -free days and 50 to 100 centimeters of rainfall for its growth. A light
well-drained soil capable of retaining moisture is ideally suited for the cultivation of the

crop.”" Which one of the following is that crop?
(a) Cotton

(b) Jute

(c) Sugarcane

(d) Tea

Answer: (a)



India is believed to be the original home of the cotton plant. Cotton is one of the main raw
materials for the cotton textile industry. In 2008 India was the second largest producer of

cotton after China.

Option (a) is correct: Cotton grows well in drier parts of the black cotton soil of the Deccan
plateau. It is subtropical in nature. It requires high temperature, rainfall of 50-100
centimeters, or irrigation, 210 frost-free days and bright sun-shines for its growth. A light

well-drained soil capable of retaining moisture is desirable for its growth.

It is a kharif crop and requires six to eight months to mature. Major cotton-producing states
are— Maharashtra, Gujarat, Madhya Pradesh, Karnataka, Andhra Pradesh, Telangana, Tamil

Nadu, Punjab, Haryana, and Uttar Pradesh.

Q17.Tg B SUISOT Yehic I &1 38 foId o UTell §TiciehReh & | S8 fdehrd & fod
FH-G-HH 210 gre-Ifgd feadt 3 50-100 TEH T auT Y 3TTIhar Usdl &1 gohr
I Fel s AT UROT FXel T &THAT § ST Wil o ol e &7 & 3fefehel
&1 I8 v AFafarad & 3 Hla-ard?

(a) hUTH
(b) I
(c) sl
(d) T

Answer: (a)

T hY SHUTH o T T FeT EX ATAT SITT & | Fil I 3T o folw hurd HE&T shed ATl
Y Teh g1 2008 H HRA il o STe; HUH T GET Y &7 3cUTeeh AT

o (a) HEY &: GeFehel & YSR I ShTell HUTH THCE & FW AN H FHuTH 3= g ¥
faenfad B &1 TE Thid H SUTSUTRieatIy &1 SHeT gefe o ToIU 3T dI9#Te, 50-100
YErHAeT an a1 =TS, 210 So-FFd et AR AT 4T T HTGLTehaT gl ¢ | THT &l qATT
TG H HETH Goehl e STl Toieh ¥l aTell TATE! SHehT gt & fav arseia & |



g TUH &l BAc ¢ 3R H Tehe! H B A TS AL o1 & | THE HUIH Scdleeh A -
HERTSE, ISR, HEY TG, Falleeh, 3TEN Fe=, Aelael, AT, Toitd, gRATIM AR 3T
el

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Indian Geography

Concept:Agriculture

Sub-concept: Eco-friendly agriculture

Q18. In the context of India, which of the following is/are considered to be practice(s) of

eco-friendly agriculture?

Crop diversification
Legume intensification

Tensiometer use

ol A

Vertical farming
Select the correct answer using the code given below:

a. 1,2and 3 only

a. 3only

b. 4only

c. 1,2,3and4
Answer: (d)

Statement 1 is correct: Crop diversification refers to the addition of new crops or cropping
systems to agricultural production on a particular farm considering the different returns
from value- added crops with complementary marketing opportunities. It is an eco-friendly

practice.

Statement 2 is correct: Improved varieties of legumes adapted to nutrient deficiency have

the potential to improve food security for the poorest farmers. Tolerant varieties could be an



inexpensive and biologically smart technology that improves soils while minimizing

fertilizer costs.

Statement 3 is correct: A tensiometer is a device for measuring soil water tension.
Tensiometers have five applications: They are used to determine rooting depth. They are
used for timing of field irrigation. They are used to determine timing of greenhouse
irrigations for potted plants and greenhouse beds. The water table level is determined using
tensiometers. The hydraulic gradient is determined from measurements using two

tensiometers. It is an eco-friendly practice.

Statement 4 is correct: In vertical farming, crops are grown indoors, under artificial
conditions of light and temperature. Crops are grown indoors, under artificial conditions of
light and temperature. It aims at higher productivity in smaller spaces. It uses soil-less
methods such as hydroponics, aquaponics and aeroponics. Vertical farming uses
significantly less water and pesticides than traditional agricultural methods. Being indoors,
the crops are not subject to seasons and hence give high productivity year-round. Lettuces,

tomatoes, and green crops can be produced through this practice.

Q18. R & Hedl #, fe=ifafld & & fora/fehat ueaial/at 1 aRa 3ieTepell SV A
AT 8?

1. BT [aefiwqor
2. R ey
3. TaAHeT 1 yAeET
4. SEATER HN
oI f&T 31T e T JAIT T [T IR JfAT:
a. $ad 1,2 3R 3
b. $dd 3
(o had 4
d. 1,2,331K4

Answer: (d)



YT 1 HET &: Bl [TRNEIIT F AT 75 Bhell AT B Jonferdt & Hi¥ ScuresT i
S @ 8, 99 H Toh a9 ¥ &89 W H¥ 3curesT & Wb Auore et & ary
HogacTtd wae & Tt cient & @1eT fer W1 8 | Ig Teh TATaR 0T & 3HeJehel cieh & |

YT 2 TET §: Uk Acal T FHAT & AT 3 fod Bt i 3eaid Fheat & qed T e
ferdrait & TIT Wrer GRat & GUR et T &7 T gich & | Fgoreliel fhesd Teh T 3R
Sifds TT & THATC dohelieh &1 Tohdll & oIl 3A3eh 9T I ha hid] gU AT # GUR Tl
gl

HUT 3 TET §: TP loqaiey AT & el & Jelrd Sl AT & T Teh 3UHT ¢
CToaAeT # UTe 37ISIeT 81 §: SeTehl YA 573 ol ATENTS hl Ve kel & fauw
T ST &1 SeTehT 39T W Y s & 97T & AT fFar Srar &1 37T 393197 uies
et 3R AeTeT3d 8 & T AgEd [ars &1 J7T FAUTRT et & forw fmar sirar |
ST TR HT TR <ToaaHIE T 3YIRT aoh fTUTRd fohdr SITdT g1 gT8siToreh Jfsue ar
TaaTaeT 1 3UghT e AT & AUTRT forar srarg |

HUT 4 HET g2 FEATER Wl H, HHell T Tehrer T AIATT $Hr Hiad oRIEafa@ #
3E3 3IMMAT SATAT § | THAT 32T BIC TUTAT H 3T IcdTGhdl ITod el g | Ig TFR
ool ¥ &1 afder #ar g, o 3eged diel & gefer, 3R #Her W
cTeheiiehl SIEY T STel Hatlel, Terardliolerd 3R WIS &l 3eTehield il §1 Ftater
Welt AR R i TATRGT T Fofal1 7 1Y Hat et 3R hreaATerehl S ST HIch 1 8
& 37 Bl & PRUT, Bl AGH & el FA8 alar & 3R sTfST ATl IR 32T 3cUreehd
ST €| 39 3190 U Hellg, THTEY 3R g B el &1 3cdTge [T off HehdT & |

History and Art & Culture

History and Art & Culture

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Art and Culture



Concept:Buddhism
Sub-concept: Paramitas

Q1.With reference to the cultural history of India, which one of the following is the correct

description of the term 'paramitas'?

a.The earliest Dharmashastra texts written in aphoristic (sutra) style

b. Philosophical schools that did not accept the authority of Vedas
c. Perfections whose attainment led to the Bodhisattva path

d. Powerful merchant guilds of early medieval South India
Answer: (c)

Option (c) is correct: To achieve enlightenment and realize Nibbana, the Fourth Noble
Truth, the Noble Eightfold Path, gives a Buddhist practitioner, ways to practice, and the path
to follow. There also exists a parallel path that consists of perfecting certain qualities, in
order for a pilgrim to become a self-Enlightened Universal Buddha. These qualities are
termed as the Paramis (perfections) in the Southern traditions and the Paramitas in the

Eastern and Northern traditions in the context of the Bodhisattva path.

Q 1. #Rd & HiEpiden STagr & Hedt H, Ar=Afaf@d & & Sle 4T e RIAAT F1 wEY
quTeT g7

a. WTEIeTcIA AR oY FF &9 1 Aol A fer@r g

b. GMRifoleh Tehel it dal & TUHR T TR TG i &I

C. et foretehr a1t o siferdca 91 i sifed T

d. IR FETehTolleT GIETUT R o ATFRITel SATIRT HEX

3<Y: (c)

fAred (c) Ter &: AT 3R AaTor ured et & fr, =it 3T I, 31 3rseifale AT, Th
sley IR AT A A o e IR AT XA T AR Jeled Al &1 Th



AR AL o Al & e Fo fafrse qoit & warfed fomar siar § St dreamh @
AT FFeY (Ve Qraeiiffeh geern) o1 siftrded aefel T 30X of STl &1 S1 01 &Y
I e Ty & Heel # gfaroll Wori3it # RAAT (ef®) 3R gdf iR 3oty wWomsit &
TR T AT &

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History

Concept:Social Reforms

Sub-concept: Rakhmabai case 1884

Q2. In the context of Indian history, the Rakhmabai case of 1884 revolved around

1. Women’s right to gain education
2. Age of consent
3. Restitution of conjugal rights

Select the correct answer using the code given below:

a. 1and 2 only
b. 2 and 3 only
C. 1 and 3 only
d. 1,2 and 3
Answer: (b)

Option (b) is correct: Dr. RakhmabaiBhikaji was a 19" century pioneer in the field of
medicine and women’s rights. She was instrumental in raising the age of consent for women
in 1891. She became India’s first practicing lady doctor after having studied in the London
school of Medicine for Women in 1889. Rakhmabai who got married at 11-years of age to
the 19-year-old DadajiBhikaji, sought a legal divorce, demanding ‘freedom’ from her

non-consensual marriage and sought restitution of conjugal rights.



This led to a nation-wide debate over infant and non-consensual marriage. The legal and
social controversies provoked by the case revolved round notions of colonial law, marriage
and conjugality, and the prospect of state intervention. BehramjiMalabari and

PanditaRamabai came to her defense and formed the RakhmabaiDefense Committee.

Q2. AR 38T & T3 H, 1884 I THATATS HTH T fohg forw am?

1. A3 T RIET ITet &7 HhR |
2. WA A I
3. ddrigeh 3TRhRT T GeredTv=|

ATl feT 1T e T 3ULTIT Fleh HET 3R YA

a. Faer 1312
b. Fae 23R 3
c. hael 131X 3
d. 1,2 3R3
3 (b)

fashed (b) TETg: 3. T@ATETS Hieprelt Rfercar 3R Afgemat & rf¥ert & a7 & 19487 7ér
1 3ra1-gq df| 3egiat 1891 H AfgN3i & faT FAlT & Y Feled H HecaquT i
foverms ofr| 1889 # et Topel 3Tt ATTHT BT TaAT H IHETTA F:XoA & oI TE R
ug el Ao fafehcaen Faii| 3oTehT faaTg 79RE a¥ T 3G & Soi1e auie arerelt ot &
&Y 31T AT| 3ot IR-TATH o fIaTE I HTSTIE BT AT I §U FHlofeil el T HIIT HT
3R darfeen 31fARY ST sgTely Hr AT FI|

SHY aTel 3N IN-HgATT faarg 9 Sreardt 954 &8 TS| 57 ATHS A 3cesd aefeil 3R
o faarg situfafe e, e 3R darfes dawr & aromstt 3R o &
GEIATT I GHTGAT & 3E-1A16 A | JgUHS ATAERY 3R GfSar TATETS o 3Aa srara 7§
3R TGATETS 6T AIATT T 315 TR

Question Type: Conceptual



Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern History of India

Concept:Peasant Movements

Sub-concept: Indigo Revolt

Q3. Indigo cultivation in India declined by the beginning of the 20th century because of

a. peasant resistance to the oppressive conduct of planters

b. its unprofitability in the world market because of new inventions
c. national leaders’ opposition to the cultivation if indigo

d. Government control over the planters

Answer: (b)

Option (b) is correct: New inventions took place in Germany where the invention of
scientific techniques like modern synthetic chemistry took place. By the late 19th century,
nearly all indigo came from indigo bush plantations in India. The Germans succeeded in
making it in the laboratory in 1878, but it took nearly three decades for the large-scale

production of synthetic indigo.

The breakthrough came in 1890, when Karl Heumann in Zurich found a way of making indigo
from aniline. A lucky accident at the German firm had a revelation that mercury was a
catalyst for a key part of the synthesis which led to production of synthetic indigo in 1897.
The synthetic dye was much cheaper and the final blow to the natural plant produced indigo
dye and indigo crop became a part of history for its unprofitability in the world market

because of new inventions.

Q3. AT 7 & fFg FROT & ART H SIGadr QTdTsel o JRFH H ailel T dT T eTd
g3m?

a. Yol 3 TGl oh AT 3TAROT & Ui HTIADRT T faRTer
b. TS @il & HROT fa2T ISR 3 SHBT AT BledT




c. oATel hT WY ST TSI AT SaRT [aRTeT foham ST
d. 3cUTGahl oh FURX IR HT IT0T

Answer: (b)

fashed (b) TEY §: ST H AT NTISHR gC ST IMYforeh [Afes wamae faamer s
AT Aehoflepl T ATASHR EIT| 1981 AT & 3T Teh, TIHIM ART ATl $RA & ¥rer
ST 3 3T SATAT AT STHA ST 1878 H TIRTRATAT H §o1TeT H BT g, oAfohet [@ATeH
Aol & 93 YA 9T 3cUTET H STITHT el &2Ueh ofdT T |

AT 1890 H A, ST SR F hiel EFFA o Uit Tolel A silel Feiled Sl Teh cIehl Wil |
STHe T H Teh HIIIRMTel HIATIT & Tg TEEANCHICH g3 o TRT FRATOT & Teh Jo G ST
asﬁmmmmﬂ?wmwﬁﬁfaﬁaé%mmmgamﬁfaﬁmgréaga
TEAY A 3R 1 Y 31dd: A0 3fasERT & HRUT 3 ST6R & ST ATHETT & HIROT
53 1S 31 sfrer 1 el 1 3cUTe FHYet aTel Tiehfde die 3fgTd &1 ve fewar ae1 arv

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History

Concept:Inception of western education
Sub-concept: William College Calcutta

Q4. Wellesley established the Fort William College Calcutta because

a. he was asked by the Board of Directors at London to do so

b. he wanted to revive interest in oriental learning in India

C. he wanted to provide William Carey and his associates with employment
d. he wanted to train British civilians for administrative purpose in India
Answer: (d)

Option (d) is correct: Fort William College was established on 18 August 1800 by Lord

Richard Wellesley, Governor General of Bengal in order to provide instruction in the



vernacular languages of India to the civil and military officials of the East India Company. It
was named after King William Ill of England. It was aimed to train British civilians for
administrative purposes in India,towards fostering of Indian languages and making the
British officials familiar with the local languages so that it could ease the administrative

work, as it involved interaction with the Indian natives.

Q4. FISTell o Shotehdl H Bic AT iciar Hr TaT9=T foh g forw i 22

a. 39 dlgeT # FEUd aYS 31 SRNEFCH & VAT il & folw g 2Tl

b. a8 IR H T AATeT o YT ATRST oT: ST hlalT ATg T AT

c. gg faforgesr 3 T2 3T TeAN AT I ISR TSI FHIAT ATEdT AT

d. ag fsfeer AraTRent sl s & wRIrdeT g FTRATENT T =gl T

fashed (d) TET §: WIC AT loiet T TATIAT 18 31ITET 1800 T §ITTeT & T STl el
drs RS Jorsrell g@nT $¥¢ SRAT Sel & AnRe 3N A= 3R # oRa &
TATHT HNT F AL ereT aat & forw fir 315 2| 57T AT S9ei5 & o AfemT 11 &
STH O T@T 31T AT| SHHAT 36arT AR H WeaAS 36t & fav fafeer Ammient
R $TT34T T Sgrar &of 3R fafeer 3Rl S vaeia st & aRfaa s &
fore wfifera s ar arfes g uemafae #1 Y 3TaTe 51 T, Fifh gemafas et &
HRATT Hof ATt & A1 Srereite Qfdrer 2T

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History

Concept:Tribal Revolt

Sub-concept: Ulgulan

Q5. With reference to the history of India, “Ulgulan” or the Great Tumult is the description

of which of the following events?

a. The Revolt of 1857



b. The Mappila Rebellion of 1921

c. The Indigo Revolt of 1859-60
d. BirsaMunda’s Revolt of 1899-1900
Answer: (d)

Option (d) is correct: Munda Rebellion was one of the prominent 19th centurytribal
rebellions in the subcontinent. It was led by BirsaMunda in the region south of Ranchi in
1899-1900. The Ulgulan, meaning 'Great Tumult', sought to establish Munda Raj and
independence. It is also known as the BirsaMunda’s Revolt of 1899-1900. The Mundas
traditionally enjoyed a preferential rent rate as the khuntkattidar or the original clearer of
the forest. But in the 19th century, this khuntkatti land system was eroded by the jagirdars
and thikadars who came as merchants and moneylenders. The government attempted to
redress the grievances of the Mundas through the survey and settlement operations of
1902-10. The Chotanagpur Tenancy Act of 1908 provided some recognition to their
khuntkatti rights and banned bethbegari. Chotanagpurtribals won a degree of legal

protection for their land rights.

Q5. HR & STIETH & HeeT H, “Sold[cllel” YT HEleT UG fietiaiad H & foney Tream
T faavor 4r?

a. 1857 & TagIg T

b. 1921 & AT TIaIg T

c. 1859 — 60 & #TeT TAGIg T

d. 1899 — 1900 *%Waaﬁa’rgw
Answer: (d)

faened (d) @Y §: AT faglg 3uAgieda & 1947 IdTsCY & Y@ Siofsilchy faclel # & v
UT| HHT AcJcd 1899-1900 H I & cfator &l & foAT a1 o foham AUT| FerTelret, Toraeht
3 HET Hlelleer &I &, T8 Tdalg AT ToTee H3T sl 3R T hr TATIAT hl HIIT |
$H 1899-1900 & TOXET HaT o facle & &7 & 8l ST Sl §1 HS13 1 IRARh &9 &




GehedleR I & &Y H A forrar fRerdr 41| AT 19 erdrscy #, 38 Tdehedl
HIA cTEAT ! SEIRERT 3N TSRERT SaART Seeeled Y AT 31T AT S sATITRAT A}
AIEHRT & T H 3T F| TSR & 1902-10 o FIETT AR et il & AreTs & Hesit
1 TR T fAaROT St &l 9 fhaT| 1908 & BICHATYR HRASRT JifAfage o
3eTeh GErhed! JARRT 3R JIAEIT SN Y $& AT YeTe HT| SRR H
INTEATREAT & 319 S HTARRT & TIT F6 82 cToh Plefelt G&T gTiee |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Art and culture

Concept:Language and Literature
Sub-concept:Kalidasa

Q6. With reference to the scholars/litterateurs of ancient India, consider the following

statements:

1. Panini is associated with Pushyamitra
2. Amarasimha is associated with Harshavardhana

3. Kalidasa is associated with Chandra Gupta-I|

Which of the statements given above is/are correct?

a. 1 and 2 only
b. 2 and 3 only
c. 3 only

d. 1,2and 3
Answer: (c)

Statement 1 is not correct: Panini was an ancient Sanskrit grammarian, and a revered

scholar in ancient India. Considered the father of linguistics, Paninilikely lived in the



northwest Indian subcontinent during the Mahajanapada era. His major work is

Astadhyayi (Astaka). His work is dated around the 3rd-4th century BC.

Pushyamitra Sunga (185 BC TO 151 BC): PushyamitraShunga was the founder and first ruler
of the Shunga Empire in East India. He was a follower of Hinduism. Pushyamitra was
originally a Senapati"General" of the Maurya Empire. In 185 BCE he assassinated the last
Mauryan Emperor, BrihadrathaMaurya, during an army review, and proclaimed himself

emperor.

Statement 2 is not correct:Amarasimhawas a Sanskrit grammarian and poet from ancient
India and was one of the Navratnas during the Gupta dynasty’s rule which happened
around mid-to-late 3rd century (approximately) to 543 AD. It was founded by Sri Gupta,

but the dynasty rose to fame with rulers like Chandragupta-l, Samudragupta, etc.

King Harshavardhana, also known as Harsha, was the son of PrabhakarVardhana.
PrabhakarVardhana was the founder of the Pushyabhuti Dynasty or the Vardhana Dynasty.
Harshavardhana is considered as one of the most prominent Indian emperors in the 7th
century AD. He built a huge empire that extended from north &northwestern India till the
Narmada in the South. His capital was Kannauj. His reforms and policies were generous

and were always aimed at boosting the peace and prosperity of his people.

Statement 3 is correct:Chandragupta Il, also called Vikramaditya, was a powerful emperor
(reigned c. 380—c. 415 c) of northern India. He was the son of Samudra Gupta and
grandson of Chandragupta I. During his reign, art, architecture, and sculpture flourished,
and the cultural development of ancient India reached its apex. Chandragupta-ll was
known for his deep interest in art and culture. Kalidasa was court poet of Chandragupta
Vikramaditya Il. He was a great poet and dramatist. His work Abhijanasakuntalam is one of

the 100 best literary works in the world.

Q6. TN TR o TaeaTsil/ATfecaeshRi & Ted H, rafaild w2« W faar fifsw



1. OTOIer gafds et & Hefera &,
2. 3G gYat @ HfAa .
3. WIfAEM Yegdled || § FeOT &

ST AT 3 & T T/ 2
a. $aer 1312

b. ahdel 2 31X 3

c. hddl 3

d. 1,231R3

Answer: (c)

T 1 HET 61 &: 0TI Teh YTeie] HEHl SAThIUTIAE AR ITeheT R H Teh HEATTAT
feare | HIITAATT & Sl A ST dTel IOl FAT: Hgloladc 3T & GRIeT 3t
QAT SR 3UAGIEAT H W & 3oTeh! 9@ FHich rsereardy (3rseeh) § | 37eht it
Iredr-itely QraTedy SHT qd & FTEAH A E |

TR T (185 5. T - 151 $.9,): TSITAT a7 YT R H T AT o HEATTh 3R
Tge AT | F fEq e oh 3Tl | TSITAT el T4 & R AHE oh Gl "sTerlel”
| 185 SAT YA H 3ogiel Yel 1 HHNET & SNt 31T A waare Jeay Al Hrgcar &
IR ge 1 gATe BT #:2 feam|

HUeT 2 TEY G182 IFETAGAH JTeleT $NC o Teh HEhcl SATRUITdE AR hid & 3 e
g & ATHA S GRIT Aol H H Toh &, THH G AATSET o HET (ST3T979T) I 543 SEAT
ofeh QT TohaT &T| SHeT TATTAT AT T[0T o T AT, olfehat TsTaer dg[Cel-|, I 3T
S TR o THYT 3ot Tcl I |

ST g¥ati, TSI g¥ & w1 & 81 ST STIclT 8, T8I aeied o I & | FeTreiaeled gsg8ifd
START AT FET G oh HEUTTh | gYAL I 78T AcTTsc] ST H HA YT HRAT HATC
H O T AT ST §1 3T Tah LTS ATHTT T HA0T g St 39¢ 31 391 afdas
IR & GFETOT 3 AT T thell E31T AT| SHAT AT Feeiler Y| 3Heh FR 3R Aforar
3G &Y 31 38T 35T AT 3191 ANl Y 2nifer 3R FHEfR I Ferar &= |




hUA 3 T g dedd afadr, o fasarfeea ofr shgr SiTem 8, 378 IR 1 Uh
QITFCTRTCT HHTC (QTHeThIST 380-415 3. ) UT| T8 FHGI Tl oh T 3R TI[ocd TUH o Uil |
3 QATAADIA & GRTA, Hell, Il IR Ffcehe T G 31 IR ArdiieT AR
HIEh e faehTd 37T IR I Igd IT| Aga[ed-&facig dell 3R TEH{d & e 2%
forT Set ST | Fifererd dgred fasarieea gfada & cxarl i3 ¥ 9 v FglT wia
3R FATCRHR Y| SoTehl it ATFATAURTH i1 & 100 FIASS Aiigieash Hicdat Ha
TH gl

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History

Concept:different philosophies

Sub-concept: Gandhi am and Marxism

Q7. One common agreement between Gandhism and Marxism is

a. the final goal of a stateless society
b. class struggle

c. abolition of private property

d. economic determinism

Answer: (a)

Option (a) is correct: There is a great similarity between Mahatma Gandhi and Karl Marx.
However, while the final aim of both is the establishment of a stateless and classless society,
their means for achieving this aim are different. For Mahatma Gandhi, in an ideal state,
there is no State which he wanted to achieve through non-violent means but Marx, who
saw State is an instrument of oppression and an organ of the bourgeoisie that only works for
maintaining the class dominance, wanted a stateless society by striving for class struggle

and revolution.



Q7. arefare 3R ATFdare & $ Ue Qi gHEsiary

a. Ueh I AT &1 37Tad o8
b. 3T - guy

c. [CEIKEICCIE COl

d. i Aadcaare

Answer: (a)

e (a) TET &: FETCAT el 33X Tl AT & ST Ueh 921 HTIT & | §TellTeh, ST e glat
&1 31T 3652T T Toafagia 3R T TATST T TATIAT §, S & HT ITod el h
3oTeh AT 37eT9T-37619T & | HETCHT el o fIT, Uah 317eey T &, VT s ToT 81 ¢ o
d 3fgas dlHr ¥ gfiel e argd &, aifchet ATy, 8= ¢@r o T5T AT & Th
3YRIUT § 3 Gt F3T T Teh 3797 § ST shelel T3 F3Icd SATT Wi o foTT &hH Hlell &,
gt Foy 3R wifd & forw gamd ik ve TsAfagl GATS argdr 4|

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History
Concept:Administrative system

Sub-concept: Baniyan Mirasidar

Q8. With reference to the history of India, consider the following pairs:

1. Aurang :In-charge of treasury of the State
2. Banian : Indian agent of the East India Company

3. Mirasidar : Designated revenue payer to the State

Which of the pairs given above is/are correctly matched?

a. 1and 2 only
b. 2 and 3 only

C. 3only



d. 1,2and 3

Answer: (b)

Pair 1 is not correctly matched: Aurang, a Persian term for a warehouse —a place where

goods are collected before being sold; also refers to a workshop.

Pair 2 is correctly matched: The use of intermediaries with expertise of the local markets
and languages became common in the 18th and 19th centuries because of the linguistic
difficulties and cultural barriers faced by European merchants, who opened and deepened
trade routes throughout Asia, Africa, and Latin America. The intermediaries, called ‘banians’
in the Anglo-Indian trade, fulfilled various internal and external roles for trading companies
including, managing treasury functions, securing credit, and acting as brokers in the local
markets. They were the interpreter, head bookkeeper, head secretary, head broker, the
supplier of cash and cash-keeper. Also, they were known as the Indian agent of the East

India Company.

Pair 3 is correctly matched: Under the ryotwari settlement system, the government
recognized mirasidars as the sole proprietors of land, dismissing tenants' rights completely.
Mirasidars were the designated revenue payer to the State. Only in villages where
mirasidar system was absent, the villagers holding permanent occupancy rights were

recognized as landholders responsible for the payment of land revenue.
Q8. $TRd & 3fderd & Hesl #, fArfafed goat X faar fifsre :

1. 3137 - TSThIY T FHRY
2. AT - ST ST Fue F71 IRAT Toic
3. AR - U=g &1 a1f@a Usrea erar

U AT H § HloA-A1/A T GATAT /2 ?
a. shael 1312
b. hael 2 3R 3



c. hddl 3
d. 1,233

Answer: (b)

ZaH 1 GATOI =AeT g 3T, Teh NETH o T Ueh BIRAT 2Asc; - Teh STIE STET ATl S
g ol Uehd [T SITaT & | 2rsg Ueh ShIRITelT o o Hefid siar g |

IH 2 FeT AT g: 18 df 3T 19 df AATSCY H TUTHAT STSRT 3R A3 ¥ faQrsrrar
arer foratferait s 39T JUAT cATaTRET GaRT HIHAT & Sile dTell HTNTS hisargal 3N
AIER{ceh STUT3il & ROT 31 g1 I, JUd eararRar & g ofdram 3 oifeet 3R,
37ShTehT ' SATIR AT T Trell HIX 3eTehl STST T FHoTe [ohdT| IHTel- AN AT H
feaiferat, oeg ' Yfaare w1 Sar €, & saaRes sufaat & fow _ffesT 3malke ik aed
AT 1 T fora, foraet Sorlt st &t geere, shfse grfde e iR Tl aeRt &
eTell & T F 1 HAT AMAS ¢ F g, JerreT Hoha, werel e, Jere o,
TRET & 3Mqfciehdl HR FHET @ aTel | AT &Y, Fog SEC STSAT AT & HRAT ToiT
G H SATAT ST AT

3R 3 TEI ATl g TIAATS! Selaed YOTell o d6d, TR o [ATTHGRT T o7 &
THATT ATfeh & & H AGAT & R FRIAERT & 3TARRT I 70 e § Wriket I |
TR T & fow arfaa Toreg arar &1 Fad 37 Inar & g7 AHER JoTer
U o, TUR g@el 3SR I@A arel AT A HIToRT F 3T & faTw
fSIFAeR $fAURS & &9 # AFT & 778 o7

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Ancient Indian History

Concept:

Sub-concept:



Q9. With reference to the religious history of India, consider the following statements:

1. Sthaviravadins belong to Mahayana Buddhism.
2. Lokottaravadin sect was an offshoot of Mahasanghika sect of Buddhism.

3. The deification of Buddha by Mahasanghikas fostered Mahayana Buddhism.

Which of the statements given above is/are correct?

a. 1 and 2 only
b. 2 and 3 only
C. 3 only

d. 1,2 and 3
Answer: (b)

Statement 1 is not correct: The first division in the Buddhist community occurred in 383
B.C. The order broke into Sthaviravada (in Pali Theravada) and the Mahasanghikas. While
the Sthaviravadins were believers in the teaching of elders, and orthodox school. They did

not belong to the Mahayana Buddhism.

Statement 2 is correct: Subdivisions of the Mahasanghikas included asect of Lokottarvadin
whose philosophy was based on the concept of Lokottara Buddha or Supernatural Buddha.
Hence, Lokottaravadin sect was an offshoot of Mahasanghika sect of Buddhism.

Themajor split took place during the reign of Kanishka in 100 A.D. and there emerged two
sects: Hinayana or the Lesser Vehicle and Mahayana or the Greater Vehicle.

Statement 3 is correct:Mahasanghika Paved the way for the emergence of the Mahayana
sect of Buddhism during the 4th Buddhist Council. Mahayanist gave prominence to the
Bodhisattva ideal. Thus, the deification of Buddha by Mahasanghikas fostered Mahayana
Buddhism.

Q9. {RA & UTTH® STAg & A H, e Taiad a4« R AaR fifaw:



1. TYORETE AT Sy A & HIeH §.
2. AIRIRATET UG SiGH € & HAgrTee T9er i Teh ATaT 2.
3. HAGIHTEh GaRT & & SacaRIvOT o HETITST SIG €3 &l WcHTigd fohaT.

3uded FYUA F A FIT-A/F TEE/E ?
a. shael 132

b. &haol 2 3T 3

c. hadl 3

d. 1,23R3

Answer: (b)

YT 1 TET 6 ¢: Sley FHarT H T2 I9sleT 383 5.9, H g3 FHG TR (el
Iare #) 3R Agrafos F R{fad & ™7 a9 a% TUfaae ‘Avs F=r Fr a1a7.31R
Ffeard faaRumT # faeara W@d | A AT iy 9A & Fafad w781 |

FUT 2 Tl §: ARG Sl IULMEIHAT H ArepiRarer F9er afae a1 raer gdfa
STRIIR e AT 37ellfoheh el I FTUROM W IR AT| SAFAT, eehraRarer Toer
Sicer YA & HAgra O GG I Ueh emar A |

100 SEAT & s & ATHTHIA % ERTeT T TAsTsTeT §31T 3R 2 TYery 33 &gt
3R AT |

HYUT 3 Tl o: AgrafURr o el dicy aRvg & gRIe dicyr Ya & AGRITST HUGIT & 367
ohT HIET TRIE TohaT| HERAATEr o Sfedcd 3eel S 7@ &1l 58 YehR, HeTH e
AR &8 & SacaTele] o HETITeT sIGE &3 &l Forar i

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: art and culture

Concept: Industrial Revolution



Sub-concept: handicraft

Q10. Which of the following statements correctly explains the impact of the Industrial

Revolution on India during the first half of the nineteenth century?

a. Indian handicrafts were ruined.

b. Machines were introduced in the Indian textile industry in large numbers.
c. Railway lines were laid in many parts of the country.

d. Heavy duties were imposed on the imports of British manufactures.
Answer: (a)

India was a major exporter for textiles in the early 18th century, but by the middle of the
19th century it had lost all of its export market and much of its domestic market. At the
beginning of the Industrial Revolution, cotton industries were developed in England which
made industrial groups worry about imports from other countries. The government was
pressured to impose import duties on cotton textiles so that Manchester goods could sell in

Britain without facing any competition from outside.

Option (a) is correct: At the same time, the East India Company was also persuaded by
industrialists to sell British manufactures in Indian markets as well. Exports of British cotton
goods increased dramatically in the early nineteenth century and the export market of the
cotton weavers collapsed. Produced by machines at lower costs, the imported cotton goods
were so cheap that weavers could not easily compete with them. By the 1850s, reports from
most weaving regions of India narrated stories of decline and desolation. Thus, Indian

handicrafts were ruined as one of theimpacts of the Industrial Revolution.

Q10. fAFfAf@d 7 & Sia-a1 et A TNF Fifed & ganT Ie=had erared) & qarey 7
HRT I I3 THTT hT HEY SATEIT HIAT 82

a. AR GETHRI-3ETNT TS g a7 .

b. R & TEF-3CNT H AN T ST HEIT 3 T G 2T,




c. CIRT % 3He1eh 71T A Yerd TS foros a7g 2ff.
d. fSfeer scute & 3maTd TR SIRY Qe ST 12T AT,

Answer: (a)

18T QTAATSCY T B3NN H Rl A AT Teh JHW TAATcieh T, olfehet 19T AT & HE
e T 3791 T ol STty 31X 310y Jrfererer el TofX &t @ o am| i
STl ST AT #, $7eI3 7 FHU 32T fahfAd gu e e foren Faggh 1 3= it
ﬁm%aﬁﬁﬁlﬁg@l TR TR FAT IET TR AT ek o3MTed T SaTd STell 1T
dTfeh AeTUEeR T TTATA Toie H o= fondT aTedt afaeTat & fos ah|

faehed (a) TET &: 3T GHT #, ST ST =T Y 8t SeATATAT GaRT HRCA SR &
ol Tofeer scurel sl Saet & forw ISl foham 91 AT| SeeiradT QrdTsdr & &3t # fafeer
it FATAT o 71T F ATCHT T F G4 §5 3R el FoTet 7 72T TR e &7
7| A AT R ALMAT G@RT Scurfed, 3mATfdd U & FAT Sl TET A & Foaht
3TTETAT & 3eTehT HRTSCAT AL Y Tehd A| 1850 & &R cTeh, IR & TR TS &1 Sl
Reatet # foRrae 3R A hr Shgtiardn s H1 315 | 38 TR, HeH e i & wemmar &
H T Ig AT Toh HRATT gEd e 947G, g1 1T |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Ancient Indian History

Concept: historical events

Sub-concept: chronology

Q11. Consider the following events in the history of India:

1. Rise of Pratiharas under King Bhoja

2. Establishment of Pallava power under Mahendravarman-I



3. Establishment of Chola power by Parantaka-I

4. Pala dynasty founded by Gopala

What is the correct chronological order of the above events, starting from the earliest time?

a. 2-1-4-3
b. 3-1-4-2
C. 2-4-1-3
d. 3-4-1-2
Answer: (c)

The Pallavas were a powerful ancient dynasty that ruled a huge part of Southern India,
including present day Tamil Nadu, between the 6th and 9th centuries AD, with Kanchipuram
as their capital. The Pallavas reached their zenith during the reign of Mahendravarman |

(600-630 AD), a contemporary of Harsha and Pulakeshin 1.

The Pala Empire was an imperial power during the post-classical period (8th and 9th
century AD) which originated in the Bengal region. The empire was founded with the

election of Gopala as the emperor of Gauda in 750 CE.

The GurjaraPratihara dynasty was founded by Nagabhatta | in the region of Malwa in the
8th century AD. He belonged to a Rajput clan. The Gurjara-Pratihara dynasty ruled much of
Northern India from the mid-8th to the 11th century. The greatest ruler of the Pratihara
dynasty was MihirBhoja (836—885 CE). He recovered Kannauj (Kanyakubja) by 836 A.D, and it

remained the capital of the Pratiharas for almost a century.

The Cholas became prominent in the ninth century and established an empire comprising
the major portion of South India. Their capital was Tanjore. Aditya | or Aditya Chola, the son
of VijayalayaChola, was the second ruler of the Medieval Cholas. The Chola ruler Parantaka
succeeded his father Aditya | on the throne in 907 AD and ruled for forty-eight years. Soon
after his accession, as early as 910 AD, he invaded the Pandyan country and assumed the

title Maduraikonda (‘Capturer of Madura’).



Q11. {RA & sfag #H FeaTai@d gears3ii ) TaRr fifae

. TSI ST & 37efeT FTAeRT &l 36T

. AgeaaAeT -1 & 3eileT Toold Hal T T
QRTecTeh -1 GaRT Tlel Hell T TATIAT

. IMYTeT GaRT UTeT TSTALT hT HEATTSAT

5w N R

Sq?gaﬂamﬁar, YTl &hlel T 3TFH &Y, H'e?rchlouagqaﬂ FATE?

a. 2-1-4-3
b. 3-1-4-2
C. 2-4-1-3
d. 3-4-1-2
Answer: (c)

Joold Ueh ATFARATT U=iieT IaTaer AT et 6 df 3 odT Aarsdy ST & & g
dffeg Afed afarol TR & e 93 fowd o emae fomam 27 foreteh Trstenei shegeaT ot
| 8Y 3R GAhRIT AT & HARIIT Agaadel TUH (600-630 SEY) & ARl &
RIS Tedd 319e) TR W |

qTel ATHTST 3AR-ATEATT ahtel (84T 3R 9dT eraTedT 3EdT) o ST Teh QMET i o, foraehr
%q%a?ﬂsraﬁsrﬁgé%ﬁl AT T AT 750 §. H 71l5 o HHIC o & H IM9Te o Iolrd
a:magé oY

TS ITER G T TATYAT ANTHEE TUH o HiofaT &1 H 8df erclrsdl $. & 1 or| a8 Th
ST 2T H ATeeleh AT AT| ToR-TTAgR G o ¢dl § 14T AATSET & HEF Teh 3T AR
o 31TreRTer 19T 9T AT foha| UTAgTR aer 1 a8 #glT e AR 1T (836-885 S&dT
) UT| 3T 836 $. Teh howilol (hedTehest) Tl JoT: YT TohdT HX Tg ST Teh AATSET Teh
AfagRY I TeTensir 5= T |

AT AraTSET F AT 3ooTd 81 3T 3R Ueh HTHTST bl TATYT T TorgdH SFayuT IR T §2T
fREaT A AT| ShT TAUTAT d<iiX 2| 3T w2 a1 3nfecy ard, fasarey ave r




9, AEYHTCANT dlcl T AT AHH AT| el AMFh Rlecdeh Hl Hcg IWTed 3TN IF
3T 9U# 907 SEAT # IS W 3T 3R HSATed aut de AT fRaT| 39e TSARIgoT
& X T, 910 $EAT H, IHA UTUSY =T UX IMhAUT haT R FASIHIST (‘FHGY FT Feoll
et arelr’) S 3aTfer e fir |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Medieval Indian History
Concept:financial system

Sub-concept: Hundi

Q12. Which of the following phrases defines the nature of the ‘Hundi’ generally referred to

in the sources of the post-Harsha period?

a. An advisory issued by the king to his subordinates
b. A diary to be maintained for daily accounts

c. A bill of exchange

d. An order from the feudal lord to his subordinates
Answer: (c)

Option (c) is correct: The movement of goods during the Medieval period was facilitated by
the growth of a financial system which permitted easy transfer of money from one part of
the country to another. This was done using Hundis, which were instruments of credit or a

bill of exchange. The Hundis was a letter of credit payable after a period at a discount.



Q12. AFaff@a & O SiF-91 3aey, Ia-gv-Freld dl & 9: 3fedaiad §??r F
AR T IRHATIT TATAT 62

a. TSI GaRT 319+ 3TETET T fem arar oy
b. gfafeet T S @T-SGT 3ifehd et aTel Jar

c. [CIGLERE]

d. ATHT AT 3791 3TeNTET T feam a1 meer
Answer: (c)

Aared (c) TET &: FAETHToNT T & SRIT ATeT T ITATTRY Teh [T YuTTell & f3sprg &
TITA g3 FoTae SU & U T8 @ q@ foed 1 e & AT &A1 T A Al &1 T8
EIST T 3T h3eh TR a1 2T, ST i3 & Fneret A1 fafedsd & e T g v ge
T I7ATe & Te; &I T 97 27|

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History

Concept:Indian freedom struggle

Sub-concept: literature

Q13. With reference to the book ‘Desher Katha’ written by Sakharam Ganesh Deuskar

during the freedom struggle, consider the following statements:

1. It warned against the Colonial State's hypnotic conquest of the mind.
2. It inspired the performance of swadeshi street plays and folk songs.

3. The use of ‘desh’ by Deuskar was in the specific context of the region of Bengal.

Which of the statements given above are correct?

a. 1and 2 only



b. 2 and 3 only

C. 1 and 3 only
d. 1,2 and 3
Answer: (d)

Statement 1 is correct: Sakharam Ganesh Deuskar (1869-1912) a close associate of Sri
Aurobindo was a marathibrahmin who had settled in Bengal, Sakharam was born in Deoghar.
His text, titled Desher Katha (Story of the Nation/Country), written in 1904, warned

against the colonial state’s ‘hypnotic conquest of the mind'.

Statement 2 is correct: This book had an immense repercussion in Bengal, captured the
mind of young Bengal and assisted more than anything else in the preparation of the
Swadeshi movement. The government of Bengal banned the book in 1910 and confiscated
all the copies. But by the time DesherKatha was banned by the colonial state in 1910, it had
sold over 15,000 copies, inspired swadeshi street plays and folk songs, and had become a
mandatory text for an entire generation of swadeshi activists. Deuskar used ‘desh’ to mean
nation. It is worth quoting part of an article “AmaderDesher Katha” [About our Country],

that appeared in the children’s periodical Prakriti [Nature] in 1907.

Statement 3 is correct: The interpretation of Bengal as ‘desh’ can be seen in the book.

Hence, use of ‘desh’ by Deuskar was in the specific context of the region of Bengal.

Q13. AT FIATH & FAY [T IS FERTH 0NN EIERT bl TETh “GI HAT” o ey
H, o fad sy= R aar I

1. 38 Y& o AT TeT qarT AfETSH 6T HFaATge [aora & faver 7 Udrasit
ar

2. U TE of TCRN s FAICeht T witeh il bl TR fehaT

3. C3EH GART “CRI” 2UE T TN, ST 419 o TafRIse Hget # fora aram o

SUF HYA H G HlA-T TENE?



a. $ae 131X 2

b. Fad 2 3iX 3
c. $aed 1313
d. 1,2 3R 3
Answer: (d)

FYUT 1 TET §: TWRTH 0T S3TRT (1869-1912) AT IRTIET o Tk el TN Teh ARTST
STEAUT ¥, ST 99T H 99 3T &, GWRTH FT 5o d IR ﬁg’:&ﬂ AT| 1904 H foEY 715 22X
HUT (TSE/SA T Fhglatt) MR T 3eTeht Hid & RS ToT earT ATETSH I
HFAIgH Taorg & faer A Idra=Ar S|

hUeT 2 HET §: S TETh I SaTTeT ﬁqu ST T#Td ST, S8 aT STl oh fCHTIT TR el
X forar 3R Tacel 3niciere hr 3l & fral 37 O & SI1ET A d| 1910 H 96l
TIHN A 38 TEIeh R fAaer o9 feam 3R Fofy wfcam stect oY off | oiferet STa e 1910 &
3afAafIe ToT ganrT 2R HAT 9 YfATE ST 3T, 99 deh ST 15,000 ¥ 3HfAH
Sfcrar foren et T, Toree TaeRll wferhs wATeeht HR witeh aiicl st IR T &, 3R E@e=i
HRIFHATIHT Y Teh T A & FIT Teh AR aT6 1 917 AT| G3FAT o Tsg & forw g
ATeG T T FohdT| Tg Ueh A "3AGIGIR HAUT" [FAR U & IR H] &I Teh 372 3eYd
aﬂﬁm%,a#1907ﬁaﬁﬁ£rmﬁ$q§%ﬁwﬁa§mml

hYeT 3 HET §: ‘A & T H SISl I SATEAT JEcleh H ST ST Hebell ¢ | SHTAT, SIEH
CART “CRI” 276G T YT, ST 819 o faferse Hedt # foram arr |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian History

Concept:Indian freedom struggle

Sub-concept: Gandhi-Irwin Pact

Q14. The Gandhi-Irwin Pact included which of the following?



1. Invitation to Congress to participate in the Round Table Conference

2. Withdrawal of Ordinances promulgated in connection with the Civil Disobedience
Movement

3. Acceptance of Gandhi’s suggestion for enquiry into police excesses

4. Release of only those prisoners who were not charged with violence

Select the correct answer using the code given below:

a. 1 only

b. 1,2 and 4 only
C. 3only

d. 2,3 and 4 only
Answer: (b)

Option (b) is correct: Gandhi-Irwin Pact was signed by Gandhiji on behalf of the Congress
and by Lord Irwin on behalf of the Government, on 5 March 1931. The pact placed the
Congress on an equal status with the Government. The terms of the agreement included
immediate release of all political prisoners not convicted of violence, remission of all fines
not yet collected, withdrawal of emergency ordinances promulgated in connection with
the Civil Disobedience Movement, return of all lands not yet sold to third parties, to name a
few. The viceroy, however, turned down two of Gandhi's demands which included public
inquiry into police excesses and commutation of Bhagat Singh and his comrades' death
sentence to life sentence. Gandhi on behalf of the Congress agreed to suspend the Civil
Disobedience Movement and the Congress got the invitation to participate in the next

Round Table Conference.

Q14. iref-sefaa gasia & Rafaf@a & @ Far aEafaa a/d?

1. Il AT TFHNT H HIT et & foIT 1T &Y 3MAAT HLAT
2. 3TN 3cTeled oh TG H SR fohT 3T TEITCT T aTIH ofell
3. qferq 1 SAIE AT T Sl ¥el g SN & Fra S Fpict
4. oo 3el higar Hr Rers foreT g &4 ot 31t AT A8 2



AT f&T 31T e T JAT T FET SR YT :

a. hdd 1

b. Fad 1,234
C. hddl 3

d. $ad 2,334
Answer: (b)

faohed (b) TEY 8: IMEN-SaeT FASHA W FHIAF I 3T MRS GaRT HR TIHR Hr 3R
 Ais AT @RI 5 AT 1931 FI gEATER FT IT &| 37 FHSHA oF HTIT Tl TFHR &
IS T ST feam| Fasita 6 ordf & Far & ey iy Tereifaes $Hieat & dcre RErs,
3780 TR Uehd 16T fohT 91T Hel STATe Y e, Al 3raar JHicTelel & Hetr H geariid
HTIThTON IEATCRIT T ATTH AT, 3oT TT S BT Aoy enfarel § St 373 ek ey et
H G S IS F FTellen, AT o A H & A@ B g &7, Gwd gfow
SAEfaal $r Araatias s 3R 191 &g 3R 370 arfdat fr #ia Hr g o 37 7
JeoleAT i AT| HEE & 3R & T GfaaT a1 3McteleT Sl TANT et & folw
W?Wmaﬁmdﬁdﬁd TFAT H HIET oo T [FHATOT 7 e

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Modern Indian

Concept:social reforms

Sub-concept: Gopal baba walangkar

Q15. The Vital-Vidhvansak, the first monthly journal to have the untouchable people as its

target audience was published by

a. Gopal Baba Walangkar
b. JyotibaPhule
C. Mohandas Karamchand Gandhi

d. BhimraoRamjiAmbedkar



Answer: (a)

Option (a) is correct: Gopal Baba Walangkar, also known as Gopal Krishna, (1840-1900) was
an activist working to release the untouchable people of India from their historic
socio-economic oppression. He is generally considered to be the pioneer of that movement.
He developed a racial theory to explain the oppression. In 1888, Walangkar began
publishing the monthly journal titled Vital-Vidhvansak (Destroyer of Brahmanical or
Ceremonial Pollution), which was the first to have the untouchable people as its target

audience.

Q15. 3FYRY FHCTT o W91 i AT&TT X, FUH ATAH YA feTel-[ataden fhaeh carT
YeRITRI 1 315 2A1?

a. INYTST ITST TR

b. cali?-lal gﬁ

c. HIgAeTH hiadeg, YT
d. g THS FagaT
Answer: (a)

faehed (a) FEY §: TNTTCT ST AT (1840-1900), fSieg IMYTel HSUT & &ATH & &Y STe
ST 8, TRl o 37 @It T Soteh WgTTen AraATiSien-31miieh Sciised & Hebd el &
foIT 1o Xt aTel Ueh iiehdT | 3¢ 31T AR W &leld g Telel o 3ol AT ST ¢ |
3ogiel 3cUISeT T STEAT el & foIT Ueh AF [Acurd fawfad forar| 1888 #, arelera
o ATgC-fAUTYUR (STEACUTATET AT eSSl {aieh TGWUT T fAATIh) ATHE HITHH TiAHT
TRTIRICT AT I T, ST el oAl19il ohl 379 IT&TcT Geiehl o & & Tt aTell Yol e el
|

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Ancient Indian History

Concept:Gupta Economy

Sub-concept: kulyavapa and dronavapa



Q16. With reference to the history of India, the terms ‘kulyavapa’ and ‘dronavapa’ denote

a. measurement of land
a. coins of different monetary value
b. classification of urban land

c. religious rituals

Answer: (a)

Option (a) is correct: Gupta Economy: The agricultural crops constituted the main resources
which the society produced and a major part of the revenue of the state came from
agriculture. There are various types of land mentioned in the inscriptions. Land under
cultivation was usually called Kshetra, Khila was the uncultivable land, Aprahata was the
jungle or forest land, Gopata Sarah was the pastureland and Vasti was the habitable land.
Different land measures were known in different regions such as Nivartana, Kulyavapa and
Dronavapa. In the inscriptions of Bengal, terms like Kulyavapa and Dronavapa have been
used. It is not possible to classify the regions precisely according to the crops grown, but all
the major categories of crops — cereals like barley, wheat and paddy, different varieties of
pulses, grams, and vegetables as well as cash crops like cotton and sugarcane — were known

long before the Gupta period and continued to be cultivated.

92T 16. TR & 3fAgTH & Haet #, ‘Fegaq' 3R Qorad ereg T fAwfia v 81
(a) T AT

(b) Tt g Fea & T

(c) QrELY #7fF 1 aafichor

(d) enféien 3reTsaTet

3<: (a)

faehed (a) FET §: I[ocT IrieTaeUn: HY HH FATST & ScuTied FATT GHTH grar df 3R
T & ST T Teh §97 GEAT I & 31ar 7| 3ifHerdl 7 fafeeer yhr & 8fa @t
Soold AT &1 Wl & T8 3R Y HTHCR TR &1 gl ST AT, T&elr 3ehiy o o,
3ORTE STeTel AT et f &Y, MU ART IRMENE AT 3R G el AT offF | forarctsT,




Fogaq 3N Qroray S faffies &=t # faffiest offf A9+ 9| St & JfFerar 7
FHoadaT R QIUTay SIY Qrsel T FIeT fohaT ITT | 39S STt aTell thlfell & 3(TAR &¥at
T HEI G FAT TG LT &, Afched Bl T T TG ATOTAT - 37eAToT S 5, g
3T a1, RffesT R &1 arel, Tar 3R feaar 3 1Y & g 3R 3ear ST T
hHel - T HTel @rdgd Ugel AT 2T 31X SoThT Wil et STy 27|

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: ancient indian history

Concept: religious pratices

Sub-concept: Ashoka

Q17. Who among the following rulers advised his subjects through this inscription?

“Whosoever praises his religious sect or blames other sects out of excessive devotion to his
own sect, with the view of glorifying his own sect, he rather injures his own sect very

severely.”

a. Ashoka
a. Samudragupta
b. Harshavardhana

c. Krishanadeva Raya

Answer: (a)

Ashoka, also known as Ashoka the Great, was an Indian Emperor of the Mauryan Dynasty.
He ruled almost all of the subcontinent from c.268 to 232 BCE. He adopted Buddhism in the
9th year of his reign after winning Kalinga. Ashoka’s edicts are mainly concerned with the
reforms he established and the moral principles he recommended in his attempt to create a

just and humane society.



Option (a) is correct: Major Rock Edict Xl of Ashoka reads, “Whosoever praises his religious
sect or blames other sects out of excessive devotion to his own sect, with the view of

glorifying his own sect, he rather injures his own sect very severely.”

T 17. eI f@d 7 & forg amdes o 39 RAIdTeRg & ATCTH § 319! Tl T Telig or 21?

"SI 1S 3t 37T AT Y TRIAT AT § AT 379 TS FI 31T TF HiFT & 37 Toerat
I EIY T &, 37T AT hT ATGHT et T ToC T, I8 3791 &7 A9 I Tgd R TTH
AT R 1"

(a) 372MeR

(o) T

(c) gt

(d) FSUTET I

3dY: (a)

3720, T 37 HAGTT & A1 I oY SIeTT SA1aT &, AT 927 &7 Ueh IRAT THTE 27| 3781
SITHIT G IUHBICAIT W 268 §. H 232 §. Y4 deh ATHT ThaT| 3egiel Shielal el & G
3 QAT & 9d aY H Sietr U HIARIT| 31MTeh o AU HET §I  IeTeh GaRT T
FURT 3R U =rqoT 3R AT GATS S0l o 3796 TATE H GSHIT IV Afcreh [@etriat
R EIRC R

faehe (a) GEY &: 312 & TIE RIcTel@ Xl 7 for@r g, "Sil IS 81 319= Fvery & gerar
AT & T 39T FYSTT I i AfFd T 31T TUSTAT HY Q1Y T &, 39 TS H
HATEHT et T TS H, T8 3191 & AU afrqu TR T J AfeT FAT 8|

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Art and Culture

Concept:states

Sub-concept: famous places

"Q18. With reference to the history of India, consider the following pairs:

Famous Place Present State



1. Bhilsa Madhya Pradesh
2. Dwarasamudra Maharashtra

3. Girinagar Gujarat

4. Sthanesvara Uttar Pradesh

Which of the pairs given above are correctly matched?

a. land3only
a. land4only
b. 2and3only
c. 2and4only

Answer: (a)

Pair 1 is correctly matched: Vidisha is an ancient city in Madhya Pradesh state in India. It is
also the administrative capital of the district with the same name. It was known as Besnagar
in ancient times. During the Medieval period, Vidisha city was known as Bhilsa. Emperor
Ashoka the Great of Maurya Dynasty served as the governor of Vidisha during his father’s
regime.

Pair 2 is not correctly matched: Hoysalas had their capital at Dwarasamudra, the modern
Halebidu in Belur Taluk. It is in Karnataka.

Pair 3 is correctly matched: Girinagar is one of the most ancient 22" Jain Tirthankar Lord
Neminath Prabhu Kshetras in India. It is in Junagarh district of Gujarat.

Pair 4 is not correctly matched: Thanesar (sometimes called Thaneswar and, archaically,
Sthaneshvara) is a historic town and an important Hindu pilgrimage centre on the banks of
the Saraswati River in the state of Haryana in northern India. Prabhakarvardhana was a ruler
of Thanesar in the early seventh-century CE and was succeeded by his sons, Rajyavardhana

and Harshavardhana.

"Q18. TR & 3fagr & Hedl #, fArfafid goal R faar fifsre:
SfAgH T adATT T
1. $frerar AETweer

2. CARHAG AGRISG




3. fARETIR IreRTe

4. TYT12aT ITRICLT

FW QU T 7 AT & § wler-a1 Fgr FATT &2
(a) haer 131X 3

(b) el 1 3iR 4

(c) Faer 2 31X 3

(d) shael 2 3 4

3<: (a)

7 1 6T GATA &: fafeer IR & Aeg geer Tsg 1 U JrelleT AeT &1 Jg s A @
Srer I memafae Torrer 6 §1 Ui STl H 59 dTAIR b oA & ST ST AT|
ATt H fafeem 2eT ofierar & S & ST SI1ar A1) A 927 & AT THTE 320
319t T & e o gRTe fafeRm & Tszrarer & w9 & & fham|

g3 2 TE GATAT 6T &: FIAHT Y TTHTelT GaREeG &, S ST arele  3Yforan
goITag AUT| JE hefleeh A Y|

7 3 TEI AT g MRTIR AR 7 qardt 9Ty 22  Sif cirdfent $7araTet STdema 93]
811 3 8 T § | IE IR & SEAHTG forel 7 ¢

A 4 TE GATAT §: ATaT (FaM-aeT ATeIvan &gl A1 § 3R, [ §9 8, TAERER)
AU AR A gRATOT T F TEIA A8 & e W T Wfagrfaen e 3R v Ageayot
feq ewer | Terreniatiel ATl QATSET #h T H AT T A AT 3R 3Hh IF
Tgatie 3R gHTHeT o 3T IA TR o1

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Ancient Indian History

Concept:Gupta dynasty

Sub-concept: Administration

Q19. With reference to the period of Gupta dynasty in ancient India, the towns

Ghantasala, Kadura and Chaul were known as



a. ports handling foreign trade
a. capitals of powerful kingdoms
b. places of exquisite stone art and architecture

c. important of Buddhist pilgrimage centres

Answer: (a)

Option (a) is correct: Indian examples of Ancient submerged Port Towns: In India, evidence
of ship building, port and warehouses installations are datable to Harappan culture. The
same maritime traditions continued even during the lifetime of Buddha, the Mauryas, the
Gupta and in later periods. During the historical period India had trade and cultural contacts
with Egypt, Rome, Greeks, Arabs, China and almost all Southeast Asian countries. through

these ports.

The ports on the west coast were Barygaya, Suppara, Calliena, Semylla, Mandagore,
Palaepatme, Malizigara, Aurranobbas, Byzantine, Naura, Tyndis, Muziris and Nelcynda and
the ports on the east coast were Tamralipti, Charitrapur, Paluru, Dantapur, Kalingapatnam,
Pithunda, Sopatma, Ghantasala, Poduca, Puhar, Korkai and Camara. In the Andhra region,
the ports were Kadura and Ghantasala, Kaveripattanam (Puhar) and Tondail. These were the
ports of the Pandya region. The ports of Kottayam and Muziris were on the Malabar coast.

There was a great maritime trade between India and Southeast Asia and China.

9T 19. Uil 3Rl H [T G o el & Headl H HUCRITA, Thedl AR =iel IRt T
ferafere S Sirar ar?

(a) faeeft =TI A G aTel SEL@TE

(b) erfFaerelr Tt i Terenfaar

(c) 3TH YeAR Fell 3R AR o TUTeT
(d) Sheer Y wuer

3dY: (a)



A&red (a) TET §: Ui TTHIA SEI9NE T & HRAT 3ETe0T: HRA H, STgrsT [FAToT,
SETATE 3R INETAT hT TATIAT & JATUT 50T HERIA & [T 3TeTetr 1 T8T HHAN TWRTT
g, A, Ied 3R 91 F FeT H 3 TR W@ | ATeTRAS rer & RTT 39 FeMmeT
ACHA ¥ HRA & TAE, A, AT, 3, Dt 3R eferster @ef gfaror qd vRRrars aeii &
Y IR 3R AEpide e U

Ui ¢ W §EIENE A ST, GOURT, HiATaT, AT, HSEIR, v, AT,
drafafta, aRFTq, de%, SarQ, Hidaracesd, [Ysr, QiaeAT, gerrrmer, Ngal, BR,
PEPTS 3N FART| 7Y &1 H, 3 3N GerATel, HIeeTH ([6R) 3R e de@mg
q| A Ui &7 o §e39E | HicerIH 3R JATART o e ATAER de W F| 6Rd 3R
cTeToT g TR 3R =T & el Ueh HeTol THT SR AT

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic:Art and culture

Concept:Buddhism

Sub-concept: Features of Buddhism

Q20. With reference to the cultural history of India, consider the following pairs:

1. Parivrajaka : Renunciant and Wanderer
2. Shramana : Priest with a high status
3. Upasaka : Lay follower of Buddhism

Which of the pairs given above are correctly matched?

a.land 2 only
b.1 and 3 only
c.2 and 3 only
d.1,2and3

Answer: (b)



Pair 1 is correctly matched: The word Parivrajaka means "roaming ascetic" or a wandering
religious mendicant. Thus, Parivrajaka can be represented as Renunciant and Wanderer.
Although this term occurs in the early Brahmanic tradition of the Upanishads, it is also
applicable to Buddhist and Jain monks, as well as to Hindu sannyasins. The Pali equivalent is

paribbajaka.

Pair 2 is not correctly matched: The Shramana group, consisting of Buddhism, Jainism and
various 'heterodox' sects, is a well-established group. Shramanas did not regard the
Brahmans or a priest as being of the highest status. The shramanas included a variety of
ascetics, as well as the monks and lay followers of various sects - Buddhist, Jaina, Ajivika and
others.

Pair 3 is correctly matched: Monks renounced social obligations to take on an alternative life
when they joined the Buddhism Order. They lived as equal members of the Order, denying
the caste distinctions. They lived in monasteries near villages and towns so that they could
draw on the support of the lay community, namely those who were Buddhists or Jainas but
were not initiated into renunciatory groups. Lay followers were referred to as upasaka and

upasika.

5T 20. Rl o HiEpicieh STAGH & Hedl H el AT W faar Hifeie:
1. RTateh: el 3 9fdes

2. HHOT : 3T Ue; dTell ToIRY

3. 3UTHe : Sieer & ol 3eTarl gler

IR feT arT ZoAT & F wleT-ar qE gAfaIa 82

(a) haor 1 32

(b) shael 1 3R 3

(c) haer 2 31X 3

(d) 1,233

3<%: (b)



IIA 1 Tl FATAT &: TR 2Asg T 37 § "gFeT qTel ToEdl” AT Teh $eshal g3
anfHs TH8]| 38 YR, IRGTSTeh I el 3R Ik & &9 F g1 ST Hhell & | ISIT g
e 3UTAYET el TR STEHOT TR H 37T &, Tg Sty AR SieT I3 & aryr-ary fig
HoTaAT IX $1 SI19] 81l § | SHRT UTell FHI o 2Meg, TRealToleh & |

geH 2 WE GAfod 8T §: der a9, e et 3R et faendh dvert & gaa swor
g GEAd Wag &1 HA0T SEAv a1 qUiRdl & wafed gt T8l & &1 Aol 7
faffieer v & o, | g feg iR Rafdest dveral & sregard - siey, S, smshfae
3R 37T A |

7H 3 T GATAT §: diqy el & nffer gl ) g3t & depfeus Siael o & faw
HHATTSTh T Sl 19T &AT| 3 el fer hl AR §U, SHTEUT & Flel TEEa oh & 3
T | d 71l AR HEET & 9T & 7O H @ & dTfeh I 3TH FHET 1 FALT JIed Y
Heh, 37T A St slleer AT SieT & olfehot el THg! H et w161 F| HTAAAT Y 3UrHS
3R 3OTRAehT SHgT ST AT

Science and Technology

Science and Technology

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology

Concept:Biology

Sub-concept: plant and animal cells

Q1. Which of the following statements are correct regarding the general difference
between plant and animal cells?

1. Plant cells have cellulose cell walls whilst animal cells do not.
Plant cells do not have plasma membranes unlike animal cells which do.
Mature plant cell has one large vacuole whilst an animal cell has many small
vacuoles.
Select the correct answer using the code given below:

(a) 1and 2 only
(b) 2 and 3 only



(c) 1and 3 only
(d) 1,2and 3

Answer: (c)

Statement 1 is correct: The plant cell wall is mainly composed of cellulose. Cellulose is a
complex substance and provides structural strength to plants. When a living plant cell loses
water through osmosis there is shrinkage or contraction of the contents of the cell away
from the cell wall. This phenomenon is known as plasmolysis. Animal cells do not have
cellulose.

Statement 2 is not correct: Plant cells, in addition to the plasma membrane, have another
rigid outer covering called the cell wall which lies outside the plasma membrane. All animal
cells are multicellular. Animal cells are also surrounded by a plasma membrane, and it
contains the nucleus and organelles that are membrane-bound.

Statement 3 is correct: Most mature plant cells have one large vacuole that occupies more
than 30% of the cell's volume, and that can occupy as much as 80% of the volume for certain
cell types and conditions. An animal cell has many small vacuoles.
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AT f&T 91T e T JAT T FEl I GfAT:
(a) acr 1 312

(b) shaer 2 3R 3

(c)FaeT 131X 3

(d) 1,233

3dY: (c)
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and technology

Concept:Human reproductive technology
Sub-concept: Perinuclear Transfer

Q2. In the context of recent advances in human reproductive technology, ‘Pronuclear
Transfer” is used for

(a) Fertilization of egg in vitro by the donor sperm

(b) Genetic modification of sperm producing cells

(c) Development of stem cells into functional embryos
(d) Prevention of mitochondrial diseases in offspring

Answer: (d)

Pronucleus is the nucleus of a sperm or an egg cell during the process of fertilization. The
sperm cell becomes a pronucleus only after the sperm enters the ovum, but before the
fusion of genetic material of the sperm and egg.

Option (d) is correct: The technique of pronuclear transfer involves the transfer of pronuclei
from one zygote to another. Pronuclear Transfer has the potential to prevent mitochondrial
disease in the offspring as Mitochondrial DNA is transmitted maternally.

Pronuclear transfer in human embryos

PATIENT COUPLE fertilised egg from
patient with faulty
mitochondria
healthy nuclear
q DNA removed
6 - 8 day old embryo
! free of mitochondrial
disease
L o °
DONOR COUPLE mitochondria ' § a ® e
> —¥ ‘N e
-
a . patient’s nu:lear DNA
transported into donor
= - ' \ o egg with healthy mitochondria
S gl ok ! —
l

donor fertilised egg
with healthy maternal

mitochondria
nucleus (/l/'ﬂ
removed



YT 2. AIT Yolddd dehalehl H 3TRAT WITa & TEH H, “Uadhicge TATATeaI0T
(Pronuclear Transfer)” 3T 93131 7T T graT 872

(a) 3T TaeT 375 o foAS=reT & AT STAT AT T 3TANT
(b) SRTUT STt el AT PIRARIHT T T fRIeh FAT=ATOT
(c) T&H (Stem) RN AT hrdTcHD U H faehre

(d) HeTTeT 3 FAehTeTehT dTel Wil AT ToATer

34X (d)
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GE H UTFhiogeh T TUTATGROT AMAS &1 NG [FelaX TEHT H ol 7 ATl leg el
ST Y ekt Y &THAT Bl & 1Tk ATSCIehl T g el SITTT AT & 8 FHRA BIar 8|
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology



Concept: vaccines
Sub-concept: PCV

Q3. What is the importance of using Pneumococcal Conjugate Vaccines in India?

1. These vaccines are effective against pneumonia as well as meningitis and sepsis.
Dependence on antibiotics that are not effective against drug-resistant bacteria can
be reduced.

3. These vaccines have no side effects and cause no allergic reactions.

Select the correct answer using the code given below:

(a) 1 only

(b) 1 and 2 only
(c) 3only

(d) 1,2and 3

Answer: (b)

Pneumococcal Conjugate Vaccine (PCV) prevents us from pneumococcal disease. In the
1980s the first pneumococcal vaccine was developed. Under the Universal Immunization
Programme (UIP) the government is planning for the nationwide rollout of Pneumococcal
Conjugate Vaccine (PCV).

Statement 1 is correct: Pneumonia, Sepsis and Meningitis are the symptoms of
pneumococcal disease. Pneumococcal Conjugate Vaccines are effective against pneumonia
as well as meningitis and sepsis.

Statement 2 is correct: The usage and dependence of antibiotics that are drug resistant can
be reduced as the vaccine prevents the very occurrence of the infection.

Statement 3 is not correct: PCV Pneumococcal Conjugate Vaccines have side effects like
fever, loss of appetite, fussiness, and other side effects.

Q3. YR H FZIWW Q:I'ﬂﬂff JdFgeT (Pneumococcal Conjugate Vaccines) & 393197 &l
FATHGcd g7

1. ¥ Jerdllet sgAIT 3R A1 81 ATferehraier 3K Afcwd o faeey gemar g1

2. 3T yidsitaferal o TR o &l ST Tehcll § ST JIer-gfeRie Sharopsit & faeetr
JHTAT A6l o |

3. 3oT JerElIeT & IS N0T 3T (side effects) TET & 3T &1 L FFHNT g TGl Hoaetl
ITRTHATT (allergic reactions) HIAT B |



AT f&T 91T e T JAT T FEl I GfAT:
(a) Sael 1

(b) shaer 1 3R 2

(c) e 3

(d) 1,233

3dX: (b)

=gFThichel HYIHT dardiiel (PCV) §H wgTeplenel 9T A STl &1 1980 & EH H Tgell
AR dedleT fanfaa $r a5 Y| IfAada srgergaree e (F3msd) & dgd
HIHR wGHAhIheT HIIHT JdIeT (PCV) oh TsgedTdT USTIHTSE hl Trofell =11 TET & |

HUT 1 TE §: w AT, ATH 3R AfFeonsied syaInIe U & Ta7oT § | sgFARIHT
TG SeFeleT SFAITAAT & WY-A1Y AFeosied 3R fCq & [T gemrd |

FUT 2 LT §: TAIETAIeeh ear3it & 39ATeT 3R [T &Y S 7T ST v & iR T8
dordeT ohaOT T TeaaT sl Ushal &

hUeT 3 HET LT 82 PCV wgFATchlehel HYTH JFdlcl & ST S §TR, @ & o,
gerrge g §

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology

Concept: Nanotechnology

Sub-concept: Carbon Nanotubes

Q4. With reference to the carbon nanotubes, consider the following statement:

1. They can be used as the carriers of drugs and antigens in the human body.

2. They can be made into the artificial blood capillaries for an injured part of human
body.

3. They can be used in biochemical sensors.

4. Carbon nanotubes are biodegradable.



Which of the statements given above are correct?

(@) 1and 2 only
(b) 2,3 and 4 only
(c) 1,3 and 4 only
(d) 1,2,3and 4

Answer: (d)

A carbon nanotube (CNT) is a miniature cylindrical carbon structure that has hexagonal
graphite molecules attached at the edges. Carbon nanotubes have the potential to be used
as semiconductors, potentially replacing silicon in a wide variety of computing devices.

Statement 1 is correct: In case of Cancer, CNTs as drug delivery vehicles (carriers) have
shown potential in targeting specific cancer cells with a dosage lower than conventional
drugs used.

Statement 2 is correct: CNTs have been successfully applied in pharmacy and medicine due
to their high surface area that is capable of adsorbing or conjugating with a wide variety of
therapeutic and diagnostic agents (drugs, genes, vaccines, antibodies, biosensors, etc.).
Hence, they can be made into artificial blood capillaries for an injured part of the human
body. Other applications of CNTs have been for tissue regeneration, biosensor diagnosis,
enantiomer separation of chiral drugs, extraction and analysis of drugs and pollutants.

Statement 3 is correct: New materials CNTs are promising building blocks for biosensors
due to their unique electronic and optical properties. Carbon nanotubes are rolled-up
cylinders of carbon monolayers (graphene).

Statement 4 is correct: Microbes including bacteria and fungi have the ability to degrade
carbon nanotubes (CNTs), graphene (GRA), and their derivatives.

ReT4. TSI AAICTEl & Hedl H, rifafad FHy= ) e Hifw:
1. 3oTeh! ATeTd R A 3Rt 3R 9fasrei & argent & &9 7 ggerd foham o7 e 1

2. geTohl HTeTd IR o &TTTIET 81T o TIT T T HIRARIAT o T H =17 ST Fehel
gl

3. ST SIT-TATAToIeh HAgeh! H 3UTNT fhaT ST THAT R |
4. T AANCIS HI-fAFFONT (biodegradable) el
39 FUAT 7 A HlA-J T E?

(a) haor 1 32




(b) Fael 2, 3 31T 4
(c)FhaeT 1,3 31T 4
(d)1,2,334

3<T: (d)

ISl AAICTS (CNT) Teh ofF SolelTehR hlelel EXTAT & [oTeh foheTRT o) geramalleTol &9 &
AHIST 37U] TS BTt & | IeleT AT H eraTeleh oh & H UAT feohT STTel T &THAT &, ST
AT & § AR Yo & shegfear suaont 7 faforelst S STetg of Hehar & |

HUA 1 TET &: FERX F ATHS H, CNTs ¥ &aT AcR0T a8l (aTgeh) & T H SEIHT T ST
aTell IRAR SaT3HT T JAAT H ol LRI & ATY fAfRISe HEX FHIRAFT3T AT it Hiat Hr

& fems |

HYUT 2 TET §: CNTs &I 3o1oh 3o TG 817 & HRT Afhcdr 3R gar &1 7 Fherdrdes
39IRT H @17 31T ¢ S AfHeeT TR & RIfehcdIT 3R AAerfeieh Tsiel (Gar3i, Sie, <o,
TESTST, SRR, 3T7E) & A1 N7 AT HYIHT H HeTH & | SATAT, 3¢ AleTd qRR &
&I BT & TT HTA Tord HIABIT H TARIT S Fohell &1 CNTs & 37 3eToNT
FcTeh GeToteled, STARTER ¥ere, FRIver Gar3il & Uelee 1 3NAY GUFhoT, Sarit AR Tguen &
faseor 3R faRavor T B

YU 3 e &: 71 AHA CNTs, el JHEfAcT Solereliaien 3 JHifCeehel U & HROT
TR & oI 3MmemTsletsh [ATesT sollerd g Fleel Aiellc s shiels AlATelRT (ATH) &
Ae-317 {eisT &

HUT 4 FET §: SFENAT 3R hdeh TG G&H Shdl H HleleT sicilcge (CNTs), ATHIT (GRA)
3R 37 eRAfea & AFNRoT i eTHAT T 1

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology

Concept: Biotechnology

Sub-concept: Genetics



Q5. Consider the following statements:

1. Genetic changes can be introduced in the cells that produce eggs or sperms of a
prospective parent.
2. A person’s genome can be edited before birth at the early embryonic stage.
3. Human induced pluripotent stem cells can be injected into the embryo of a pig.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only
(c) 2 only

(d) 1,2and 3

Answer: (d)

Statement 1 is correct: Genetic changes can be introduced in the cells that produce eggs or
sperms of a prospective parent by Genetic Engineering. Using scientific methods Genetically
modified organisms (GMOs) are produced that include recombinant DNA technology and
reproductive cloning.

Statement 2 is correct: Using Genetically modified organisms’ technique, various genetic
diseases of the off-springs can be cured, i.e., by editing their DNA. A nucleus is extracted
from a cell of the individual to be cloned and is inserted into the enucleated cytoplasm of a
host egg (an enucleated egg is an egg cell that has had its own nucleus removed) in
reproductive cloning.

Statement 3 is correct: Researchers have successfully used human induced pluripotent
stem cells to create embryos that are part-human, part-pig.

7215, [T @d Y« R} TR Hifere:

1. $TET ATCAT-TAAT o 378 IT YHTV] ScToeT el ATeN AT 3 HIeTa TR IRl fohw 5T
Thd &l

2. YTl T SIATH STod A I TR UMY AT H FFATE fohal ST HehelT & |

3. A9 9Rd TG T (pluripotent stem) ITRARTIT Sl QW$ a{w:ﬁramﬁ?r%m
ST HhTgl

U YA H F HlA-A1/A TENE/6?
(a) Faol 1
(b) haer 2 3R 3




(c) hael 2
(d) 1,233

3<%: (d)

FYT 1 TET &: Seifceh SN AR SaRT FHITAT ATAT-FAAT o 35 IT YAI0T YeT i arell
IR # 3T RIS IR fhT ST Fehel & | AT T T 3TN e 3T
T F FAAT Shat (SheA3N) &1 3curest fham Siiar § 5@a g d3les uav
Higa T 3R Totetet Feilfalar anfAeT

hUeT 2 TEY 8 HIeTA TR & & HRNTEIT Sirdl T Aehoileh & ST dleh, AT JeTeh SITAT
Y FUTfed Sieh Tcllel o fafdeet ITeTdiRIsh AaMT ol St AT ST Hehell &1 FelleT o fT
cafFd dr v HIfAAT & Teh wfFeaH fAhrel ST & 3R Foletel Fellfaier & T AsTalet
33 (Ueh Heldel 378, Ueh 35 AT gl & ToTHehT 19T s eFeldd geT 6T ST §) &
HolaeT AT e H STl SATAT & |

U 3 TET &: MUHAINT o ATAd ARG SEAFA TCH (pluripotent stem) HITARIT T
AT A 39T &b 0T T HAATOT fohar § ST o TR §9 & AT AT, HTRAF &
T YT T AT |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology
Concept:Research and Innovation

Sub-concept: Al

Q6. With the present state of development, Artificial Intelligence can effectively do which
of the following?

Bring down electricity consumption in industrial units.
Create meaningful short stories and songs.
Disease diagnosis.

P wnN e

Text-to-speech conversion.
5. Wireless transmission of electrical energy.
Select the correct answer using the code given below:



(a) 1,2,3 and 5 only
(b) 1, 3,and 4 only
(c) 2,4,and 5 only
(d) 1,2,3,4and5

Answer: (d)

Statement 1 is correct: Artificial Intelligence will be the brain of the future smart grid. The
technology will continuously collect and synthesize overwhelming amounts of data from
millions of smart sensors nationwide to make timely decisions on how to best allocate
energy resources. It will help in bringing down electricity consumption in industrial units.

Statement 2 is correct: To create meaningful short stories and songs using Al as a tool has
been in practice for quite some time. David Bowie helped develop an app called the
Verbasizer in the ‘90s, which took literary source material and randomly reordered the
words to create new combinations that could be used as lyrics.

Statement 3 is correct: Artificial Intelligence being used to diagnose various diseases, such
as Alzheimer's disease early by reviewing brain scans. In Italy University of Bari and Istituto
Nazionale di Fisica Nucleare have developed new machine learning Al technology that helps
identify Alzheimer’s a decade before doctors usually can, by way of non-invasive MRI brain
scans.

Statement 4 is correct: An easy-to-use text to speech conversion tool powered by Al is
Listnr which is available in the market. It helps to convert all texts into a speech with
human-sounding voices.

Statement 5 is correct: Wireless smart control, or smart off-grid, or wireless transmission of
electrical energy is going to be what enables this big shift in the power industry. Big Data,
advanced analytics, and artificial intelligence (Al) will also have a material impact on
performance and capabilities of off-grid systems.

UaT6. TaeTd &1 AT Tafa #, ajﬁﬂﬂaﬁ?lﬂT (Artificial Intelligence), Pifaf@a A &
fohT T Y THTE T T T Tohdll 82

1. 3t gerrsal # faegd T @ud He H=|
2. qreien o7 shgTierdt 3 afdt T T2

3. Q31T &7 faTe |

4. TFEC-C-FIT (Text-to-Speech) H aRTT |

5. faeg el st &l SR HeROT|



AT f&T 91T e T JAT T FEl I GfAT:
(a)shaol 1, 2,3 315

(b) ShaeT 1, 3, 31X 4

(c)dhadl 2, 4, 3R 5

(d)1,2, 3,435

34X (d)

FUT 1 Tl &: %ﬁﬂﬂm (Artificial Intelligence), TasT & TATE fAI8 &1 ATETSH gramm|
Foll TATAT T Hafad dlih & F AEfed fhar AT, 59 W 779 X o o & fow
I e A ger s’ A Sal TATE W A/ 1Y A 3 ST vahd 3 Heafva el | I8
e Sehrsal & Tl Sl WU I e Hi H Hee Haf|

YT 2 HET B UITS Y Teh IUSHIOT o &G H YA ek ATeh ol hgliardi 3R el v
AT AT FIT AT F ToleT H & 3793 S1dT o 90 & g2 H ISR A% Uah Vg
o fld et 7 Ace &, g arfgfeas Ara areaft off 3R AT T3rsTeT de7et & forw erear
Y SRATS &I YeT: AATEY TohaT Totees T & T H TAAT foham ST FehclT 27|

$AT 3 LT §: TS FT 3911 [Affe N3N & AT & v fFar T Er g, 3 i Afeass
Tehol T HHIET ek HeallsAT I & TAGHRT | gl IATEE 3% It Us gieecer
Afaee 3 e sgaeiy o a5 AMeT afelar T3NS dehelier i@ & §
ATA-SAA AT THIR3NMS ST Thel o FATEIH I THAR T 3TeSATSHI I Sidell H Teh G2AH

Ugel 9gdlelal H Heg Far o

HYUT 4 T §: TS GaNT Harfold 3UANT H 34T, THee T TN FUAROT 3TEH0T
foFe} (Listnr) & ST ST9IR # 39Ty & | Ig T AT ST ATT-EaTeT aTell TaTSll & ATT
T H Scotet # A HLar gl

YA 5 HET §: AR TATE heled, AT TATC 3h-faIs, AT faed Foil &l araled
CIHTARI g BIaN it faegd 3T # 38 93 deoTd ol H&TH Failar ¢ | a1 SeT, Usares
vaAfafesd 3 nfcfrRaa sefosa (T3ms) o1 8 3%-fFIs Aves & gede 3k
ETHATHT TR HgcaquT Fe7Td TS|



Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology

Concept: Information Technology

Sub-concept: VLC

Q7. With reference to visible light communication (VLC) technology, which of the following
statements are correct?

VLC uses electromagnetic spectrum wavelengths 375 to 780nm
VLC is known as long-range optical wireless communication

w N e

VLC can transmit large amounts of data faster than Bluetooth
4. VLC has no electromagnetic interference
Select the correct answer using the code given below

(a) 1,2and 3 only
(b) 1, 2 and 4 only
(c) 1,3 and 4 only
(d) 2,3 and 4 only

Answer: (c)

Visible Light Communication (VLC) technology is a wireless communication technology which
utilizes light to transmit data and position between devices.

Statement 1 is correct: Li-Fi is a Visible Light Communications (VLC) system. Li-Fi standard
compliant devices operate from 380 nm to 780 nm wavelength. These devices operate on
one or multiple visible light frequency bands.

Statement 2 is not correct: Long-range links are provided by optical fibre (also known as
fibre optic cables), and links from the long-range end-points to end users are accomplished
by RF wireless not by VLC.

Statement 3 is correct: VLC or Li-Fi that transmits data via light is said to be 100 times faster
than Wi-Fi & Bluetooth as it can reach a speed of 224 Gbps.The Bluetooth standard’s
maximum data rate is 3 Mbps or about 2.1 after protocol overheads take their cut. Wi-Fi on
the other hand, maxes out anywhere from 54 to 1300+ Mbps.

Statement 4 is correct: Without causing electromagnetic interference VLC has the
advantage of being useful in electromagnetic sensitive areas such as in aircraft cabins,
hospitals, and nuclear power plants.



92T 7. TF Y1 HAR (VLC) Tehaileh & Heal #, fAeATaf@d & @ -8 U T8 82
1. VLC, 375 ¥ 780nm ATel faed-qraeha T cara el &1 3u2ter el g |

2. VLC T Ere-oxrlY Herell 9dR HIR & §9 H SATAT ST 2 |

3. VLC ST T TTolelT # ST T TaRITeT ATAT &1 31feIeh Aol & I X Fhel B |

4. VLC F Taeg-qFaehia sTTcienivT 181 gl & |
ATy feT 1T e T YT T FET 3R GTAT

(a) hder 1,2 31X 3

(b) Shdol 1, 2 31X 4

(c)haeT 1,3 31T 4

(d) shaer 2,3 3R 4

3<%: (c)

fafSrarel wTse HaEgfAhIeT (VLC) Teheileh Teh AR HHR Tehoiieh & Sil YehIT &l 3UANT
3T 3R 3UHIUT o 1T o2l Sl THTRA el & [T il gl

YU 1 FEY §: Li-Fi Teh fATSITT o8 Hgfaieherd (VIC) FATeH &1 Li-Fi Hleleh fe]dTele
30T 380 nm & 780 nm cITSET deh T Hld & | T 3THIUT Teh IT hs T2THTT Fhrel
AT d5 W hHA FA 8 |

HUT 2 TET T &: SrT-gT foiep, 3fifCeandt Brgey (FA wIs 3iifesd oot & FTH o
AT ST §) EIRT FeTeT Forar STl &, 3R wiely gt & 3ia- gt & 3ifas suaersdistt aw
o foleh RF Aol GaRT X fohT ST & o fob VILC 2@

FUT 3 TET &1 VLC TT TE-FTS ST TH1eT & FATEIH & 3¢T HATRA HT &, a8-F7S 3R
SOIgY I Tefell H 100 T[T iy § Fifeh T§ 224 Gbps T 1Tl cToh ng HehdT g1 seIcy
HATeTeh T AR 3€T &3 3 Mbps IT ST 2.1 §, ST AeThiel 383 & 39T e gt
& 91G g1l | GALY 3R, TS-HTs 7 54 1300+ Mbps T &7 a1l HHI ¢

YU 4 e &: VLC, T Yreehra HacaTeMer &3 518 faATeT shidet, 3redcrell 3R IRAT]
Foll @A H, e graehig gEdaid & fo=r, 3T g




Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology

Concept:Digital security infrastructure
Sub-concept: public key infrastructure

Q8. In India, the term “Public Key Infrastructure” is used in the context of

(a) Digital security infrastructure

(b) Food security infrastructure

(c) Health care and education infrastructure

(d) Telecommunication and transportation infrastructure

Answer: (a)

Option (a) is correct: Public Key Infrastructure (PKI) is the combination of software,
encryption technologies, and services that enables entities to protect the security of their
communications and business transactions on networks. Using a combination of private
(e.g., secret) key and public key cryptography, PKI enables a number of other security
services, including data confidentiality, data integrity and non-repudiation. PKI integrates
digital certificates, public key cryptography, and certification authorities into one complete
network security architecture. PKI essentially is a digital security infrastructure.

T2 8. HRA H, "Ufecleh T SewhIrcaaX (Public Key Infrastructure)" JeaeT Thdsh T8 H
Tl foham ST &2

(a) T3TSTEeT GR&T MRS TETTAT
(b) TWeT FRETT TR HTETAT
(c) FaTET S@aTel 3T RAGT Jmereqd o

(d) AR 3R TRAET TR Erar

3<: (a)

fAhed (a) TEY &: UfccTs T spECaR (PKI) TTHFEAIR, TieshersT deheitent 31 TaT3iT T
AT & ST HEATHT T Sicaeh W 39 FUR 3R ATa@TReh oletee i et # HJaTd
gaTar g1 [Fe (319, w)ﬁwmﬁmmasmwwmgm PKI




ST NI, 3T WS IR IR-3EAH I Tied S 31 GI&T AAT3HT T HaTH AT 8 |
PKI TSToice TATOTTS, gfceleh T fhtelamhr 3 TATOTT WUl &l Teh HYUT Acaeh
GR&TT TTAT H Tehlehe AT | PKI, 3HTAaTE &9 & Teh (3 TSTeer et raaw=g |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology
Concept:Agricultural technology

Sub-concept: Drones

Q9. Consider the following activities:

1. Spraying pesticides on a crop field

2. Inspecting the craters of active volcanoes

3. Collecting breath samples from spouting whales for DNA analysis
At the present level of technology, which of the above activities can be successfully carried
out by using drones?

(a) 1and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d) 1,2and 3

Answer: (d)
Drones are Unmanned aerial vehicles, an aircraft that flies without a human pilot aboard.

Statement 1 is correct: To surmount the shortage of farm labour and rising labour charges,
some progressive farmers are trying to harness drone technology to find a lasting solution
to their recurring problems in every cropping season. Thus, it can be helpful in spraying
pesticides on a crop field.

Statement 2 is correct: Drones have become a critical tool for professionals working in a
large variety of different sectors such as public safety, search and rescue, infrastructure
inspection, surveying and mapping, wildlife conservation and many more. It is also useful in
Inspecting the craters of active volcanoes.

Statement 3 is correct: Marine researcher Vanessa Pirotta of Sydney’s Macquarie University,
says a drone has been used for the first time to collect whale mucus from humpback
whales at sea in a technique that could help monitor the health of whales around the
world.

T2 9. et afafafeat ) faar fifew:



1. Wd H Bl IR digdhaelt fssdar
2. GishT SaTeTH @t & FG@ 1 f@&T0T et
3. 9.TA.T. ﬁ?W%WFWWg‘%%ﬂT? AT & A Th el

cTehetleh! o TCAT T TR, IUerd arfafaferat 7 & fohd, 31T & 91T & Foholarqde fenar
ST HehdT &7

(a) haor 1 32
(b) haer 2 3R 3
(c) shael 1 31X 3
(d) 1,23k 3

3<Y: (d)
S AT U d §aTs aATET, Teh UT [T 1 91T ATTa Urdele & 33418, 8l 6 |

FY 1 HET &: P HATHPT HT FHAT IR T HH Yooh Pl g FA o TV, F5 Fcier
foRaTeT & B & ANGH # 379eAT ATl GHATITIT T TATA AT Tislel & foT 3T
ehaileh ST 3TN A T JIATH I g | 3 ThR, Tg Teh Bl oh Wl U hIcaAT2Ih h
fshra # Tgadh gl AT g |

U 2 WEY B: Widstloler G&TT, WieT 3 F=md, JiAamdr e 1 fdieror, wdferor 3K
AFIF0T, gegeilg TIET0T 3R $3 31T &3 F e Flel arel AR & foIT 3T Th
HEcaUT 3USUT §e1 7T § | Tg Hishd SATHEAT oh shei T TA{I8ToT it & 8ff 3uieft
gl

el 3 HET 8 ST o Herall TavafdedTery & TG AMerehcll deidT TURICET &l #hgall ¢ foh
Teh ZIT T SETHT Tgoll IR FHg H §USh cgol A 6ol oh ST (whale mucus) T Seheal
A & T T aram §, St g 8 & egel & Tareed i fARTe! 7 e T Fhdr g |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology



Concept:Space Technology
Sub-concept: e-LISA

Q10. The experiment will employ a trio of spacecraft flying in formation in the shape of an
equilateral triangle that has sides one million kilometres long, with lasers shining between
the craft.” The experiment in question refers to

(a) Voyager-2

(b) New Horizons
(c) LISA Pathfinder
(d) Evolved LISA

Answer: (d)

Option (d) is correct: e-LISA (Evolved Laser Interferometer Space Antenna) is a plan of
setting into space three spacecraft (trio of spacecraft), a mother and two daughter
spacecraft, which will fly in a triangular formation (has sides one million kilometres long of
an equilateral triangle), trailing the earth in its orbit around the sun at a distance of over 50
million km. It has lasers shining between the craft.

eLISA aims to measure gravitational waves in the frequency range from 0.1mHz to about
100 mHz. To do this, it is necessary for the interferometers to have an arm length of a million
kilometres and that is impossible to achieve with an earth based setup. Hence, it is
necessary to have this elaborate experiment in space. This frequency range, from 0.1 MHz to
100 MHz, or even 1Hz, is expected to be sensitive to a rich set of sources of gravitational
waves. These sources are such that understanding them can throw light on many problems
of interest in cosmology and astrophysics and also make possible stringent tests of General
Theory of Relativity.

210. mqﬁwﬁa@ﬁmﬁaﬁmﬁmﬁwwﬁaﬁaﬁm@%ﬁ
giefr1” s ia waeT for e Teffia ear &?

(a) ATASR-2

(b) T ERTISAH
(c) LISA 9TUHISST
(d) Sateds LISA



34X (d)

3o (d) T8 §: e-LISA (Evolved Laser Interferometer Space Antenna) 37dReT e 37aReT
T (ITANET 1A Y [ARa), Teh AT 3R T 9 3ARET ATeT, AT Y Teh AT B, ST (Teh
qAsTg (37T AT v FATerasT FhellATey ofell 3iy), 50 fAferasT fohal & 31T I gl |
T & TRT 3R 31t T 3 g Y e o g, ol wieae F 38 et & dr
ISR IFAH &

eLISA T & IBcaleh¥OT Tt T ITGRT T5T 0.1mHz & ST 100 mHz Teh & AT |
VAT e & [T, SeThUHIER & oI Teh o fFheilde T a1s i 39T« ¢ 3R Jg
gedl TR AT & ATY GTIAT HiaAT 3T § | SHTAIT 58 faEcl TAaT 7 37cAReT &
Bl ST B 38 TR o7 & 0.1 HIMGEST & 100 HIMGEST AT AT e o 1 §Eof oleh,
TEcaTehyOT AN o AT & Ueh HHGY AT & el HAGAMNeT glet T FHTEAT | A HeT 0 §
o 3¢ aFsT ¥ seATs AT 3R @it HIfAST & SR Hr s THTATIT IR YhIeT STel
ST T § R ATIETAT o ATHTT AU & g T0aToT 3 979 8T Fohcl ¢ |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology

Concept: Information technology

Sub-concept: Blockchain Technology

Q11. With reference to “Blockchain Technology”, consider the following statements:

It is a public ledger that everyone can inspect but which no single user controls.
2. The structure and design of the blockchain is such that all the data in it are about
cryptocurrency only.
3. Applications that depend on basic features of blockchain can be developed without
anybody’s permission.
Which of the statements given above is/are correct?

(a) 1 only
(b) 1and 2 only
(c) 2only
(d) 1and 3 only



Answer: (d)

Statement 1 is correct: Blockchain is a distributed ledger technology (DLT) that allows data
to be stored globally on thousands of servers — while letting anyone on the network see
everyone else's entries in near real-time. That makes it difficult for one user to gain control
of, or game, the network. It is a public ledger that everyone can inspect but which no single
user controls.

Statement 2 is not correct: Its application is not only of cryptocurrency. It has a wide range
of applications in health, education, governance, etc.

Statement 3 is correct: As per NITI Aayog, the majority of viable use cases for blockchain will
be permissioned ones, not public blockchains. "Public blockchains like Bitcoin, have no
central authority and are regarded as enablers of total disruptive disintermediation.
Permissioned blockchains are hosted on private computing networks, with controlled access
and editing rights, that is there are still central authorities with admin rights". Thus,
applications that depend on basic features of blockchain can be developed without
anybody’s permission.
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Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Science and Technology
Concept:Agricultural technology

Sub-concept: Fertigation

Q12. What are the advantages of fertigation in agriculture?

1. Controlling the alkalinity of irrigation water is possible.
2. Efficient application of Rock Phosphate and all other phosphatic fertilizers is possible.
3. Increased availability of nutrients to plants is possible.
4. Reduction in the leaching of chemical nutrients is possible.
Select the correct answer using the code given below:

(a) 1,2and 3

(b) 1, 2 and 4 only
(c) 1,3 and 4 only
(d) 2,3 and 4 only



Answer: (c)

Fertigation is a method of fertilizer application in which fertilizer is incorporated within the
irrigation water by the drip system. In this system fertilizer solution is distributed evenly in
irrigation.

Statement 1 is correct: Drip irrigation also avoids water spillage on the field which could
have promoted weed growth or increased soil alkalinity due to water logging. So, controlling
the alkalinity of irrigation water is possible through it.

Statement 2 is not correct: Fertigation is the technique of supplying dissolved fertilizers to
crops through an irrigation system. But phosphatic fertilizers are insoluble in water and thus
cannot be applied to the field by fertigation. Hence, efficient application of Rock Phosphate
and all other phosphatic fertilizers is not possible.

Statement 3 is correct: By this method, fertilizer use efficiency is increased from 80 to 90 per
cent as they are delivered directly to roots via drip. As water and fertilizer are supplied
evenly to all the crops through fertigation there is possibility for getting 25-50 per cent
higher yield. So, increased availability of nutrients to plants is possible.

Statement 4 is correct: Leaching Process describes the release of organic and inorganic
contaminants or radionuclides from a solid phase into a water phase, when influenced by
processes such as desorption, complexation, and mineral dissolution. This is correct since
overapplication, and soil waterlogging is avoided. Therefore, reduction in the leaching of
chemical nutrients is possible.
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Topic: Current Affairs

Concept:welfare initiatives

Sub-concept: international agreements



Q1. International agreement/set-up Subject

1. Alma-Ata Declaration Healthcare of the people

2. Hague Convention Biological and chemical weapons
3. Talanoa Dialogue Global climate change

4. Under2 Coalition Child rights

Which of the pairs given above is/are correctly matched?

(a) 1and2only
(b) 4 only

(c) 1and3only
(d) 2,3 and4only

Answer: (c)

Pair 1 is correctly matched: The Alma-Ata Declaration of 1978 is a major milestone in the
field of public health, and it identified primary health care as the key to the attainment to
the goal of healthcare of the people.

Pair 2 is not correctly matched: The Hague Convention on the Protection of Children and
Co-operation in Respect of Intercountry Adoptionis an international agreement to
safeguard intercountry adoptions. Another Hague Convention which is on the Civil Aspects
of International Child Abduction, provides an expeditious method to return a child
internationally abducted by a parent from one-member country to another.

Pair 3 is correctly matched: Talanoa is a traditional word used in Fiji and across the Pacific to
reflect a process of inclusive, participatory, and transparent dialogue. The Talanoa Dialogue
of UNFCCC is to take stock of the collective efforts of Parties in relation to progress towards
the long-term goal of the Paris Climate Agreement and to inform the preparation of
nationally determined contributions. It is related to global climate change.

Pair 4 is not correctly matched: The Under2 Coalition is a global community of state and
regional governments committed to ambitious climate action in line with the Paris
Agreement. Signatories commit to keeping global temperature rises to well below 2°C with
efforts to reach 1.5°C.
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Question Type: Conceptual

Difficulty Level: Moderate
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Topic: current affairs

Concept:Nuclear technology

Sub-concept: IAEA Safeguards

Q2. In India, why are some nuclear reactors kept under “IAEA Safeguards” while others are
not?



(a) Some use uranium and others use thorium

(b) Some use imported uranium and others use domestic supplies

(c) Some are operated by foreign enterprises and others are operated by domestic
enterprises

(d) Some are State-owned, and others are privately-owned

Answer: (b)

Option (b) is correct: The nuclear reactors in India are placed under IAEA safeguards only if
they are fuelled by uranium procured from abroad. There are at present 22 operational
reactors, of which 14 are under the International Atomic Energy Agency (IAEA) safeguards as
they use imported fuel. Some of them use imported uranium and others use domestic
supplies.

India currently imports uranium from Russia, Kazakhstan, and Canada. By placing the
reactors under the IAEA safeguards, India gives the international nuclear energy watchdog
access to them. This step was taken by the country in 2014 to demonstrate that its nuclear
energy programme was for peaceful purposes. It was a necessary step under the Indo -US
nuclear deal.
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Topic: current affairs

Concept:international organisations
Sub-concept: G20

Q3. In which one of the following groups are all the four countries members of G20?

(a) Argentina, Mexico, South Africa, and Turkey
(b) Australia, Canada, Malaysia, and New Zealand
(c) Brazil, Saudi Arabia, and Viethnam

(d) Indonesia, Japan, Singapore, and South Korea

Answer: (a)

The G20 is an informal group of 19 countries and the European Union, with representatives
of the International Monetary Fund and the World Bank. The G20 membership comprises a
mix of the world’s largest advanced and emerging economies, representing about two-thirds
of the world’s population, 85% of global gross domestic product, 80% of global investment
and over 75% of global trade. The G20 Presidency rotates annually according to a system
that ensures a regional balance over time.

Option (a) is correct: The members of the G20 include Argentina, Australia, Brazil, Canada,
China, France, Germany, India, Indonesia, Italy, Japan, Republic of Korea, Mexico, Russia,
Saudi Arabia, South Africa, Turkey, the United Kingdom, the United States, and the
European Union.
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Topic: Current Affairs

Concept: Agriculture

Sub-concept: MSP

Q4. Consider the following statements
1. Inthe case of all cereals, pulses and oilseeds, the procurement at Minimum Support
Price (MSP) is unlimited in any State/UT of India.
2. Inthe case of cereals and pulses, the MSP is fixed in any State/UT at a level to which
the market price will never rise.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both 1and2
(d) Neither 1 nor 2

Answer: (d)

The Minimum Support Price (MSP) is the rate at which the government buys grains from
farmers. The reason behind the idea of MSP is to counter price volatility of agricultural
commodities due to the factors like variation in their supply, lack of market integration and
information asymmetry. The MSP is fixed on the recommendations of the Commission for
Agricultural Costs and Prices (CACP). The Centre currently fixes MSPs for 23 farm
commodities based on the Commission for Agricultural Costs and Prices (CACP)
recommendations.

Statement 1 is not correct: Under the new PM-AASHA scheme, the existing Price Support
Scheme (PSS) will continue for pulses, with Central agencies including the NAFED and the
Food Corporation of India, physically procuring the produce whenever the market rates fall
below MSP, up to a maximum limit of 25% of the total harvest.



Statement 2 is not correct: CACP considers various factors such as the cost of cultivation and
production, productivity of crops, and market prices for the determination of MSPs. The
MSP fixed for each crop is uniform for the entire country. However, there is no instance of
MSP being fixed in any State/UT at a level to which the market price will never rise.
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Concept:energy resources

Sub-concept: solar water pumps

Q5. With reference to solar water pumps, consider the following statements:



1. Solar power can be used for running surface pumps and not for submersible pumps,
2. Solar power can be used for running centrifugal pumps and not the ones with piston.

Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

Answer: (d)

Solar water pumps, a relatively new concept in mechanics, are commonly seen in residential
and commercial uses, as well as for irrigation of agricultural land. A typical solar powered
pumping system consists of a solar panel array that powers an electric motor, which in turn
powers a bore or surface pump. The water is often pumped from the ground or stream into
a storage tank that provides a gravity feed, so energy storage is not needed for these
systems. Through solar panels, the pump can eliminate the cost of energy and provide a
more feasible option that uses energy from the sun (and not fuel -burning mechanisms) for
pumping water.

Statement 1 and statement 2 are not correct: When it comes to stand -alone solar pumping
systems, the main types include rotating and positive displacement pumps. So, solar power
neither can be used for running surface pumps and not for submersible pumps nor can be
used for centrifugal pumps and not the ones with piston.

Centrifugal pumps are the common choice for rotation and are designed for fixed head
applications. They have an increased output in proportion to their speed of rotation. A
positive displacement (PD) pump moves a fluid by repeatedly enclosing a fixed volume and
moving it mechanically through the system. The pumping action is cyclic and can be driven
by pistons, screws, gears, rollers, diaphragms, or vanes. Also, pumps are classified as
submersible and surface pumps, based on their placement (underwater and above the
waterline).
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Concept:Agriculture

Sub-concept: Bud Chip Settlings

Q6. With reference to the current trends in the cultivation of sugarcane in India, consider
the following statements:
1. A substantial saving in seed material is when ‘bud chip settlings’ are raised in a
nursery and transplanted in the main field.
2. When direct planting of seeds is done, the germination percentage is better with
single-budded setts as compared to setts with many buds.
3. If bad weather conditions prevail when seeds are directly planted, single-budded
setts have better survival as compared to large setts.



4. Sugarcane can be cultivated using settlings prepared from tissue culture.

Which of the statements given above is/are correct?
(@) 1and 2 only
(b) 3 only
(c) 1and 4 only
(d) 2,3 and 4 only

Answer: (c)

Conventional method of sugarcane planting requires 7 to 8 tonnes of seed cane per hectare,
and this is the main reason for slow rate of seed and varietal replacement. Sugarcane being
a long duration crop and heavy biomass producer requires about 1500 to 2500 mm water.

Statement 1 is correct: Bud chip technology reduces the mass and enables quick
multiplication of seeds. This method has proved to be more economical and convenient than
the traditional method of planting two to three bud setts. The returns are relatively better,
with substantial savings on the seed material used for planting.

Statement 2 is not correct: When direct planting of setts is done, the germination
percentage is better with setts with many buds as compared to single-budded setts.

Statement 3 is not correct: If bad weather conditions prevail when setts are directly
planted, large setts have better survival as compared to single-budded setts.

Statement 4 is correct: Tissue culture or vegetative propagation can be used to germinate
and grow these settlings which can be transplanted in the field later. Sugarcane can be
cultivated using settlings prepared from tissue culture.
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gfaerd #5-aToleT (many budded) @wﬁgmﬁéwm%I

3. W ANGA T 2T H IS ATH AT A AT gIAT &, TS Ueh-Shiclohl HSH T SITad e
a3 HcH T JolelT H AgaL BIAT B |

4. oot T Wil Fcdeh TTHT T IR T IS TeTolr T FHI ST Thcil ¢ |

3O HUAT H U HioA-H1/H T 6/82
(a) haer 1 3R 2

(b) haeT 3

(c) Fae 131k 4

(d) Faer 2, 3 31T 4



3T (c)

3= ol TS T TRUR fATE & FoIw 9fd §eFeTR 7 A 8 €T Tt oftT I HTART R Bl &,
3R T diret shr et &3 3R Toheat & TTEUTIT & HTT HROTE | Ieed hT Bl sl JaTer
Fr gl & 3R 9 39 U 3cUee 8l & PRUT ST 1500 F 2500 fAHT arelt Hr
3MaIHATEIAT B |

YT 1 TEY §: 5 AT (bud chip) Tohalieh GEIHATS Y & Xl & AR el & caRed 01T
P F&TH FTdT g W%ﬁaﬁmmﬁﬁaﬁmﬁﬁm%ﬁrﬁmﬁm
wwmm@m 90T & FAYT 3TT i ST AT et A o
e aoa & A, ﬁzﬁaﬁaﬂmm’él

T 2 TEY 18T &: ST A T A1e AT fHAT ST &, T Teh-h foAehT (single-budded) T
T 37T FIAIel HS-hiclehl (many budded) HH T JolelT H TR GIAT L |

FYUT 3 eI 6l ¢: TS ANGH T G20 H Iie; A T e AYT gIaT §, a8 Teh-awfolel
Heq I SNAd Sl 93 AH BT JelalT A TR 1A 5 |

YT 4 TEY &: Fcfeh TALT IT AT Tcleh THR T ITANT FoT HeTolaT Y AR it 3R
fArfad et & ToT fohar ST Tehar § Siee a1g & Wa & TR ohar ST asdar gl e
HT AT S AT A IR H1 715 FeTolr A Hr ST ThcT g

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30

Topic: current affairs

Concept:Minerals and Energy Resources

Sub-concept: Major Minerals

Q7. Consider the following minerals:
1. Bentonite
2. Chromite
3. Kyanite
4. Sillimanite
In India, which of the above is/are officially designated as major minerals?
(a) 1and 2 only
(b) 4 only
(c) 1and 3 only
(d) 2,3 and 4 only

Answer: (d)



Bentonite is essentially a highly plastic clay containing not less than 85% clay mineral,
montmorillonite. It gets its name from Fort Benton, America, the place where its presence
and usages were first discovered. The Government of India declared Bentonite as 'Minor
Mineral'.

Option (d) is correct: Chromite (Cr) is the single commercially viable ore of chromium which
is chemically known as iron chromium oxide (Fe Cr204). Kyanite, Sillimanite and andalusite
are anhydrous aluminosilicate minerals that have the same chemical formula Al203 but
differ in crystal structure and physical properties. Chromite, Kyanite, and Sillimanite are
major minerals.

Q7. AT fEd @fae ) TR fifaw:

1. SClIse

2. ShIATST

3. FITASE

4. RafeAsEe

HRT H, Wﬁﬁaﬁﬂmmﬁmﬁﬁwm(major minerals) §/87?
(a) acr 1 312

(b) Shdof 4

(c)PhaeT 13X 3

(d) haer 2, 3 31X 4

3<Y: (d)

Jelarse 3faard ®9 & 3T AT # tollfiees & a6 AT § 9T 85% & & Al
Gferst, AlecARAATSE 8T 2T &1 SHFT ATH AR & BIE §eaT & AT I U7 § STgi

gaeh! IUTEATA 3R ITANT Y GIeT HA Tgel I 375 AT| R THR A FelAge i oY
gfarer g fhar|

reT (d) TEY §: FAST (A3R) PIfRAIH FT UTahd TGRS & F TG 3T ¢
0 Tarafae 9 8 3R FIfATHA 3TFATSS (Fe Cr204) & T & ST SATAT § | HTIATST,
fAeAeTse 3R TesTe@rse Hoiar T fasfafeshe wiers § Totete Tamdiaie I Al203
A ¢ Afha fohrea dxgan 3R &ifas qoi & @ g sAse, Faase 3R
faeaeTse yE wiae g

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current Affairs

Concept:Oceanography

Sub-concept: Ocean Mean Temperature




Q8. With reference to Ocean Mean Temperature (OMT), which of the following statements
is/are correct?

1. OMT is measured up to a depth of 26°C isotherm which is 129 meters in the
south-western Indian Ocean during January — March.

2. OMT collected during January March can be used in assessing whether the amount
of rainfall in monsoon will be less or more than a certain long-term mean

Select the correct answer using the code given below

(a) 1only

(b) 2only

(c) Both1land2

(d) Neither 1 nor 2

Answer: (b)

Statement 1 is not correct: The Ocean Mean Temperature (OMT) is measured up to a depth
of 26 degree C isotherm, is more stable and consistent, and the spatial spread is also less.
The 26 degree C isotherm is seen at depths varying from 50 =100 metres. During January
—March, the mean 26 degree C isotherm depth in the Southwestern Indian Ocean is 59
metres.

Statement 2 is correct: Ocean heat content (OHC) and Ocean Mean Temperature (OMT) are
important climatic parameters required for atmospheric and oceanic studies like cyclone and
monsoon predictions and ocean heat transport estimations. Sea surface temperature (SST) is
routinely used for predicting if the total amount of rainfall that India receives during the
monsoon season will be less or more than the long term mean of 887.5 mm. Now,
scientists from Pune’s Indian Institute of Tropical Meteorology (IITM) find that ocean mean
temperature (OMT) has better ability to predict this than the sea surface temperature.

Q8. HgTHI 3iraa arge (Ocean Mean Temperature/OMT) & Tcar H fe@adsa
et AT/A YT T &/8?

1. OMT &I 26 33 AfcTaw THAT IWT F1 TGS TP AT SATAT § I STAS-ATT H B
HEMIR o GIayor-gieds & 129 Al W

2. OMT ST STeTal- AT H TehiAd [T ST & 39 I [AUTRd et o forw gaier foear
Hehell ¢ Toh AT H ao T AT Teh [ Rt Srefehreltst ke aw & e graft a1 e
AT feT 1T e T YT Y FET 3R AT

(a) hael 1

(b) Shael 2

(c)arat 131k 2




(d)FTar13iT8r2
31 (b)

HAT 1 TG Aol ¢: AGERER JrAT argdT (OMT) 3T 26 33 Afcaag gaaT @r $r
IERTE e AT A &, g 310 TR 3R gaaret &, 3R saent Tanfores therra oft o1 g
g1 26 33 Afcaaw AT @M (331CH) 50-100 HeX § Rt IS 9T W@ AT &l
STTAU-ATT o SR, GlavT-ufRasT fe AgrarR # 3iad 26 Bl fcaaa gaamT 3@r
IELS 59 HeT B

HYUT 2 TET §: FEMARNIT aTd AT (OHC) 3 FAGTHER AT ATIHT (OMT) Hgedqor
STerarg WA gl g Tofetehl 3MaRIehdl Tshdld 3R A &I sifasgamh 3R
HETAERT T IRagsT IeTATA! S aHSNT AR AR eag=t & forw gsch ¥
THg T G o ATIHTA (SST) T 3TN [AATAT TT @ g 3TeTHTA I o forw fohar Sirar
¢ Toh 8T & ALY & HIGH A gl drell IS T Fel AT 887.5 THAY o Qrefepfars e
T A A7 3fAF grl| 319, JOT & HRAY Iorhfeaeld Higa AT e (ITv) &
daATfarel o 9T § foh @ & 3T dTIATT (OMT) & THgr T HAE o dATIHT T Jolell 7
sHFT HTasTaTuft el HT SgaR &THAT ¢ |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 50-55 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current affairs

Concept:Industries

Sub-concept: Fertilizers

Q9. With reference to chemical fertilizers in India, consider the following statements:
1. At present, the retail price of chemical fertilizers is market-driven and not
administered by the Government.
2. Ammonia, which is an input of urea, is produced from natural gas.
3. Sulphur, which is a raw material for phosphoric acid fertilizer is by-product of oil
refineries.
Which of the statements given above is/are correct?
(@) 1only
(b) 2and3only
(c) 2only
(d) 1,2and3

Answer: (b)



Statement 1 is not correct: The Government of India subsidizes fertilizers to ensure that
fertilizers are easily available to farmers and the county remains self -sufficient in
agriculture. This has been achieved largely by controlling the price of fertilizer and the
amount of production. For instance, as per the New Urea Policy of 2015, the government
fixes the market price of urea along with a fixed subsidy component. Similarly, for
Phosphorus and Potassium, as per the Nutrient Based Subsidy Scheme of 2010, subsidy is
provided based on nutrient content per kg of fertilizer.

Statement 2 is correct: Fertilizer production uses 1.2% of the world’s total energy out of
which 90% is used for ammonia production, which is a key ingredient in the production of
nitrogen fertilizers. Ammonia can be produced from natural gas.

Statement 3 is correct: Sulphur is a major by-product of oil refining and gas processing.
Most crude oil grades contain some sulphur, most of which must be removed during the
refining process to meet strict sulphur content limits in refined products. Industries, for
instance, the Mathura oil refinery, have been responsible for producing pollutants like
sulphur dioxide and nitrogen dioxide. Also, Sulphur is used in phosphoric acid fertilizer
(There is a process known as 'The Wet Process' for producing the same).

Q9. FRA H T 3Tl & TedT 7, Frafaf@d 2« X faar fifew:

1. IAHAT H, AT e 3Aeh! T YeT Hed SToTR FTfold & IR THR eaRT i w7t
gl

2. AT S IRAT SeATeT H 1A HTAT &, T8 Thicleh IH A 3cUel gl o |

3. oY, ST BIEHIRER 31FeT 3d3eh o ToIT hedl AT &, I8 Oof AT HRETAT T 39S
gl

3udad FHYUA! 7 F HIT-A1/8 TE8/8?

(a) hael 1

(b) Faer 2 31X 3

(c) hael 2

(d) 1,233

34X (b)

HUT 1 TEY G 2 HRA THR g FARYd A & U 36ent 1 @feqst & & fon
fehaTeT T 3Eeh TATEAT & 3Tt &1 3R 7ol TN H cATAIR &1 I | Tg I §< eh
3a¥eh T AT 3R 3cures 1 AT H FIAT F g1 fohar aram &1 3eeor & fAT,
2015 T 1S FRAT AT & HTAR, AIHR Teh AR HTCHST Teeh o T JRAT T TSR
Hed T Xl g1 38 YR BIEpRE AR dieRIgH & v qives ded 3menia dfedst
AT 2010 F HFAR T el 3 3 v e & 3TUR ) AT gereT & el 31

YT 2 TEY &: 3 Sculeet favd & Fol Fofl T 1.2% 3TN Il g, FSTTH & 90%
FAAIT ScUTesT & ToIT SYANT T ST §, St ASgIeTel 3Tt & 3cuiest H Teh Y7
€T § | WTehicen 3 { 3T &1 ScdTesT fondm ST Hevet &1




hUT 3 FET &: T, ol AT HR I FHEHOT &l YW 34IcUIG & | THTLr shed el
IS H FS T 81T &, [STTH T TR T IRSH ScTTeT 7 TehT AT 6T T HTAT
T T et o TIT QMereT Gshar & RTeT gerT ST 1RV | 3eTexoT o TolT, 3eaT, 7YRT
del RIsadl, Aol SIS31TerdTSs 3R A5l SEHTFASS S YGTeh! & 3cUTee & fov
fSFATR &1 9% 37oTaT, ehT &7 3T BIEHIRe UfAs 39t & fFaramarg 3 &
3G o folT 'g AT T & ®9 H SATAT SATed dTell Ueh UfhaT 8) |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current Affairs

Concept: wildlife conservation

Sub-concept: Desert National Parks

Q10. With reference to India’s Desert National Park, which of the following statements are
correct?

1. Itis spread over two districts.

2. There is no human habitation inside the Park.

3. Itis one of the natural habitats of the Great Indian Bustard.
Select the correct answer using the code given below.

(a) 1and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d) 1,2and 3

Answer: (c)

Statement 1 is correct: Desert National Park is situated in the Indian state of Rajasthan. It
covers an area of 3162 km? of which 1900 km? is in Jaisalmer district and remaining 1262
km? is in Barmer district of Rajasthan State. The Desert National Park is an excellent
example of the ecosystem of the Thar Desert.

Statement 2 is not correct: The Thar desert is the most thickly populated desert in the world
with an average density of 83 persons/km? (compared to 7km? of other deserts, Bagri and
Kankane 2001). The human population, though, is low (4-5 persons per km?) within the DNP.
There are 73 villages and settlements or Dhanis existing within the Park. These communities
have inhabited this area for hundreds of years. They form an integral part of this ecosystem
with their rich culture and tradition.

Statement 3 is correct: The DNP is the most important site for the long-term survival of the
Globally Threatened Great Indian Bustard and other endemic fauna and flora. It is one of



the natural habitats of the Great Indian Bustard. Other birds of significance identified by
BirdLife International, include the Eleven bird species that are representative of Biome-13.

Q10. HR & 'HE AT 3¢ ATl & Tl , rafaf@a A awla a a1 a8 g ?
1. 7% &1 forell # faeqa B

2. 3T & eI IS AT T T 81 |

3. Ig U< 33T ST’ & ehTceh HTATH H A Th g |

AT f&T 91T e T JAT & el IR YIAT|

(a) haer 1 31X 2

(b) haer 2 31X 3

(c) hael 131K 3

(d) 1,233

3dY: (c)

FUA 1 Tl §: 'HE TSI 3Tl AR T Ao H U §1 I8 3162 T91 [T &
& I ha¥ adT & fTH T 1900 Fa? SR foer &7 § 3R AW 1262 e Tareu=
AT & ISAT T A G| 'FE TS T YR IRNEATT & ITRIEATIRT oI T Teh Scohse
3T |

YT 2 TeT el &: TR IFNEATT AT H AT Geil ATHIGT aTelt IRPedTe g, o 3iaa
EeTcd 83 Siehcl/fha? § (3T YAETail o 7 fohel? &Y Jolelt &, Fehll 3R shehet 2001)|
gTeTifeh, STUaTdT & #ffaT ATTd TS & (4-5 SafFd 9 fhdArR) §1 3eare & siax 73 g
3R afeaar a1 ol AlSg €1 & e A avl @ 57 &1 7 @ @ §1 I 3l ey
HEDIA 3N TR o A1 58 TR FEATIRT T T Teh 3o 3T A ST B |

HYUeT 3 Tl ¢: STAUT 32T TR T FheIEd AT 33T s¥es’ 3R 37 Tfas siar ik
gaEafal & Ererhifaed FTdca & fov Tad Faifds T g1 T8 ‘I 539 s¥es’ &
WTehicieh TATAT & & Ueh & | TS5 ScTeieIeTel SaRT TgdT Silel dlel 33 TTaTal # 7IRE
geft garfaar enfae § o 9 e -13 & gyfafafar g1

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 40-45 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current affairs

Concept:indian geography

Sub-concept: Siachen Glacier

Q11. Siachen Glacier is situated to the
(a) East of Aksai Chin
(b) East of Leh



(c) North of Gilgit
(d) North of Nubra Valley

Answer: (d)

The Siachen Glacier is in the Eastern Karakoram range in the Himalayas. It is situated to the
North of Nubra Valley. It is the Second-Longest glacier in the World's Non-Polar areas. It
is part of Ladakh which has now been converted into a Union Territory. Siachen Glacier is
the world's highest battlefield.

Option (d) is correct: The Nubra Valley acts as the gateway to the strategically important
Siachen Glacier and Karakoram Pass. The Karakoram Pass in the northwest side connects
the valley with Xinjiang, China. The area was once part of the ancient Himalayan trade path,
the Silk Route that connected China to the Middle East. The Nubra River is a river in the
Nubra Valley of Ladakh in India. It is a tributary of the Shyok River (a part of the Indus River
system) and originates from the Siachen Glacier.

Q11. BRI R gl TUd g ?
(a) 31FATS AT g
(bAEFIIH

(c) Frafc F 3aT A

(d) TSI &Y & 3R A

3<Y: (d)

oraaer fRHeTe, feATerg # qdf SR A0l & 37em §1 J§ o7 11l & 3o’ & T g
Ig gl & IR-¢ Y31 H qERT T e I & | Ig STeard o [Fear & o1 31a dhey
T w&er & seer &am 7 § | FafeT Raere faea &1 #ed S=m geuaT g

faeheT (d) TET §: ST ©ET 0 &9 & HgeaquT ATt ffHee 3R HRRHA & &
YA AR & T 7 B Il §| FTR-TIRGHA Y 31 HRIAIRA 37 11T vt e o TfSrmer
¥ ST ST €1 F7 817 it areiiet RATerRly STIR 9 &7 fGeaT 2T, 12 AT St et &t
ALY G4 W SISl AT| S AT HR H Fegrg H ofsiT °réy # U 747 §1 Ig 24 o1dy
(Tere] STEY TUTTelT <A1 T3ET) T Teh WETIeh w1aT § 3R g FAATfiet 7R & eneldl 81

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current affairs

Concept: Environment

Sub-concept: CGWA



Q12. Consider the following statements:
1. 36% of India’s districts are classified as “overexploited” or “critical” by the Central
Ground Water Authority (CGWA).
2. CGWA was formed under Environment (Protection) Act.
3. India has the largest area under groundwater irrigation in the world.
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 and 3 only
(c) 2only
(d) 1and 3 only

Answer: (b)

Statement 1 is not correct: Following the NGT’s (National Green Tribunal) directions, the
Centre has divided areas with declining water tables in three categories namely
Overexploited, Critical, Semi-critical, to effectively regulate groundwater extraction. These
include all the areas with an extraction rate of 70-100% of the groundwater recharge. Two
hundred and fifty-six of our approximately 700 districts have groundwater levels which are
“critical” or “over-exploited” as per the latest data from the Central Ground Water Board
(2017). This amounts to approximately 36% of India’s Districts.

Statement 2 is correct: Central Ground Water Authority (CGWA) was constituted for the
purposes of regulation and control of ground water development and management in the
country, under sub-section (3) of Section 3 of the Environment (Protection) Act, 1986.

Statement 3 is correct: At 39 million hectares (67% of its total irrigation), India has the
world's largest groundwater well equipped irrigation system. India, Pakistan, and
Bangladesh are, respectively, the first, fourth and sixth largest users of groundwater globally.
India pumps more than the US and China combined - the second and third-largest users,
respectively.

Q12 fArrfaf@a 4l ) R Hifew:

1. HET qfA T AIfUHOT (CGWA) & #RA & 36 fded et & ifa-anfia
(overexplmted)ZIT "W‘USF" (critical) a?ﬁaw—crﬁmgm%l

2. CGWAwﬁﬂﬁwwﬁaTW(WaﬂW)mﬁmangm%l

3. Forea 3 serer TS & fcvefey o) 31fyer & TR &

3Uded FUAT 7 T IeT-T1/8 TE 8/82

(a) dael 1

(b) haer 2 31X 3

(c) hael 2

(d)Fhaer 1313



34X (b)

YT 1 HE FGI §: NGT (TSERT §Rl TITEIhI0T) oh [AERT T UTeled Shc 8T, ohg; o $aTol
Foyeprel b1 3Ty GoT & R St & fore a¥at &) et ATt & Ryenfora e e, S
foh 3TN, HepeqoT, IET-TehequT | SoTaT ${sTer JoA3RUT o 70-100% I folehreil e arel
Tt &1 enfArel 81 §AR oare1aT 700 foTeil # @ &F |l SodeT & #7aTel TR & Sl hal g 3Tel
d1S (2017) & AdIITH 3MTehsT & HTHR "HehequT" AT "IT-2NTIT" &1 g 3Rl o TSTell &1
STITHIT 36% &

HYUT 2 HET & AT HTel WTAHIUT (CGWA) T ITS+T TATIR0T (FIETOT) JTTRTHIH, 1986
URT 3 T 3Y-URT (3) F dgd & 7 T [y 3R geee & s iR o &
3¢ 2T A o I 2|

YT 3 TEY & 39 TATIRI geFeaR (ST el TS T 67%) W, R H favg T qo
e sfeTer 3R fear gatoord fAwrs gorel &1 $Ra, ifeedrer AT Sivareer sHaer:
faea TR 9X 87aTer & g, Y 3R B Fa8 99 3TAIThdl ¢ | HRA TgercT Tod AR
3R =T T ToleT TR G T & - HoAr: GERT 3N ET T TST ST b1 |

Question Type: Conceptual

Difficulty Level: Moderate

Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current Affairs

Concept:Weathering

Sub-concept: Cyclones

Q13. Consider the following statements:
1. Jet streams occur in the Northern Hemisphere only.
2. Only some cyclones develop an eye.
3. The temperature inside the eye of a cyclone is nearly 10°C lesser than that of the
surroundings.
Which of the statements given above is/are correct?
(a) 1only
(b) 2and3only
(c) 2only
(d) 1and3only

Answer: (c)

Statement 1 is not correct: Jet streams occur both in the Northern Hemisphere as well as in
the Southern Hemisphere. The actual appearance of jet streams results from the complex



interaction between many variables - such as the location of high- and low-pressure systems,
warm and cold air, and seasonal changes.

Statement 2 is correct: The hurricane's centre is a relatively calm and clear area of sinking
air and light winds that usually do not exceed 15 mph (24 km/h) and is typically 20-40 miles
(32-64 km) across. An eye will usually develop when the maximum sustained wind speeds go
above 74 mph (119 km/h) and is the calmest part of the storm. Hence, only some cyclones
develop an eye.

Statement 3 is not correct: The eye is the region of lowest surface pressure and warmest
temperatures. The eye temperature may be 10°C warmer or more at an altitude of 12 km
than the surrounding environment, but only 0-2°C warmer at the surface in the tropical
cyclone.

Q13. AF@d 2« ) foar fifa:

1. 3¢ YdTg shd ol 3 MeTT A g &

2. el HS shdld &1 thg, H dICTET Scdool HIA G |

3. TehdTd el ATATTET oh 3G T ATIHTT THYTH oh dTIHT & TIT879T 10°C HA T 6 |
U YA H F HlA-A1/A TENB/6?

(a) hael 1

(b) Faer 2 31X 3

(c) hael 2

(d) Faer 131X 3

3dY: (c)

$UAT 1 GeT Ao §: Sic TdTg 3L ey & Tr-aTYy g reyofly Mered 7 off g1 &1 Sie yamey &1
JEdTdeh TIFT s TR & o Sifeer 37d:forar & aRuTHATaRT giar g - i 3= 3R Aot
EETd YUTITIAT ahT TAT, 313 31X 331 gaT, 3R #iga aRadsT |

hU 2 T &: Il T she;, gecll &aT HR Eoehl GaAT3IT T Y& T 3R TIsC &1 § S
3THAR 90X 15 #Hiel 9fa 8¢ (24 TR#AT / TeT) & 3778 181 81T & 3R MAIR T 20-40 FHiel
(32-64 TohaT) & IR BT 1 ATATTET ATHAAR WX I [dhiid aidl ¢ od 3 8ehdd @ax gar
<Y 9TTeY 74 Fel 9T € (119 TohaY / ©eT) § SR SATCH & 31 It T T it fe&ar giar
€1 ST, sharel e Tshdld &I TTC i Taeh&d el & |

YT 3 TEY AGI g ATATTET HallTeIeh o G Gad 3N Fallftreh amsd AT 1 &7 g
3TH-UTH & aTcATaROT hT Jefell 7 12 foreft & Fars ux areifar &1 argar 10 3 afcaaw
I 7 3170 BY HehdT &, AAfehel ISUTRfeat Tehard & Tdg W Fad 0-2 33t afcaad
TA G

Question Type: Conceptual
Difficulty Level: Moderate



Expected Time: 45-50 Sec

Date and Time of exam: 31 May 2020 9:30-11:30
Topic: Current Affairs

Concept:wildlife conservation

Sub-concept: critical tiger habitat

Q14. Among the following Tiger Reserves, which one has the largest area under “Critical
Tiger Habitat”?

(a) Corbett

(b) Ranthambore

(c) Nagarjunsagar-Srisailam
(d) Sunderbans

Answer: (c)

The Wildlife Protection Act (WLPA), 1972 identifies ‘Critical Tiger habitats’ (CTHs), also
known as core areas of tiger reserves. They are based on scientific evidence that "such areas
are required to be kept as inviolate for the purpose of tiger conservation, without affecting
the rights of the Scheduled Tribes or such other forest dwellers". The notification of CTH is
done by the state government in dialogue with the expert committee constituted for the
purpose.

Option (c) is correct: Nagarjunsagar-Srisailam Tiger Reserve is the largest tiger reserve in
India. The reserve spreads over five districts, Kurnool District, Prakasam District, Guntur
District, Nalgonda District and Mahbubnagar district. The total area of the tiger reserve is
3,728 km2 (1,439 sq mi).

Q14. Feafaf@a sta 3RET &= & §, "sifde a9 J1a1F (Critical Tiger Habitat)" &
3T T 937 817 fohaeh T 87

(a) Fisc

(b) TOTIHIT

(c) AFTMSAATIR-Aerer e
(d) Gexaret

3<Y: ()

gogoilg TeToT Afafager (WLPA), 1972 "sifde STE 3HTATH (Critical Tiger Habitat)dhT
qElel Xl &, T8 3TRIETT &¥at & 7Ty &t & & & 81 Si1eT STl § | I dafifeieh yaArott
TR MR § o O &¥ET T T STeTiaal AT O 3 derariaat & TRy



T fohT =T, STer ERETOT o 3EcRd & GRI&TAT T SiTeAT 3TaRTeh g | CTH hr 3TRIEr=ir
T TIHR GaRT gaﬁaazr%ﬁvmfaeﬁ?mﬁlﬁ%mﬁlmﬁﬁaﬁ%l

faere () TET 8: ARTSAARR-AATH STer HRTETT &1 R H FaIdY I97 918l 3R IaTT &7
%la‘efsﬁwf«ﬁ?rw%la’r Flelel ToTelT, Jehrerd foterr, e forell, aefelist forem 3R
mam%ﬁﬁﬁw»ngm%lammaaﬁwmmwsnsﬁwﬁz(1439a?‘r
?Fﬁ?rm




